SN\

MOTOR TECHNICS

BEDIENUNGSANLEITUNG

User manual | Instrukcja obstugi | Navod k pouziti | Manuel d’utilisation | Istruzioni per |‘'uso | Manual de instrucciones

OIL FREE COMPRESSOR

MSW-0AC550-8L
MSW-0AC750-8L
MSW-0AC550-24L
MSW-0AC750-24L

EXPONDO.COM




\WHN L)\

MSUY

MOTOR TEGHNICS

BEDIENUNGSANLEITUNG

DIE

INHALT | CONTENT | TRESC | OBSAH | CONTENU | CONTENUTO | CONTENIDO TECHNISCHE DATEN

Parameter

= Deutsch 3
=  English 9
= Polski 14
= Cesky 20

Produktname

Modell

Nennspannung [V~]/
Frequenz [Hz]
Nennleistung [W]

"  Frangais 25

Kolbenanzahl

= Italiano 31 Fassungsvermdgen des

N Behalters [L]
=  Espafiol 37

Fullzeit

Drehzahl (ohne Last)
[Umdrehungen/min]

Effizienz [I/min]
Hochstdruck [bar]

Schalldruckpegel LpA
[dB(A)]

Schallleistungspegel

LwA [dB(A)]
OLFREIER KOMPRESSOR
OIL FREE COMPRESSOR
KOMPRESOR BEZOLEJOWY
BEZOLEJOVY KOMPRESOR
COMPRESSEUR SANS HUILE
COMPRESSORE SENZA OLIO

PRODUKTNAME
PRODUCT NAME
NAZWA PRODUKTU
NAZEV VYROBKU
NOM DU PRODUIT
NOME DEL PRODOTTO

Maximale
Betriebstemperatur [°C]

Minimale
Betriebstemperatur [°C]

Abmessungen [mm]

Gewicht [kg]
NOMBRE DEL PRODUCTO COMPRESOR SIN ACEITE
MODELL Produktname
PRODUCT MODEL Modell

MSW-0AC550-8L
MSW-0AC750-8L

MODEL PRODUKTU

LARDIESAT BT MSW-0AC550-24L Nennspannung [V~]/
MODELE MSW-0AC750-24L Frequenz [Hz]
leEll© Nennleistung [W]
MODELO

Kolbenanzahl
HERSTELLER
A TUEAETURER Fassungsvermogen des

Behalters [L]
PRODUCENT
VYROBCE EXPONDO POLSKA SP. Z 0.0. SP. K. Fllzeit
FABRICANT Drehzahl (ohne Last)
PRODUTTORE [Umdrehungen/min]
FABRICANTE Effizienz [I/min]
ANSCHRIFT DES HERSTELLERS Noenearedioan
MANUFACTURER ADDRESS

Schalldruckpegel L,
ADRES PRODUCENTA [dB(A)] g
ADRESA VYROBCE UL. NOWY KISIELIN — INNOWACYJNA 7, 66-002 ZIELONA GORA | POLAND, EU

Schallleistungspegel

ADRESSE DU FABRICANT L [dB(A)]

INDIRIZZO DEL PRODUTTORE
DIRECCION DEL FABRICANTE

Maximale
Betriebstemperatur [°C]

Werte

Olfrei Kompressor

MSW- MSW-
0AC550-8L 0AC750-8L
230/50
550 750
2
8
Tmin 20sec Tmin 5sec
1.450
104 126
8
76,2
78
+40
-10

500x190x470  495x190x510
16,4 18,5

Olfrei Kompressor

MSW- MSW-
0AC550-24L  0AC750-24L
230/50
550 750
2
24
2min 30 sec 2min 35sec
1.450
104 126
8
76,2
78
+40

Minimale -10
Betriebstemperatur [°C]

Abmessungen [mm] 575x305x535 580x305x558

Gewicht [kg] 20,8 22,5

1. ALLGEMEINE BESCHREIBUNG

Diese Anleitung ist als Hilfe bei der sicheren und zuverldssigen
Nutzung gedacht. Das Produkt wurde strikt nach den
technischen Vorgaben und unter Verwendung modernster
Technologien und Komponenten sowie unter Wahrung der
hochsten Qualitatsstandards entworfen und angefertigt.

VOR INBETRIEBNAHME MUSS DIE ANLEITUNG
GENAU DURCHGELESEN
UND VERSTANDEN WERDEN.

Fir einen langen und zuverldssigen Betrieb des Gerats muss
auf die richtige Handhabung und Wartung entsprechend
den in dieser Anleitung angefiihrten Vorgaben geachtet
werden. Die in dieser Anleitung angegebenen technischen
Daten und die Spezifikation sind aktuell. Der Hersteller
behalt sich das Recht vor, im Rahmen der Verbesserung der
Qualitat Anderungen vorzunehmen. Unter Beriicksichtigung
des technischen Fortschritts und der Gerduschreduzierung
wurde das Gerdt so entworfen und produziert, dass das
infolge der Gerauschemission entstehende Risiko auf dem
niedrigsten Niveau gehalten wird.

ERLAUTERUNG DER SYMBOLE

g3

Das Produkt erfiillt die geltenden
Sicherheitsnormen.

®

Gebrauchsanweisung beachten.
Recyclingprodukt.

ACHTUNG!, WARNUNG! oder HINWEIS!, um auf
bestimmte Umstande aufmerksam zu machen
(allgemeines Warnzeichen).

Gehorschutz benutzen.

©

Augenschutz benutzen.

ACHTUNG! Warnung vor elektrischer Spannung!

;¢
A\
®
YN
>

ACHTUNG! HeiBe Flache. Verbrennungsgefahr!

VORSICHT! Das Gerat kann sich ohne
Vorwarnung einschalten.

Schalten Sie die Druckluftversorgung nicht vor
dem Anschluss des Druckluftwerkzeugs ein.

@ P

HINWEIS! In der vorliegenden Anleitung sind
A Beispielbilder vorhanden, die von dem tatsachlichen
Aussehen der Maschine abweichen kénnen.

Die originale Anweisung ist die deutschsprachige Fassung.
Sonstige Sprachfassungen sind Ubersetzungen aus der

deutschen Sprache.

2. NUTZUNGSSICHERHEIT
ACHTUNG! Lesen Sie alle Sicherheitshinweise und
alle Anweisungen durch. Die Nichtbeachtung der
Warnungen und Anweisungen kann zu elektrischen
Schldgen, Feuer und/oder schweren Verletzungen bis
hin zum Tod fihren.

Rev. 27.01.2022 Rev. 27.01.2022



DIE

DIE

Die Begriffe "Gerat" oder "Produkt" in den Warnungen
und Beschreibung des Handbuchs beziehen sich auf
<Gerdtename>. Benutzen Sie das Gerédt nicht in Rdumen
mit sehr hoher Luftfeuchtigkeit oder in unmittelbarer Néhe
von Wasserbehéltern! Lassen Sie das Gerat nicht nass
werden. Gefahr eines elektrischen Schlags! Lufteingange
und Luftausgange nicht abdecken!

2.1 ELEKTRISCHE SICHERHEIT

a)

b)

o}

d)

e)

9)

h)

Der Geratestecker muss mit der Steckdose kompatibel
sein. Andern Sie den Stecker in keiner Weise.
Originalstecker und passende Steckdosen vermindern
das Risiko eines elektrischen Schlags.

Vermeiden Sie das Berllhren von geerdeten
Bauteilen wie Rohrleitungen, Heizkérpern, Ofen und
Kihlschranken. Es besteht das erhéhte Risiko eines
elektrischen Schlags, wenn lhr Kérper durch nasse
Oberflachen und in feuchter Umgebung geerdet ist.
Wasser, das in das Gerat eintritt, erhéht das Risiko von
Beschadigungen und elektrischen Schlagen.

Beriihren Sie das Gerat nicht mit nassen oder feuchten
Handen.

Verwenden Sie das Kabel nicht in unsachgeméaBer
Weise. Verwenden Sie es niemals zum Tragen
des Gerdts oder zum Herausziehen des Steckers.
Halten Sie das Kabel von Hitze, Ol, scharfen Kanten
oder beweglichen Teilen fern. Beschadigte oder
geschweifite Kabel erhohen das Risiko eines
elektrischen Schlags.

Verwenden Sie bei Arbeiten im Freien ein
Verlangerungskabel fir den AuBenbereich. Die
Verwendung eines Verlangerungskabels fiir den
AuBeneinsatz verringert das Risiko eines elektrischen
Schlags.

Wenn sich die Verwendung des Gerits in feuchter
Umgebung nicht verhindern lasst, verwenden Sie
einen Fehlerstromschutzschalter (RCD). Mit einem
RCD verringert sich das Risiko eines elektrischen
Schlags.

Es ist verboten, das Gerat zu verwenden, wenn
das Netzkabel beschadigt ist oder offensichtliche
Gebrauchsspuren  aufweist.  Ein  beschadigtes
Netzkabel sollte von einem qualifizierten Elektriker
oder vom Kundendienst des Herstellers ersetzt
werden.

Tauchen Sie Kabel, Stecker bzw. das Gerat nicht
in Wasser oder andere Flissigkeiten, um einen
Stromschlag zu vermeiden. Verwenden Sie das Gerat
nicht auf nassen Oberflachen.

2.2. SICHERHEIT AM ARBEITSPLATZ

a)

b)

o}

d)

Halten Sie lhren Arbeitsplatz sauber und gut
beleuchtet. Unordnung oder schlechte Beleuchtung
kann zu Unfallen fuhren. Handeln Sie vorausschauend,
beobachten Sie, was getan wird, und nutzen Sie lhren
gesunden Menschenverstand bei der Verwendung
des Gerates.

Benutzen Sie das Gerat nicht in explosionsgefahrdeten
Bereichen, zum Beispiel in Gegenwart von brennbaren
Fliissigkeiten, Gasen oder Staub. Geréte konnen unter
Umstanden Funken erzeugen, welche Staub oder
Déampfe entziinden kénnen.

Im Falle eines Schadens oder einer Stérung sollte das
Gerat sofort ausgeschaltet und dies einer autorisierten
Person gemeldet werden.

Wenn Sie nicht sicher sind, ob das Gerédt
ordnungsgemaR funktioniert, wenden Sie sich an den
Service des Herstellers.

e)

9)
h)

m)

n)
0)
p)

)

)

AN

Reparaturen diirfen nur vom Service des Herstellers
durchgefiihrt werden. Fiihren Sie keine Reparaturen
auf eigene Faust durch!

Zum Loschen des Gerates bei Brand oder Feuer, nur
Pulverfeuerldscher oder Kohlendioxidléscher (CO,)
verwenden.

Halten Sie Kinder und Unbefugte fern; Unachtsamkeit
kann zum Verlust der Kontrolle iber das Gerét fiihren.
Verwenden Sie das Gerat in einem gut belifteten
Bereich.

AnschlieBen und Trennen der Druckleitung sollten bei
geschlossenem Luftventil erfolgen.

Richten Sie die Druckleitung nicht auf sich selbst, auf
andere Personen oder Tiere.

Unterbrechen Sie die Druckluftversorgung nicht durch
Quetschen oder Biegen der Leitungen.

Uberpriifen Sie regelméBig den Zustand der
Sicherheitsinformationsaufkleber. Falls die Aufkleber
unleserlich sind, sollten diese erneuert werden.
Bewahren Sie die Gebrauchsanleitung fiir den
weiteren Gebrauch auf. Sollte das Gerat an Dritte
weitergegeben werden, muss die Gebrauchsanleitung
mit ausgehandigt werden.

Verpackungselemente und kleine  Montageteile
auBerhalb der Reichweite von Kindern aufbewahren.
Halten Sie das Gerat von Kindern und Tieren fern.

Im Laufe der Nutzung dieses Werkzeugs einschlieflich
anderer Werkzeuge soll man sich nach (brigen
Betriebsanweisungen richten.

Achten Sie auf eine ausreichende Bellftung
im Arbeitsbereich des Gerdtes. Die vom Gerét
verarbeiteten Gase konnen Atemluft verdrangen.

Im Arbeitsbereich des Gerétes besteht die Gefahr des
Einatmens von schadlichen Gasen oder Dampfen.

HINWEIS! Kinder und Unbeteiligte missen bei der

Arbeit mit diesem Gerét gesichert werden.

2.3. PERSONLICHE SICHERHEIT

a)

o]

€)

9)
h)

Es ist nicht gestattet, das Gerdt im Zustand der
Ermldung, Krankheit, unter Einfluss von Alkohol,
Drogen oder Medikamenten zu betreiben, wenn das
die Fahigkeit das Gerét zu bedienen, einschrankt.

Die Maschine darf nicht von Kindern oder Personen
mit eingeschrankten physischen, sensorischen und
geistigen Féahigkeiten oder ohne entsprechende
Erfahrung und entsprechendes Wissen bedient
werden. Dies ist nur unter Aufsicht einer fir die
Sicherheit zustdndigen Person und nach einer
Einweisung in die Bedienung der Maschine gestattet.
Seien Sie aufmerksam und verwenden Sie lhren
gesunden Menschenverstand beim Betreiben des
Gerates. Ein Moment der Unaufmerksamkeit wahrend
der Arbeit kann zu schweren Verletzungen fiihren.
Benutzen Sie eine personliche Schutzausriistung,
die den in Punkt 1 der Symbolerlduterungen
vorgegebenen MaBgaben entspricht. Die Verwendung
einer geeigneten und zertifizierten Schutzausriistung
verringert das Verletzungsrisiko.

Vergewissern Sie sich vor dem AnschlieBen des Gerats
an eine Stromgquelle, dass der Schalter ausgeschaltet ist.
Uberschatzen Sie lhre Fihigkeiten nicht. Sorgen Sie
fur einen sicheren Stand wahrend der Arbeit. Dies gibt
lhnen eine bessere Kontrolle tiber das Gerat im Falle
unerwarteter Situationen.

Druckluft kann schwere Verletzungen verursachen.
Das Gerat ist kein Spielzeug. Kinder sollten in der Nahe des
Geréts unter Aufsicht stehen, um Unfalle zu vermeiden.

2.4. SICHERE ANWENDUNG DES GERATS

a)

b)

o]

d)

)

k)

m)

n)

0)

p)

o)
b}

s)

Uberhitzen Sie das Gerat nicht. Verwenden
Sie nur geeignete Werkzeuge fir die jeweilige
Anwendung. Richtig ausgewéhite Gerdte und der
sorgsame Umgang mit ihnen fiihren zu besseren
Arbeitsergebnissen.

Benutzen Sie das Geréat nicht, wenn der EIN-/AUS-
Schalter nicht ordnungsgemaB funktioniert. Gerate,
die nicht Gber den Schalter gesteuert werden kénnen,
sind geféhrlich und miissen repariert werden.
Trennen Sie das Gerat von der Stromversorgung,
bevor Sie mit der Einstellung, Reinigung und Wartung
beginnen. Eine solche vorbeugende MaBnahme
verringert das Risiko einer versehentlichen Aktivierung
des Gerats.

Nicht verwendete Werkzeuge sind auBerhalb
der Reichweite von Kindern sowie von Personen
aufzubewahren, welche weder das Gerat noch die
Anleitung kennen. In den Handen unerfahrener
Personen kénnen diese Gerate eine Gefahr darstellen.
Halten Sie das Gerét stets in einem einwandfreien
Zustand. Priifen Sie vor jeder Inbetriebnahme, ob
am Gerat und seinen beweglichen Teilen Schaden
vorliegen (defekte Komponenten oder andere
Faktoren, die den sicheren Betrieb der Maschine
beeintrachtigen kénnten). Im Falle eines Schadens
muss das Gerét vor Gebrauch in Reparatur gegeben
werden.

Halten Sie das Gerat auBerhalb der Reichweite von
Kindern.

Reparatur und Wartung von Gerdten durfen
nur von qualifiziertem Fachpersonal und mit
Originalersatzteilen durchgefiihrt werden. Nur so wird
die Sicherheit wahrend der Nutzung gewahrleistet.
Um die Funktionsfahigkeit des Gerdtes zu
gewahrleisten, durfen die werksmaBig montierten
Abdeckungen oder Schrauben nicht entfernt werden.
Beachten Sie bei Transport zwischen Lager und
Bestimmungsort und Handhabung des Gerates die
Grundsétze fir Gesundheits- und Arbeitsschutz des
Landes, in dem das Geréat verwendet wird. .
Vermeiden Sie Situationen, in denen das Gerat
bei laufendem Betrieb unter schwerer Last stoppt.
Dies kann zu Uberhitzung und damit zu einer
Beschédigung des Gerates fiihren.

Lassen Sie dieses Gerat wéahrend des Betriebs nicht
unbeaufsichtigt.

Das Gerat muss regelmaBig gereinigt werden, damit
sich nicht dauerhaft Schmutz festsetzt.

SchlieBen Sie in Bereichen, wo die Gefahr einer
mechanischen  Beschadigung hoch ist, einen
verstarkten Schlauch an die Druckluftanschliisse.

Das Gerat darf nicht an der Druckleitung getragen
oder aufgehangt werden.

Das Gerat ist kein Spielzeug. Reinigung und Wartung
dirfen nicht von Kindern ohne Aufsicht durch eine
erwachsene Person durchgefiihrt werden..

Esist untersagt, in den Aufbau des Gerats einzugreifen,
um seine Parameter oder Konstruktion zu dndern.
Gerate von Feuer — und Warmequellen fernhalten.
Befolgen Sie die ortlichen Arbeitsschutz- und
Arbeitshygienevorschriften.

Stellen Sie sich nicht auf das Gerat und verwenden Sie
es nicht als Stiitze.

Uberpriifen Sie das Druckluftsystem und die
elektrischnen Teile vor jedem Gebrauch auf
Beschadigungen oder Undichtigkeiten. Reparieren

u)

V)

X)

y)

z)

aa)

bb)

cc)

dd)

ee)

99)

hh)

ii)

Ji)l
kk)

oder ersetzen Sie defekte Teile, bevor Sie mit der
Arbeit am Gerat beginnen.

Defekte Teile mussen repariert oder ausgetauscht
werden, bevor mit dem Gerat gearbeitet wird.

Teile des Gerates kénnen nach dem Ausschalten noch
einige Zeit heif bleiben.

Halten Sie Ihre Finger wéhrend des Betriebs von dem
Gerat fern, sich schnell bewegende und heiBe Teile
koénnen Verletzungen und / oder Verbrennungen
verursachen.

Wenn das Gerat alarmierend zu vibrieren beginnt,
stellen Sie den Motor ab und tberpriifen Sie sofort die
Ursache. Vibrationen sind in der Regel ein Fehlersignal.
Um die Brandgefahr zu verringern, schiitzen Sie das
Motor-/Motorgehduse vor Ol, Lésungsmittel oder
UberméaBiger Schmierung.

Entfernen oder versuchen Sie niemals, das
Sicherheitsventil zu verstellen. Schiitzen Sie das
Sicherheitsventil vor Farbe und Ablagerungen.
Versuchen Sie niemals, den Behélter zu reparieren
oder zu modifizieren! Schweien, Bohren oder jede
andere Modifikation schwécht den Behalter und kann
zu Schaden durch Risse oder Explosionen fiihren. Es ist
zwingend erforderlich, verschlissene oder beschadigte
Behalter zu ersetzen.

Lassen Sie die Flussigkeit nach jedem Gebrauch
aus dem Behalter ab. Die Behalter rosten aufgrund
von Feuchtigkeitsansammlungen, was zu deren
Schwachung fiihrt. Entleeren Sie den Behélter
regelmaBig und Uberpriifen Sie ihn regelmaBig auf
Korrosion.

Das Bewegen der Luft unter Druck kann dazu fiihren,
dass Staub und Schmutz aufsteigen, was schadlich
sein kann. Entfernen Sie die Luft langsam, wenn Sie
Feuchtigkeit ableiten oder das Kompressorsystem
dekomprimieren.

Sprithen Sie keine brennbaren Materialien in die
Nahe von offenen Flammen, Funken oder gliihenden
Gegenstanden.

Rauchen Sie nicht, wenn Sie Farbe, Insektizide oder
andere brennbare Stoffe sprihen.

Beim Spriihen eine Maske verwenden und fiir eine
ausreichende Belliftung des Arbeitsplatzes sorgen, um
Gesundheits- und Brandgefahren zu vermeiden.
Richten Sie keine Farbe oder andere verspriihte
Materialien auf das Gerét. Stellen Sie das Gerat so weit
wie maéglich vom Spriihbereich entfernt auf.

Beim Spriihen oder Reinigen mit Losungsmitteln
oder giftigen Chemikalien sind die Anweisungen des
Chemikalienherstellers zu beachten.

Um die Gefahr schwerer Verbrennungen zu
vermeiden, beriihren Sie niemals das Kompressorrohr.
Das Kompressorrohr wird wahrend des Betriebs sehr
heiB.

Die zur Verbindung mit dem Gerat verwendeten
Schlauche sollten verstérkt werden.

Verwenden Sie nur Schlduche und Anschlisse, die
dem vom Gerét erzeugten Maximaldruck standhalten.

ACHTUNG! Obwohl das Gerat in Hinblick
auf  Sicherheit entworfen wurde und Uber

Schutzmechanismen sowie zusatzlicher
Sicherheitselemente verfligt, besteht bei
der Bedienung eine geringe Unfall- oder

Verletzungsgefahr. Es wird empfohlen, bei der
Nutzung Vorsicht und Vernunft walten zu lassen.

____________________________________________________________________________________________________________________________________________|
Rev. 27.01.2022

Rev. 27.01.2022

5



DIE

3. NUTZUNGSBEDINGUNGEN

Der olfreie Kompressor dient zur Versorgung anderer
pneumatischer Gerate und Werkzeuge mit Olfreier
Druckluft. Die Druckluft dieses Geréts enthalt Feuchtigkeit.
Wenn trockene Luft benétigt wird, installieren Sie einen
Wasserfilter oder Lufttrockner. Dieses Gerat darf nicht
ohne angemessene Zusatzausrlstung zur Versorgung mit
Atemluft fir Lebewesen verwendet werden.

Fiir alle Schdaden bei nicht sachgeméaBer Verwendung
haftet allein der Betreiber.

3.1. GERATEBESCHREIBUNG

MSW-0AC550-8L
MSW-0AC750-8L

MSW-0AC550-24L
MSW-0AC750-24L

Lufteinlass

Kompressorrohr
Griff

ON/OFF-Taste
Behalterdruckanzeige
Sicherheitsventil
Ruickschlagventil
Feuchtigkeitsablassventil
Behalter

10.  Regler

11, Luftauslass

12.  Ausgangsdruckanzeige

OONOUTA WN =

3.2. VORBEREITUNG ZUR VERWENDUNG

ARBEITSPLATZ DES GERATES:

Die Umgebungstemperatur darf 38° C nicht tberschreiten.
Das Gerétsollte nichtbei Temperaturenvon 0° Coder darunter
verwendet werden, da die im Behalter angesammelte
Feuchtigkeit gefrieren und das Eis die Ventile blockieren und
beschadigen kann. Stellen Sie das Geréat so auf, dass eine
gute Luftzirkulation gewahrleistet ist. Es ist auf allen Seiten
ein Abstand von mindestens 45 cm einzuhalten. Halten Sie
das Gerat von heiBen Flachen fern. Das Gerét sollte immer auf
einer ebenen, stabilen, sauberen, feuerfesten und trockenen
Oberflache und auBerhalb der Reichweite von Kindern und
Personen mit eingeschrankten geistigen, sensorischen und
psychischen Fahigkeiten verwendet werden. Stellen Sie
sicher, dass der Netzstecker jederzeit zuganglich und nicht
verdeckt ist. Achten Sie darauf, dass die Stromversorgung
des Gerates den Angaben auf dem Produktschild entspricht.
Die Steckdose, an die das Gerat angeschlossen werden soll,
muss geerdet und voll funktionsfahig sein. Verwenden Sie
mit diesem Gerat keine Steckdosenadapter! Die elektrische
Installation, an die das Gerat angeschlossen ist, muss mit
einer Verzégerungssicherung oder einem Schutzschalter
ausgestattet sein.

ACHTUNG: Verwenden Sie niemals ein Verlangerungskabel
mit diesem Produkt. Verwenden Sie anstelle eines
Verlangerungskabels einen  zusatzlichen  Luftschlauch,
um Leistungsverluste und dauerhafte Motorschaden zu
vermeiden.

ACHTUNG: Stellen Sie den Kompressor-Lufteinlass nicht
in der Nahe von Dampf, Farbspritzern, sandgestrahlten
Bereichen oder anderen Verunreinigungsquellen auf. Diese
Verunreinigungen beschadigen den Motor oder verstopfen
den Filter.

Transport zum Einsatzort

Verwenden Sie beim Transport des Gerates zum Einsatzort
den Griff zum Tragen des Gerétes.

ACHTUNG: Verwenden Sie bei Modellen mit Radern niemals
den Griff, um das Gerat vollstandig vom Boden zu heben.

3.3. ARBEIT MIT DEM GERAT

Druckschalter - ON/OFF - In der ON-Position schaltet sich
der Kompressor automatisch ab, wenn der Behélterdruck
den maximalen Solldruck erreicht. In der OFF-Position
arbeitet der Kompressor nicht. Dieser Schalter sollte sich
in der OFF-Position befinden, wenn das Netzkabel an die
Steckdose angeschlossen oder abgezogen wird oder wenn
pneumatische Werkzeuge / Gerate ausgetauscht werden, die
an den Kompressor angeschlossen sind.

STARTVERFAHREN (gilt fur die Modelle MSW-0AC550-24L,
MSW-0AC750-24L)

VORSICHT! Befestigen Sie keine Druckluftwerkzeuge
am Luftauslass des Gerats, bis die Inbetriebnahme
ordnungsgemal abgeschlossen ist.

1. Drehen Sie den Regler ganz nach rechts, um den

Luftstrom zu 6ffnen.
2. Stellen Sie den Schalter auf OFF und schlieBen Sie das

Netzkabel an.
ON

ofF [0}

3. Stellen Sie den Schalter auf ON und schalten Sie das
Gerat fur 30 Minuten ein, um sicherzustellen, dass die
Teile sich einlaufen.

4. Drehen Sie den Regler vollstindig gegen den
Uhrzeigersinn. Das Gerat flllt sich bis zum maximalen
Druck und schaltet sich dann aus.

5. Drehen Sie den Regler im Uhrzeigersinn, um Luft zu
entfernen. Das Gerét startet mit dem eingestellten
Druck neu.

6. Drehen Sie den Regler gegen den Uhrzeigersinn,
um die Luftzufuhr abzuschalten, und stellen Sie den
Schalter auf OFF.

7. Befestigen Sie das Druckluftwerkzeug am Auslass.
Drehen Sie den Regler im Uhrzeigersinn. Stellen Sie
den Geréteschalter auf ON, um Luft in den Behélter
zu pumpen. Das Gerat schaltet sich automatisch aus,
wenn es den maximalen Solldruck erreicht.
ACHTUNG: Vergewissern Sie sich, dass sich der
Schalter in der Position OFF befindet, wenn Sie das
Netzkabel an die Steckdose anschlieBen oder vom
Stromnetz trennen.

STARTVERFAHREN (gilt fiir die Modelle MSW-0AC550-8L,
MSW-0AC750-8L)

VORSICHT! Befestigen Sie keine Druckluftwerkzeuge
am Luftauslass des Gerats, bis die Inbetriebnahme
ordnungsgemaB abgeschlossen ist.

1. Stellen Sie den Schalter auf OFF und schlieBen Sie das

Netzkabel an.
ON

o 7

2. Stellen Sie den Schalter auf ON und schalten Sie das
Gerat fur 30 Minuten ein, um sicherzustellen, dass die
Teile sich einlaufen.

3. Stellen Sie den Schalter auf OFF und verbinden Sie das
Druckluftwerkzeug mit dem Auslass.

4. Stellen Sie den Gerateschalter auf ON, um Luft in den
Behélter zu pumpen.
ACHTUNG: Vergewissern Sie sich, dass sich der
Schalter in der Position OFF befindet, wenn Sie das
Netzkabel an die Steckdose anschlieBen oder vom
Stromnetz trennen.

FEUCHTIGKEIT IN DER DRUCKLUFT

Die Feuchtigkeit in der Druckluft kondensiert. Bei hoher
Luftfeuchtigkeit oder bei langerem Betrieb des Gerates
sammelt sich diese Feuchtigkeit im Behalter an. Bei
Verwendung einer Farbspritzpistole oder Sandstrahlpistole
wird Wasser durch den Schlauch und die Pistole in Form von
Tropfchen, die mit dem Spritzmaterial vermischt sind, aus
dem Tank befordert.

Dies flihrt beim Streichen zu Wasserflecken, insbesondere
beim Sprithen von Nichtwasserfarben. Beim Sandstrahlen
fiihrt dies zu Sandansammlungen und Verstopfungen der
Pistole. Ein Filter in der Luftleitung, der sich so nahe wie
moglich an der Pistole befindet, hilft, diese Feuchtigkeit zu
beseitigen.

SICHERHEITSVENTIL

Das Sicherheitsventil gibt automatisch Luft ab, wenn der
Druck im Behélter das eingestellte Maximum Uberschreitet.
WARNUNG! Das Sicherheitsventil nicht entfernen oder
versuchen, es umzustellen!

REGLER (nur Modelle MSW-0AC550-24L, MSW-0AC750-24L)

Der Regler steuert den Druck der dem pneumatischen

Ausgangswerkzeug zugefiihrten Luft.

. Um den Luftdruck am Auslass zu erhohen, drehen Sie
ihn im Uhrzeigersinn. Wenn der gewlinschte Druck
erreicht ist, mit Muttern sichern.

. Um den Luftdruck am Auslass zu senken, drehen Sie
ihn gegen den Uhrzeigersinn.

. Um den Luftstrom vollstdndig zu unterbrechen,
drehen Sie ihn ganz nach links und driicken Sie dann
den Regler.

Zrrd

-
BEHALTERDRUCKANZEIGE

Die Anzeige zeigt den Druck im Behélter an und zeigt an, ob
das Gerat den Druck korrekt erzeugt.

THERMISCHER UBERLASTSCHUTZ

VORSICHT! Der Kompressor ist mit einem automatischen
thermischen Uberlastschutz ausgestattet, der den Motor bei
Uberhitzung abschaltet.

Wenn der thermische Uberlastschutz den Motor héaufig
abschaltet, suchen Sie nach den folgenden Griinden:

1. Niederspannung

2. Verstopfter Luftfilter

3. Mangelnde Beliiftung

VORSICHT! Wenn der thermische Uberlastschutz ausgelést
wird, muss der Motor abkiihlen, bevor er gestartet werden
kann. Der Motor startet automatisch und ohne Vorwarnung
neu, wenn das Gerat eingeschaltet und an eine Steckdose
angeschlossen bleibt.

3.4. REINIGUNG UND WARTUNG

VORSICHT! Trennen Sie das Gerat von der Stromversorgung,

lassen Sie dann den Druck vom System ab und lassen Sie das

Gerat abkihlen, bevor Sie eine Reinigung, Reparatur, einen

Transport oder eine Wartung durchfiihren.

a)  Verwenden Sie zur Reinigung der Oberflache
ausschlieBlich Mittel ohne dtzende Inhaltsstoffe.

b) Lassen Sie nach jeder Reinigung alle Teile gut
trocknen, bevor das Gerat erneut verwendet wird.

Q) Es ist verboten, das Gerat mit einem Wasserstrahl zu
bespriihen oder in Wasser zu tauchen.

d) Es darf kein Wasser Uber die Beluftungsoffnungen am
Gehéuse ins Innere des Gerats gelangen.

e) Die Belliftungsoffnungen sind mit Pinsel und Druckluft
zu reinigen.

f) In  Hinblick auf technische Effizienz und zur
Vorbeugung vor Schéden sollte das Gerét regelmaBig
Uberprift werden.

9) Benutzen Sie einen weichen Lappen zur Reinigung.

Rev. 27.01.2022

Rev. 27.01.2022



DIE

USER MANUAL

EIN]

INSTANDHALTUNG

Einmal pro Woche:

1. Entfernen Sie die Feuchtigkeit aus dem Behilter,
indem Sie das Ablassventil unter dem Behélter 6ffnen.
Andernfalls kann der Behalter korrodieren.

2. Entfernen  Sie  Staub  und  Schmutz  von
Motor,  Behélter, ~ Pneumatikschlduchen  und
Warmetlbertragungsrippen.

SCHMIERUNG

Olfreie Kompressoren bendtigen keine Schmierung.

LAGERUNG

1. Entleeren Sie den Feuchtigkeitsbehélter vor der
Lagerung.

2. Trennen Sie den Schlauch und héngen Sie die offenen

Enden nach unten, damit Feuchtigkeit aus ihm
austreten kann.

3. Bewahren Sie das Gerat an einem trockenen, kihlen,
vor Feuchtigkeit und direkter Sonneneinstrahlung
geschitztem Ort auf.

Wenn Sie nicht vermeiden kénnen, das Gerdt bei einer

Temperatur von 0 ° C oder darunter zu lagern, stellen Sie

sicher, dass das Gerét frei von Feuchtigkeit ist und all seine

Teile trocken sind.

TECHNICAL DATA

Parameter description
Product name

Model

Rated voltage [V~1/
Frequency [HZ]

Rated power [W]
Number of pistons
Tank capacity [I]

Filling time

Rotational speed [rpm]
Efficiency [I/min]

Maximum pressure
[bar]

Acoustic pressure level
L., [dB(A)]

Sound power level L,
[dB(A)]

Maximum working
temperature [°C]

Minimum working
temperature [°C]

Dimensions [mm]
Weight [kg]
Product name

Model

Rated voltage [V~1/
Frequency [Hz]

Rated power [W]
Number of pistons
Tank capacity [I]

Filling time

Rotational speed [rpm]
Efficiency [I/min]

Maximum pressure
[bar]

Acoustic pressure level
L., [dB(A)]

Sound power level L,
[dB(A)]

Maximum working
temperature [°C]

Minimum working
temperature [°C]

Parameter value

Oil free compressor

MSW- MSW-
0AC550-8L 0AC750-8L
230/50
550 750
2
8
1min 20sec Tmin 5sec
1,450
104 126
8
76.2
78
+40
-10

500x190x470  495x190x510
16.4 18.5

QOil free compressor

MSW- MSW-
0AC550-24L  0AC750-24L
230/50
550 750
2
24

2min 30 sec 2min 35sec
1,450
104 126

76.2

78

+40

-10

Dimensions [mm)] 575x305x535  580x305x558
Weight [kg] 20.8 225

1. GENERAL DESCRIPTION

The user manual is designed to assist in the safe and
trouble-free use of the device. The product is designed
and manufactured in accordance with strict technical
guidelines, using state-of-the-art technologies and
components. Additionally, it is produced in compliance
with the most stringent quality standards.

DO NOT USE THE DEVICE UNLESS YOU HAVE
THOROUGHLY READ AND UNDERSTOOD THIS
USER MANUAL.

To increase the product life of the device and to ensure
trouble-free operation, use it in accordance with this user
manual and regularly perform maintenance tasks. The
technical data and specifications in this user manual are
up to date. The manufacturer reserves the right to make
changes associated with quality improvement. The device
is designed to reduce noise emission risks to a minimum,
taking into account technological progress and noise
reduction opportunities.

LEGEND

C € The product satisfies the relevant safety
standards.

Read instructions before use.
The product must be recycled.

WARNING! or CAUTION! or REMEMBER!
Applicable to the given situation (general
warning sign).

Use ear protection. Exposure to loud noise may
result in hearing loss.

Wear protective goggles.

ATTENTION! Electric shock warning!

O @® pB=®

ATTENTION! Hot surface, risk of burns!

i,
ATTENTION! The machine may turn on without
warning.

Do not switch on the compressed air supply
before connecting the pneumatic tool.

@ b

PLEASE NOTE! Drawings in this manual are for
illustration purposes only and in some details may
differ from the actual machine.
The original operation manual is in German. Other
language versions are translations from German.

2. USAGE SAFETY
ATTENTION! Read all safety warnings and all
instructions. Failure to follow the warnings and
instructions may result in an electric shock, fire and/
or serious injury or even death.
The terms "device" or "product" are used in the warnings
and instructions to refer to < Oil free compressor >. Do not
use in very humid environments or in the direct vicinity of
water tanks. Prevent the device from getting wet. Risk of
electric shock! Do not cover air inlets / outlets!

Rev. 27.01.2022

Rev. 27.01.2022

9



EIN]

EIN]

2.1. ELECTRICAL SAFETY

a)

b)

o}
d)

e)

9)

h)

The plug must fit the socket. Do not modify the plug
in any way. Using original plugs and matching sockets
reduces the risk of electric shock.

Avoid touching earthed elements such as pipes,
heaters, boilers and refrigerators. There is an increased
risk of electric shock if the earthed device is exposed
to rain, comes into direct contact with a wet surface or
is operating in a damp environment. Water getting
into the device increases the risk of damage to the
device and of electric shock.

Do not touch the device with wet or damp hands.
Use the cable only for its designated use. Never use it
to carry the device or to pull the plug out of a socket.
Keep the cable away from heat sources, oil, sharp
edges or moving parts. Damaged or tangled cables
increase the risk of electric shock.

If working with the device outdoors, make sure to use
an extension cord suitable for outdoor use. Using an
extension cord suitable for outdoor use reduces the
risk of electric shock.

If using the device in a damp environment cannot be
avoided, a residual current device (RCD) should be
applied. The use of an RCD reduces the risk of electric
shock.

Do not use the device if the power cord is damaged
or shows obvious signs of wear. A damaged power
cord should be replaced by a qualified electrician or
the manufacturer's service centre.

To avoid electric shock, do not immerse the cord, plug
or device in water or other liquids. Do not use the
device on wet surfaces.

2.2. SAFETY IN THE WORKPLACE

a)

b)

d)

e)

10

Make sure the workplace is clean and well lit. A messy
or poorly lit workplace may lead to accidents. Try
to think ahead, observe what is going on and use
common sense when working with the device.

Do not use the device in a potentially explosive
environment, for example in the presence of
flammable liquids, gases or dust. The device generates
sparks which may ignite dust or fumes.

If you discover damage or irregular operation,
immediately switch the device off and report it to
a supervisor without delay.

If there are any doubts as to the correct operation of
the device, contact the manufacturer's support service.
Only the manufacturer's service point may repair the
device. Do not attempt any repairs independently!

In case of fire, use a powder or carbon dioxide
(CO,) fire extinguisher (one intended for use on live
electrical devices) to put it out.

Children or unauthorised persons are forbidden to
enter a work station. (A distraction may result in loss
of control over the device).

Use the device in a well-ventilated space.

Only connect and disconnect the pressure line when
the air valve is closed.

Do not point the pressure line towards yourself or
toward other people or animals.

Do not cut off the supply of compressed air by
crushing or bending pressure hoses.

Regularly inspect the condition of the safety labels. If
the labels are illegible, they must be replaced.

Please keep this manual available for future reference.
If this device is passed on to a third party, the manual
must be passed on with it.

n)

o)
p)

Q)

Keep packaging elements and small assembly parts in
a place not available to children.

Keep the device away from children and animals.

If this device is used together with another equipment,
the remaining instructions for use shall also be
followed.

Ensure adequate ventilation where the device is
used. The gases processed by the device can displace
breathable air.

There is a risk of inhaling harmful gases or vapours in
the place where the device is used.

REMEMBER When using the device, protect
children and other bystanders.

2.3. PERSONAL SAFETY

a)

b)

Q

e)

9)
h)

Do not use the device when tired, ill or under the
influence of alcohol, narcotics or medication which can
significantly impair the ability to operate the device.
The machine is not designed to be handled by persons
(including children) with limited mental and sensory
functions or persons lacking relevant experience and/
or knowledge unless they are supervised by a person
responsible for their safety or they have received
instruction on how to operate the machine.

When working with the device, use common sense
and stay alert. Temporary loss of concentration while
using the device may lead to serious injuries.

Use personal protective equipment as required
for working with the device, specified in section 1
(Legend). The use of correct and approved personal
protective equipment reduces the risk of injury.

To prevent the device from accidentally switching on,
make sure the switch is on the OFF position before
connecting to a power source.

Do not overestimate your abilities. When using the
device, keep your balance and remain stable at all
times. This will ensure better control over the device
in unexpected situations.

Compressed air may cause serious injury.

The device is not a toy. Children must be supervised
to ensure that they do not play with the device.

2.4. SAFE DEVICE USE

a)

o}

e)

Do not overload the device. Use the appropriate tools
for the given task. A correctly-selected device will
perform the task for which it was designed better and
in a safer manner.

Do not use the device if the ON/OFF switch does not
function properly (does not switch the device on and
off). Devices which cannot be switched on and off
using the ON/OFF switch are hazardous, should not
be operated and must be repaired.

Disconnect the device from the power supply
before commencement of adjustment, cleaning and
maintenance. Such a preventive measure reduces the
risk of accidental activation.

When not in use, store in a safe place, away from
children and people not familiar with the device who
have not read the user manual. The device may pose
a hazard in the hands of inexperienced users.

Keep the device in perfect technical condition. Before
each use check for general damage and especially
check for cracked parts or elements and for any other
conditions which may impact the safe operation of
the device. If damage is discovered, hand over the
device for repair before use.

Rev. 27.01.2022

k)
)

n)

o)

p)

9
o}
s)

u)
V)
w)

X)

bb)

cC)

dd)

ee)

Keep the device out of the reach of children.

Device repair or maintenance should be carried out by
qualified persons, only using original spare parts. This
will ensure safe use.

To ensure the operational integrity of the device, do
not remove factory-fitted guards and do not loosen
any screws.

When transporting and handling the device between
the warehouse and the destination, observe the
occupational health and safety principles for manual
transport operations which apply in the country
where the device will be used.

Avoid situations where the device stops working
during use due to excessive loading. This may result
in overheating of the drive elements and damage to
the device.

Do not leave this appliance unattended while it is in use.
Clean the device regularly to prevent stubborn grime
from accumulating.

At locations where there is a high risk of mechanical
damage, use a reinforced hose for compressed air
connections.

Do not carry or hang the device by the pressure line.
The device is not a toy. Cleaning and maintenance may
not be carried out by children without supervision by
an adult person.

It is forbidden to interfere with the structure of
the device in order to change its parameters or
construction.

Keep the device away from sources of fire and heat.
Follow local OHS and electrical equipment regulations.
Do not step on the device or use it as a support.
Before each use, check the compressed air system and
electrical components for signs of damage or leakage.
Defective components must be repaired or replaced
before working with the device.

Check at regular intervals that all connectors and
screws are properly tightened.

Parts of the device may be hot for some time after the
machine is turned off.

Keep your fingers away from the working device. The fast
moving and hot parts may cause injuries and / or burns.
If the device starts vibrating excessively, stop the
engine and immediately check the cause. Vibration is
usually a fault signal.

To reduce the risk of fire, protect the engine / housing
from oil, solvent or excessive lubrication.

Never remove or attempt to adjust the safety valve.
Protect the safety valve against paint or any deposits.
Never attempt to repair or modify the tank! Welding,
drilling or any other modification will weaken the
tank, making it susceptible to damage due to rupture
or explosion. It is mandatory to replace worn or
damaged tanks.

Drain the fluid from the tank after each use of
the machine. The tanks rust due to moisture
accumulation, which ultimately reduces their strength.
The tank should be emptied regularly and periodically
checked for corrosion.

The movement of pressurized air may cause dust
and dirt to accumulate, which may be harmful. When
removing moisture or decompressing the compressor
system, remove air slowly.

Do not spray flammable materials in the vicinity of an
open flame, sparking or glowing objects.

Do not smoke when spraying paint, insecticide or
other flammable substance.

Rev. 27.01.2022

99)
hh)

ii)

i)
kk)

AN

When spraying, use a mask and provide adequate
ventilation of the workplace to prevent health and
fire hazards.

Do not aim paint spray or other sprayed materials at
the device. Position the device as far as possible from
the spray area.

When spraying or cleaning with solvents or toxic
chemicals, follow the instructions provided by the
chemical manufacturer.

To avoid the risk of severe burns, never touch the
delivery pipe. It gets very hot during use.

Hoses connected to the device should be reinforced.
Only use hoses and connectors capable of withstanding
the maximum pressure generated by the machine.

ATTENTION! Despite the safe design of the device
and its protective features, and despite the use of
additional elements protecting the operator, there
is still a slight risk of accident or injury when using
the device. Stay alert and use common sense when
using the device.

3. USE GUIDELINES

The oil-free compressor is designed to supply other
pneumatic equipment and tools with compressed air free
of oil contaminants. The compressed air from this device
contains moisture. If dry air is required install a water filter
or air dryer. Without appropriate additional devices, this
machine cannot be used to supply air of a quality suitable
for breathing by living beings.

The

user is liable for any damage resulting from

unintended use of the device.
3.1. DEVICE DESCRIPTION
MSW-0AC550-8L
MSW-0AC750-8L

MSW-0AC550-24L
MSW-0AC750-24L




EIN]

EIN]

Airinlet

Delivery pipe

Handle

ON / OFF switch

Tank pressure indicator
Safety valve

Check valve

Moisture drain valve
Tank

10.  Regulator

11. Airoutlet

12.  Outlet pressure indicator

OoONOUTA WN =

3.2. PREPARING FOR USE

3.2.1. APPLIANCE LOCATION

The ambient temperature must not exceed 38°C. The device
should not be used at temperatures equal to or lower than
0°C, because moisture accumulating in its tank may freeze
and ice may block and damage the valves.

Ensure good ventilation in the room in which the device is
being used. There should be at least 45 cm distance between
each side of the device and the wall or other objects. The
device should always be used when positioned on an even,
stable, clean, fireproof and dry surface, and be out of the
reach of children and persons with limited mental and
sensory functions. Position the device such that you always
have access to the power plug. The power cord connected
to the appliance must be properly grounded and correspond
to the technical details on the product label. The electrical
socket, which the device will be connected to, must be
grounded and fully functional. Do not use electrical outlet
adapters with this device! The electrical wiring system to
which the device will be connected must be equipped with
a slow-blow fuse or circuit breaker.

NOTE: Never use an extension hose with this product. Use an
additional air hose instead of an extension hose to avoid loss
of power and permanent damage to the engine.

NOTE: The compressor air inlet must be away from steam,
paint spraying area, sandblasted areas or other sources of
contamination. These impurities will damage the engine or
clog the filter.

Handling in the workplace

When handling in the workplace, use the carrying handle.
NOTE: Never use the handle to completely lift the machine
off the ground on wheeled models.

3.3. DEVICE USE

ON / OFF pressure switch

Inthe ON position, the compressor switches off automatically
when the pressure in the tank reaches the maximum set
pressure. In the OFF position, the compressor will not work.
This switch should be in the OFF position when connecting
or disconnecting the power cord from the electrical outlet
or when changing pneumatic tools / devices connected to
the compressor.

STARTING PROCEDURE (applies to models MSW-0AC550-

241, MSW-0AC750-24L)

ATTENTION! Do not attach pneumatic tools to the air outlet

of the device until start-up is completed correctly.

1. Turn the regulator knob completely to the right to
open the airflow.

2. Set the switch to the OFF position and connect the
power cord.

orF A7

3. Set the switch to ON and run the machine for 30
minutes to ensure that the parts break-in properly.

4. Turn the regulator knob completely counter-
clockwise. The device will fill up until the maximum
pressure is reached and turn off.

5. Turn the regulator knob clockwise to remove air. The
device will restart at the set pressure.

6. Turn the regulator knob counter-clockwise to shut off
the air supply and set the switch to OFF.

7. Attach a pneumatic tool to the outlet. Turn the

regulator knob clockwise. Set the device switch to
ON to force the air into the tank. The device will turn
off automatically when it reaches the maximum set
pressure.

NOTE: Make sure the switch is in the OFF position
when connecting or disconnecting the power cord
from the electrical outlet.

STARTING PROCEDURE (applies to models MSW-0AC550-

8L, MSW-0AC750-8L)

ATTENTION! Do not attach pneumatic tools to the air outlet

of the device until start-up is completed correctly.

1. Set the switch to OFF position and connect the power
cord.

tz;?

OFF

2. Set the switch to ON and run the machine for 30
minutes to ensure that the parts break-in properly.

3. Set the switch to OFF and connect a pneumatic tool to
the outlet.

4. Set the device switch to ON to force the air into the
tank.

NOTE: Make sure the switch is in the OFF position
when connecting or disconnecting the power cord
from the electrical outlet.

MOISTURE IN COMPRESSED AIR

The moisture in the compressed air condenses. When the
humidity level is high or when the device has been working
for a long time, moisture will accumulate in the tank. When
a paint spray gun or sandblasting gun is used, water will be
carried on from the tank through the hose and gun in the
form of droplets mixed with the spray material.

This will cause water stains when painting, especially when
spraying non-water based paints. In the case of sandblasting,
this will cause sand to build up and clog the gun. A filter in
the air line, located as close as possible to the gun, will help
eliminate this moisture.

SAFETY VALVE

The safety valve automatically releases air if the pressure
in the tank exceeds the set maximum. WARNING! Do not
remove or attempt to adjust the safety valve!

CONTROLLER KNOB (MSW-0AC550-24L, MSW-0AC750-24L

models only)

The regulator knob controls the air pressure supplied to the

output pneumatic tool.

. To increase the outlet air pressure, turn clockwise.
After reaching the desired pressure, lock with nuts.

. To reduce the outlet air pressure, turn counter-
clockwise.
. To completely cut off the airflow, turn fully counter-

clockwise and press the knob.

74

-
TANK PRESSURE INDICATOR

The indicator shows the pressure in the tank, indicating
whether the device is generating pressure correctly.

THERMAL OVERLOAD FUSE

IMPORTANT! The compressor is equipped with an automatic
thermal overload protection that will stop the motor in the
event of overheating.

If the thermal overload protection often turns off the motor,
the reasons may be:

1. low voltage
2. air filter clogged
3. lack of adequate ventilation

IMPORTANT! If the thermal overload protection has been
triggered the motor must cool down before it can be started.
The motor will restart automatically without warning if the
machine is left turned on and connected to an electrical
outlet.

3.4. CLEANING AND MAINTENANCE

IMPORTANT! Disconnect the machine from the power

supply, then release all pressure from the system and allow

the device to cool before cleaning it, repairing, transporting

or performing any maintenance.

a) Use only non-corrosive cleaners to clean the surface.

b)  After cleaning the device, all parts should be dried
completely before using it again.

9] Do not spray the device with a water jet or submerge
it in water.

d) Do not allow water to get inside the device through
vents in the housing of the device.

e) Clean the vents with a brush and compressed air.

f) The device must be regularly inspected to check its
technical efficiency and spot any damage.

g)  Use a soft cloth for cleaning.

MAINTENANCE

Once a week:

1. Drain moisture from the tank by opening the drain
valve under the tank. Otherwise the tank may corrode.

2. Remove dust and dirt from the motor, tank, air hoses
and cooling ribs of the device.

LUBRICATION

Oil-free compressors do not require lubrication.

STORAGE

1. Remove moisture from the tank before storage.

2. Disconnect the hose and hang its open ends down to
allow moisture to drain out.

3. Store the unit in a dry, cool place, free from moisture

and direct exposure to sunlight.
If you cannot avoid storing the device at a temperature equal
to or lower than 0°C, ensure that it is free of moisture and

dry.

12

Rev. 27.01.2022

Rev. 27.01.2022

13



PL

INSTRUKCJA OBStUGI

PL

DANE TECHNICZNE
Opis parametru
Nazwa produktu

Model

Napiecie zasilania [V~]/
Czestotliwos¢ [Hz]

Moc znamionowa [W]
llos¢ tokow
Pojemnos¢ zbiornika [L]
Czas napetnienia

Predkos¢ obrotowa
[obr./min]

Wydajnos¢ [I/min]

Maksymalne cisnienie
[bar]

Poziom ci$nienia
akustycznego Lp A[dB(A)]

Poziom mocy
akustycznej L, [dB(A)]

Maksymalna
temperatura pracy [°C]

Minimalna
temperatura pracy [°C]

Wymiary [mm]
Ciezar [kg]
Nazwa produktu

Model

Napiecie zasilania [V~]/
Czestotliwos¢ [Hz]

Moc znamionowa [W]
llos¢ ttokow
Pojemnos¢ zbiornika [L]
Czas napetnienia

Predkos¢ obrotowa
[obr./min]

Wydajnos¢ [I/min]
Maksymalne cisnienie
[bar]

Poziom ci$nienia
akustycznego LpA [dB(A)]

Poziom mocy
akustycznej L, [dB(A)]

Maksymalna
temperatura pracy [°C]

Wartos¢ parametru

Kompresor bezolejowy

MSW- MSW-
0AC550-8L 0AC750-8L
230/50
550 750
2
8
1min 20sec Tmin 5sec
1450
104 126
8
76,2
78
+40
-10

500x190x470  495x190x510
16,4 18,5

Kompresor bezolejowy

MSW- MSW-
0AC550-24L  0AC750-24L
230/50
550 750
2
24
2min 30 sec 2min 35sec
1450
104 126
8
76,2
78
+40

Minimalna -10
temperatura pracy [°C]

Wymiary [mm]

575x305x535  580x305x558

Ciezar [kg] 20,8 22,5

1. OGOLNY OPIS

Instrukcja przeznaczona jest do pomocy w bezpiecznym
i niezawodnym uzytkowaniu. Produkt jest zaprojektowany
i wykonany SsciSle wedtug wskazan technicznych przy

uzyciu

najnowszych technologii i komponentéw oraz przy

zachowaniu najwyzszych standardéw jakosci.

PRZED PRZYSTAPIENIEM DO PRACY NALEZY
DOKLADNIE PRZECZYTAC | ZROZUMIEC NINIEJSZA

INSTRUKCJE.

Dla zapewnienia dtugiej i niezawodnej pracy urzadzenia
nalezy dba¢ o jego prawidtowa obstuge oraz konserwacje
zgodnie ze wskazowkami zawartymi w tej instrukcji. Dane
techniczne i specyfikacje zawarte w tej instrukcji obstugi sg
aktualne. Producent zastrzega sobie prawo dokonywania
zmian zwigzanych z podwyzszeniem jakosci. Uwzgledniajac

postep

techniczny i mozliwos¢ ograniczenia hatasu,

urzadzenie zaprojektowano i zbudowano tak, aby ryzyko jakie
wynika z emisji hatasu ograniczy¢ do najnizszego poziomu.

OBJASNIENIE SYMBOLI

ce
®
)¢
A
®
©
A

> @ »

Produkt spetnia wymagania odpowiednich norm
bezpieczenstwa.

Przed uzyciem nalezy zapoznac sie z instrukcja.
Produkt podlegajacy recyklingowi.
UWAGA! lub OSTRZEZENIE! lub PAMIETAJ!

opisujaca dana sytuacje (ogdlny znak
ostrzegawczy).

Stosowac ochrone stuchu. Narazenie na hatas
moze powodowac utrate stuchu.

Zatozy¢ okulary ochronne.

UWAGA! Ostrzezenie przed porazeniem pradem
elektrycznym!

Uwaga! Gorgca powierzchnia moze
spowodowac oparzenial

UWAGA! Urzadzenie moze wiaczy¢ sie bez
ostrzezenia.

Nie wigcza¢ doptywu sprezonego powietrza
przed podtaczeniem narzedzia pneumatycznego.

UWAGA! llustracje w niniejszej instrukcji obstugi
maja charakter pogladowy i w niektérych
szczegotach moga rozni¢ sie od rzeczywistego
wygladu produktu.

Instrukgja oryginalng jest niemiecka wersja instrukgji. Pozostate
wersje jezykowe s3 tlumaczeniami z jezyka niemieckiego.

2. BEZPIECZENSTWO UZYTKOWANIA

A

UWAGA!  Przeczytaj wszystkie  ostrzezenia
dotyczace bezpieczenstwa oraz wszystkie instrukcje.
Niezastosowanie sie do ostrzezen i instrukcji moze
spowodowac porazenie pragdem, pozar i/lub ciezkie
obrazenia ciata lub $mierc.

Termin ,urzadzenie” lub ,produkt” w ostrzezeniach
i w opisie instrukcji odnosi sie do <Kompresor bezolejowy>.
Nie nalezy uzywac urzadzenia w pomieszczeniach o bardzo
duzej wilgotnosci / w bezposrednim poblizu zbiornikow
z woda! Nie wolno dopuszcza¢ do zamoczenia urzadzenia.
Ryzyko porazenia pradem! Nie wolno zastania¢ wlotéw
i wylotéw powietrza!

2.1 BEZPIECZENSTWO ELEKTRYCZNE

a)

b)

d)

e)

9)

h)

Wtyczka urzadzenia musi pasowac¢ do gniazda.
Nie modyfikowa¢ wtyczki w jakikolwiek sposdb.
Oryginalne wtyczki i pasujace gniazda zmniejszaja
ryzyko porazenia pradem.

Unika¢ dotykania uziemionych elementéw, takich jak
rury, grzejniki, piece i lodowki. Istnieje zwiekszone
ryzyko porazenia pradem, jesli ciato jest uziemione
i dotyka urzadzenia narazonego na bezposrednie
dziatanie deszczu, mokrej nawierzchni i pracy
w wilgotnym otoczeniu. Przedostanie sie wody do
urzadzenia zwieksza ryzyko jego uszkodzenia oraz
porazenia pradem.

Nie wolno dotyka¢ urzadzenia mokrymi lub
wilgotnymi rekoma.

Nie nalezy uzywac przewodu w sposéb niewtasciwy.
Nigdy nie uzywa¢ go do przenoszenia urzadzenia lub
do wyciggania wtyczki z gniazda. Trzymac przewdd
z dala od zrodet ciepta, oleju, ostrych krawedzi
lub ruchomych czesci. Uszkodzone lub poplatane
przewody zwigkszaja ryzyko porazenia pradem.

W przypadku pracy urzadzeniem na zewnatrz, nalezy
uzy¢ przedtuzacza przeznaczonego do uzytku na
zewnatrz. Uzycie przedtuzacza przeznaczonego
do uzytku na zewnatrz zmniejsza ryzyko porazenia
pradem.

Jesli nie mozna unikna¢ uzywania urzadzenia
w srodowisku wilgotnym, nalezy stosowac wytacznik
réznicowo-pradowy (RCD). Uzywanie RCD zmniejsza
ryzyko porazenia pradem.

Zabrania sie uzywania urzadzenia, jesli przewod
zasilajacy jest uszkodzony lub nosi wyrazne oznaki
zuzycia. Uszkodzony przewdd zasilajacy powinien byé
wymieniony przez wykwalifikowanego elektryka lub
serwis producenta

Aby unikng¢ porazenia pradem elektrycznym, nie
nalezy zanurzac kabla, wtyczki ani samego urzadzenia
w wodzie lub innym pftynie. Nie wolno uzywac
urzadzenia na mokrych powierzchniach.

2.2. BEZPIECZENSTWO W MIEJSCU PRACY

a)

b)

d)

e)

Utrzymywaé porzadek w miejscu pracy i dobre
oswietlenie. Nieporzadek lub zte oswietlenie moze
prowadzi¢ do wypadkdw. Nalezy by¢ przewidujacym,
obserwowac co sie robi i zachowywac rozsadek
podczas uzywania urzadzenia.

Nie uzywal urzadzenia w strefie zagrozenia
wybuchem, na przyktad w obecnosci tatwopalnych
cieczy, gazéw lub pytéw. Urzadzenie wytwarzajg iskry,
mogace zapali¢ pyt lub opary.

W razie stwierdzenia uszkodzenia lub nieprawidtowosci
w pracy urzadzenia nalezy je bezzwtocznie wytaczyé
i zgtosic to do osoby uprawnione;j.

W razie watpliwosci czy urzadzenia dziata poprawnie,
nalezy skontaktowac sie z serwisem producenta.
Naprawy urzadzenia moze wykonaé wylacznie
serwis producenta. Nie wolno dokonywac napraw
samodzielnie!

9)

h)

m)

n)

0)
p)

q)

)

A

W przypadku zaprészenia ognia lub pozaru, do
gaszenia urzadzenia pod napieciem nalezy uzywac
wytacznie gasnic proszkowych lub $niegowych (CO,).
Na stanowisku pracy nie moga przebywaé dzieci
ani osoby nieupowaznione. (Nieuwaga moze
spowodowac utrate kontroli nad urzadzeniem.)
Urzadzenie uzywa¢ w dobrze wentylowanej
przestrzeni.

Podtaczanie i odtgczanie przewodu cisnieniowego
powinno odbywac sie przy zamknietym zaworze
powietrza.

Nie wolno kierowa¢ przewodu ci$nieniowego
w kierunku swoim lub innych oséb lub zwierzat.
Powietrze pod ci$nieniem moze spowodowac
powazne obrazenia.

Nie wolno odcina¢ doptywu sprezonego powietrza
przez  zgniatanie lub  zaginanie  przewoddéw
cisnieniowych.

Nalezy  regularnie  sprawdza¢ stan  naklejek
z informacjami  dotyczacymi  bezpieczenstwa.
W przypadku gdy, naklejki sa nieczytelne nalezy je
wymienic.

Zachowa¢ instrukcje uzytkowania w celu jej
podzniejszego uzycia. W razie, gdyby urzadzenie miato
zosta¢ przekazane osobom trzecim, to wraz z nim
nalezy przekazac réwniez instrukcje uzytkowania.
Elementy opakowania oraz drobne elementy
montazowe nalezy przechowywa¢ w  miejscu
niedostepnym dla dzieci.

Urzadzenie trzymac z dala od dzieci i zwierzat.

W trakcie uzytkowania tego urzadzenia wraz z innymi
urzadzeniami nalezy zastosowac sie réwniez do
pozostatych instrukgji uzytkowania.

W miejscu pracy urzadzenia nalezy zapewni¢
odpowiedniag wentylacje. Gazy przetworzone przez
urzadzenie moga wyprze¢ powietrze zdatne do
oddychania.

W miejscu pracy urzadzenia istnieje ryzyko wdychania
szkodliwych gazéw lub oparéw.

PAMIETAJ! Nalezy chroni¢ dzieci i inne osoby
postronne podczas pracy urzadzeniem.

2.3. BEZPIECZENISTWO OSOBISTE

a)

o}

e)

Niedozwolone  jest  obstugiwanie  urzadzenia
w stanie zmeczenia, choroby, pod wptywem alkoholu,
narkotykéw lub lekéw, ktore ograniczajg w istotnym
stopniu zdolnosci obstugi urzadzenia.

Maszyna nie jest przeznaczona do tego, by byta
uzytkowana przez osoby (wtymdzieci) o ograniczonych
funkgjach psychicznych, sensorycznych i umystowych
lub nieposiadajace odpowiedniego doswiadczenia
i/lub wiedzy, chyba Zze s3 one nadzorowane przez
osobe odpowiedzialng za ich bezpieczenstwo lub
otrzymaty od niej wskazéwki dotyczace tego, jak
nalezy obstugiwa¢ maszyne.

Nalezy by¢ uwaznym, kierowal sie zdrowym
rozsadkiem podczas pracy urzadzeniem. Chwila
nieuwagi podczas pracy, moze doprowadzi¢ do
powaznych obrazen ciata.

Nalezy —uzywa¢ $rodkdw  ochrony  osobistej
wymaganych przy pracy urzadzeniem
wyszczegolnionych w punkcie 1 objasnienia symboli.
Stosowanie odpowiednich, atestowanych srodkéw
ochrony osobistej zmniejsza ryzyko doznania urazu.

Aby zapobiega¢ przypadkowemu uruchomieniu
upewnij sie, ze przetacznik jest w pozycji wytaczonej
przed podigczeniem do zrédia zasilania.

________________________________________________________________________________________________________________________________________________|
Rev. 27.01.2022

14

Rev. 27.01.2022

15



PL

PL

f) Nie nalezy przecenia¢ swoich mozliwosci. Utrzymywac
balans i réwnowage ciata przez caly czas pracy.
Umozliwia to lepsza kontrole nad urzadzeniem
w nieoczekiwanych sytuacjach.

9) Powietrze pod ci$nieniem moze powodowac ciezkie
obrazenia.

h) Urzadzenie nie jest zabawka. Dzieci powinny by¢
pilnowane, aby nie bawity sie urzadzeniem.

2.4. BEZPIECZNE STOSOWANIE URZADZENIA

a) Nie nalezy przecigza¢ urzadzenia. Uzywac narzedzi
odpowiednich do danego zastosowania. Prawidtowo
dobrane urzadzenie wykona lepiej i bezpieczniej
prace dla ktérego zostato zaprojektowane.

b) Nie nalezy uzywac¢ urzadzenia, jesli przetacznik ON/
OFF nie dziata sprawnie (nie zatacza i nie wylacza
sie). Urzadzenia, ktére nie moga by¢ kontrolowane
za pomocg przetacznika sa niebezpieczne, nie moga
pracowac i muszg zosta¢ naprawione.

Q) Przed przystapieniem do regulacji, czyszczenia
i konserwacji urzadzenie nalezy odtaczy¢ od zasilania.
Taki $rodek zapobiegawczy zmniejsza ryzyko
przypadkowego uruchomienia.

d) Nieuzywane urzadzenia nalezy przechowywaé
w miejscu niedostepnym dla dzieci oraz oséb
nieznajgcych  urzadzenia  lub  tej  instrukgji
obstugi. Urzadzenia s3 niebezpieczne w rekach
niedoswiadczonych uzytkownikéw.

e) Utrzymywac urzadzenie w dobrym stanie technicznym.
Sprawdza¢ przed kazda praca czy nie posiada
uszkodzen ogodlnych lub zwigzanych z elementami
ruchomymi (pekniecia czesci i elementow lub wszelkie
inne warunki, ktére moga mie¢ wptyw na bezpieczne
dziatanie urzadzenia). W przypadku uszkodzenia,
oddac urzadzenie do naprawy przed uzyciem.

f) Urzadzenie nalezy chroni¢ przed dzie¢mi.

9) Naprawa oraz konserwacja urzadzen powinna by¢
wykonywana przez wykwalifikowane osoby przy
uzyciu wyfacznie oryginalnych czesci zamiennych.
Zapewni to bezpieczenstwo uzytkowania.

h)  Aby zapewni¢  zaprojektowana integralnos¢
operacyjng  urzadzenia, nie nalezy  usuwac
zainstalowanych fabrycznie oston lub odkrecac srub.

i) Przy transportowaniu i przenoszeniu urzadzenia
z miejsca magazynowania do miejsca uzytkowania
nalezy  uwzgledni¢  zasady  bezpieczenstwa
i higieny pracy przy recznych pracach transportowych
obowigzujgcych w kraju, w ktérym urzadzenia sg
uzytkowane.

)] Nalezy unikac sytuacji, gdy urzadzenie podczas pracy,
zatrzymuje sie pod wptywem duzego obcigzenia.
Moze spowodowal to przegrzanie sie elementéw

napedowych i w konsekwencji uszkodzenie
urzadzenia.

k) Nie nalezy pozostawia¢ wlaczonego urzadzenia bez
nadzoru.

)] Nalezy regularnie czysci¢ urzadzenie, aby nie dopusci¢
do trwatego osadzenia sie zanieczyszczen.

m) Nalezy uzywa¢ wezy zbrojonych do przytacza
sprezonego powietrza w miejscach o wysokim ryzyku
uszkodzen mechanicznych.

n) Nie wolno przenosi¢ lub wiesza¢ urzadzenie za
przewdd cisnieniowy.

o) Urzadzenie nie  jest zabawka.  Czyszczenie
i konserwacja nie moga by¢ wykonywane przez dzieci
bez nadzoru osoby dorostej.

u)

V)

X)

y)

z)

aa)

bb)

cC)

dd)

ee)

99)

hh)

i
kk)

Zabrania sie ingerowania w konstrukcje urzadzenia
celem zmiany jego parametréow lub budowy.

Trzymac urzadzenia z dala od zZrédet ognia i ciepta.
Postepowac zgodnie z lokalnymi przepisami BHP oraz
dotyczacymi urzadzen elektrycznych.

Nie stawac na urzadzeniu oraz nie uzywaé go jako
podparcia.

Przed kazdym uzyciem nalezy skontrolowa¢ uktad
sprezonego powietrza i elementy elektryczne pod
katem oznak uszkodzenia lub wycieku. Elementy
wadliwe nalezy naprawi¢ lub wymieni¢ przed
rozpoczeciem pracy z urzadzeniem.

W regularnych odstepach czasu sprawdza¢ czy
wszystkie elementy faczace sa whasciwie dokrecone.
Czesci urzadzenia moga by¢ gorace jeszcze przez
pewien czas po jego wytaczeniu.

Trzyma¢ palce z dala od pracujacego urzadzenia,
szybko poruszajace sie i gorace czesci moga
spowodowac obrazenia i / lub poparzenia.

Jesli urzadzenie zacznie niepokojgco wibrowac, nalezy
zatrzymac silnik i natychmiast sprawdzi¢ przyczyne,
wibracja jest zazwyczaj sygnatem awarii.

Aby zmniejszy¢ ryzyko pozaru nalezy chronic silnik /
obudowe silnika przed olejem, rozpuszczalnikiem lub
nadmiernym smarowaniem.

Nigdy nie usuwac ani nie prébowac regulowac zaworu
bezpieczenstwa. Nalezy chroni¢ zawér bezpieczenstwa
przed farba lub wszelkimi osadami.

Nigdy nie prébowac naprawia¢ ani modyfikowacd
zbiornika! Spawanie, wiercenie lub jakakolwiek inna
modyfikacja ostabi zbiornik, powodujgc mozliwos¢
uszkodzenia w wyniku pekniecia lub wybuchu. Nalezy
obowigzkowo wymienia¢ zuzyte lub uszkodzone
zbiorniki.

Odprowadza¢ ptyn ze zbiornika po kazdej pracy.
Zbiorniki rdzewieja na skutek gromadzenia sie wilgoci,
co doprowadza do ich ostabienia. Nalezy regularnie
oproznia¢ zbiornik i okresowo sprawdzac, czy nie
pojawiaja sie ogniska korozji.

Ruch powietrza pod cisnieniem moze spowodowaé
unoszenie sie kurzu i zanieczyszczen, ktére moga byc
szkodliwe. Powietrze podczas odprowadzania wilgoci
lub rozprezania uktadu sprezarki nalezy usuwac
powoli.

Nie rozpyla¢ fatwopalnych materiatow
w poblizu otwartego ognia, ikrzacych lub zarzacych
sie przedmiotow.

Nie pali¢ podczas rozpylania farby, sSrodkéw
owadobojczych lub innych tatwopalnych substancji.
Podczas rozpylania uzywa¢ maski i zapewni¢
odpowiednig wentylacje miejsca pracy, aby zapobiec
powstawaniu zagrozen zdrowotnych i pozarowych.
Nie kierowa¢ farby ani innych natryskiwanych
materiatdbw na urzadzenie. Ustawiac urzadzenie jak
najdalej od obszaru natryskiwania.

Podczas natryskiwania lub czyszczenia
rozpuszczalnikami lub  toksycznymi chemikaliami
nalezy  postepowa¢ zgodnie z  instrukcjami
dostarczonymi przez producenta chemikaliow.

Aby unikna¢ ryzyka powaznych poparzen, nigdy
nie dotyka¢ rury ttocznej. Rura ttoczna bardzo sie
nagrzewa podczas uzytkowania.

Weze uzywane do podtaczenia do urzadzenia powinny
by¢ zbrojone.

Uzytkowac wytacznie weze i ztacza zdolne wytrzymac
maksymalne cisnienie wytwarzana przez urzadzenie.

UWAGA! Pomimo iz  urzadzenie  zostato
zaprojektowane tak aby byto bezpieczne, posiadato
odpowiednie $rodki ochrony oraz pomimo uzycia
dodatkowych elementow zabezpieczajgcych
uzytkownika, nadal istnieje niewielkie ryzyko wypadku
lub odniesienia obrazen w trakcie pracy z urzadzeniem.
Zaleca sie zachowanie ostroznosci i rozsadku podczas
jego uzytkowania.

3. ZASADY UZYTKOWANIA

Kompresor bezolejowy przeznaczony jest do zasilania
innych urzadzen i narzedzi pneumatycznych sprezonym
powietrzem, wolnym od zanieczyszczen olejowych.
wymagane jest suche powietrze, nalezy zainstalowac filtr
wody lub osuszacz powietrza. To urzgdzenie nie moze by¢
uzywane do dostarczania powietrza o jakosci odpowiedniej
do oddychania przez istoty zywe, bez odpowiednich
urzadzen dodatkowych.

Odpowiedzialnos¢ za wszelkie szkody powstate
w wyniku uzytkowania niezgodnego z przeznaczeniem
ponosi uzytkownik.

3.1. OPIS URZADZENIA
MSW-0AC550-8L
MSW-0AC750-8L

MSW-0AC550-24L
MSW-0AC750-24L

Wilot powietrza

Rura ttoczna

Uchwyt

Przetacznik ON/OFF

Wskaznik cisnienia w zbiorniku
Zawor bezpieczenstwa

Zawor zwrotny

Zawér spustowy wilgoci
Zbiornik

10.  Regulator

1. Wylot powietrza

12.  Wskaznik cisnienia wylotowego

OONOUVTAWN =

3.2. PRZYGOTOWANIE DO PRACY

UMIEJSCOWIENIE URZADZENIA

Temperatura otoczenia nie moze przekracza¢ 38°C.
Urzadzenia nie powinno sie uzywac w temperaturze réwniej
lub nizszej niz 0°C, poniewaz wilgo¢ zbierajaca sie w jej
zbiorniku moze zamarzna¢, a l6d zablokowac i uszkodzic¢
zawory. Urzadzenie nalezy ustawi¢ w sposéb zapewniajacy
dobra cyrkulacje powietrza. Nalezy utrzymac¢ minimalny
odstep 45 c¢cm od kazdej Sciany urzadzenia. Urzadzenie
nalezy trzymac¢ z dala od wszelkich goracych powierzchni.
Urzadzenie nalezy zawsze uzytkowac na réwnej, stabilnej,
czystej, ognioodpornej i suchej powierzchni i poza zasiegiem
dzieci oraz osoéb ograniczonych funkcjach psychicznych,
sensorycznych i umystowych. Urzadzenie nalezy umiejscowic¢
w taki sposob, by w dowolnej chwili mozna sie byto dostaé
do wtyczki sieciowej. Nalezy pamieta¢ o tym, by zasilanie
urzadzenia energia odpowiadato danym podanym na
tabliczce znamionowej! Gniazdo elektryczne do ktérego
bedzie podtaczone urzadzenie musi by¢ uziemione
oraz w peini sprawne. Nie uzywal adapteréw gniazd
elektrycznych z tym urzadzeniem! Instalacja elektryczna, do
ktdrej podtgczone zostanie urzadzenie musi by¢ wyposazona
w bezpiecznik zwtoczny lub przerywacz obwodu.

UWAGA: Nigdy nie uzywac przedtuzacza z tym produktem.
Uzy¢  dodatkowego weza  powietrznego  zamiast
przedtuzacza, aby unikna¢ utraty mocy i trwatego
uszkodzenia silnika.

UWAGA: Nie umieszcza¢ wlotu powietrza kompresora
w poblizu pary, natrysku farby, obszaréw piaskowanych
lub innych Zrédet zanieczyszczenia. Zanieczyszczenia te
uszkodzg silnik lub zapchaja filtr.

Transport na miejscu pracy

W trakcie transportu urzadzenia na miejscu pracy nalezy
uzywac uchwytu do przenoszenia urzadzenia.

UWAGA: Nigdy nie uzywac uchwytu, aby catkowicie podnies¢
urzadzenie z ziemi w modelach wyposazonych w kota.

3.3. PRACA Z URZADZENIEM

Przetacznik cisnienia - ON / OFF - W pozycji ON kompresor
wytacza sie automatycznie, gdy cisnienie w zbiorniku osiagnie
maksymalne ustawione cisnienie. W pozycji OFF kompresor
nie bedzie dziata¢. Przetgcznik ten powinien znajdowac sie
w pozycji OFF podczas podtaczania lub odtaczania przewodu
zasilajgcego  od gniazdka elektrycznego lub podczas
wymiany narzedzi/urzadzen pneumatycznych podtaczonych
do kompresora.

PROCEDURA ROZRUCHU (dotyczy modeli MSW-0AC550-
24L, MSW-0AC750-24L)
UWAGA! Nie nalezy mocowac narzedzi pneumatycznych do
wylotu powietrza urzadzenia, dopdki rozruch nie zostanie
prawidtowo zakonczony.

16

Rev. 27.01.2022

Rev. 27.01.2022

17



PL

PL

1. Obroci¢ pokretto regulatora catkowicie w prawo, aby
otworzy¢ przeptyw powietrza.

2. Ustawi¢ przetgcznik w pozycji OFF i podfaczyé
przewdd zasilajacy.

ofe A2

3. Ustawi¢ przetagcznik w pozycji ON i uruchomic¢
urzgdzenie na 30 minut, aby zapewni¢ odpowiednie
dotarcie sie czesci.

4. Obroci¢ pokretto regulatora catkowicie w kierunku
przeciwnym do ruchu wskazéwek zegara. Urzadzenie
napetni sie az do uzyskania maksymalnego cisnienia,
a nastepnie wylaczy sie.

5. Obroéci¢ pokretto regulatora zgodnie z ruchem
wskazéwek zegara, aby odprowadzi¢ powietrze.
Urzadzenie uruchomi sie ponownie przy ustawionym
cisnieniu.

6. Obroci¢ pokretto regulatora przeciwnie do ruchu
wskazéwek zegara, aby odcig¢ doptyw powietrza
i ustawi¢ przetacznik w pozycji OFF.

7. Przymocowac narzedzie pneumatyczne do otworu
wylotowego. Obroci¢ pokretto regulatora zgodnie
z ruchem wskazowek zegara. Ustawi¢ wiacznik
urzadzenia w pozycji ON, aby wttaczato powietrze do
zbiornika. Urzadzenie wytaczy sie automatycznie, gdy
osiagnie maksymalne ustawione cisnienie.

UWAGA: Nalezy upewni¢ sie, ze przetacznik jest
w pozycji OFF podczas podtaczania lub odtgczania
przewodu zasilajgcego z gniazdka elektrycznego.

PROCEDURA ROZRUCHU (dotyczy modeli MSW-0AC550-

8L, MSW-0AC750-8L)

UWAGA! Nie nalezy mocowa¢ narzedzi pneumatycznych do

wylotu powietrza urzadzenia, dopoki rozruch nie zostanie

prawidtowo zakonczony.

1. Ustawi¢ przetacznik w pozycji OFF i podfaczyé
przewdd zasilajacy.

ON

ofr L2

2. Ustawi¢ przetagcznik w pozycji ON i uruchomic¢
urzadzenie na 30 minut, aby zapewni¢ odpowiednie
dotarcie sie czesci.

3. Ustawi¢ przetgcznik w pozycji OFF i podifaczyé
narzedzie pneumatyczne do otworu wylotowego.

4. Ustawi¢ wiacznik urzadzenia w pozycji ON, aby
wttaczato powietrze do zbiornika.

UWAGA: Nalezy upewni¢ sie, ze przetacznik jest
w pozycji OFF podczas podtaczania lub odtaczania
przewodu zasilajgcego z gniazdka elektrycznego.

WILGOTNOC W SPREZONYM POWIETRZU
Wilgo¢ w sprezonym powietrzu skrapla sie. Gdy poziom
wilgotnosci jest wysoki lub gdy urzadzenie pracuje przez

dhuzszy czas, wilgo¢ ta bedzie zbiera¢ sie w zbiorniku.
Podczas korzystania z pistoletu do natryskiwania farby
lub piaskowania, woda bedzie przenoszona ze zbiornika
przez waz i pistolet w postaci kropelek zmieszanych
z materiatem natryskowym. Spowoduje to plamy wodne
podczas malowania, szczegdlnie podczas natryskiwania farb
innych niz wodne. W przypadku piaskowania spowoduje to
osadzanie sie piasku i zatkanie pistoletu. Filtr w przewodzie
powietrznym, umieszczony jak najblizej pistoletu, pomoze
wyeliminowac¢ te wilgoc.

ZAWOR BEZPIECZENSTWA

Zawor bezpieczenstwa automatycznie uwalnia powietrze,
jesli cisnienie w zbiorniku przekroczy ustalone maksimum.
OSTRZEZENIE! Nie nalezy usuwa¢ ani probowac regulowaé
zaworu bezpieczenstwal!

POKRETEO REGULATORA (tylko modele MSW-0AC550-24L,

MSW-0AC750-24L)

Pokretto  regulatora  steruje  ci$nieniem  powietrza

dostarczanego do wyjsciowego narzedzia pneumatycznego.

. Aby zwiekszy¢ ci$nienie powietrza na wylocie, obroci¢
w prawo. Po osiggnieciu pozadanego cisnienia
zablokowa¢ nakretkami.

. Aby obnizy¢ ciSnienie powietrza na wylocie, obroci¢
w lewo.
. Aby catkowicie odcig¢ przeptyw powietrza, obroci¢

catkowicie w lewo, a nastepnie nacisnaé pokretto.

Il

-
WSKAZNIK CISNIENIA ZBIORNIKA

Wskaznik pokazuje cisnienie w zbiorniku, wskazujac, czy
urzadzenie prawidtowo wytwarza cisnienie.

TERMICZNY BEZPIECZNIK PRZECIAZENIA

UWAGA! Sprezarka jest wyposazona w automatyczne
zabezpieczenie termiczne przed przecigzeniem, ktore
wytaczy silnik w przypadku przegrzania.

Jesli zabezpieczenie przed przecigzeniem termicznym czesto
wytacza silnik, nalezy poszukac nastepujacych przyczyn:

1. Niskie napiecie.

2. Zatkany filtr powietrza.

3. Brak odpowiedniej wentylagji.

UWAGA! Jezeli zadziata termiczne zabezpieczenie
przecigzeniowe, silnik musi ostygnaé, zanim mozliwe
bedzie jego uruchomienie. Silnik zostanie automatycznie
uruchomiony ponownie bez ostrzezenia, jedli urzadzenie
pozostanie wigczone oraz podigczone do gniazdka
elektrycznego.

3.4. CZYSZCZENIE | KONSERWACJA

UWAGA! Odtaczy¢ urzadzenie od zasilania, a nastepnie

zwolni¢ cate cisnienie z uktadu oraz pozwoli¢, aby urzgdzenie

ostygto przed przystapieniem do czyszczenia, napraw,
transportu lub wykonania jakiejkolwiek konserwacgji.

a) Do czyszczenia powierzchni nalezy stosowac
wytacznie srodki niezawierajace substancji zracych.

b) Po kazdym czyszczeniu wszystkie elementy nalezy
dobrze wysuszy¢, zanim urzadzenie zostanie
ponownie uzyte.

9] Zabrania sie spryskiwania urzadzenia strumieniem
wody lub zanurzania urzadzenia w wodzie.

d) Nalezy pamietaé, aby przez otwory wentylacyjne
znajdujace sie w obudowie nie dostata sie woda.

e) Otwory wentylacyjne nalezy czysci¢ pedzelkiem
i sprezonym powietrzem.

f) Nalezy wykonywac¢ regularne przeglady urzadzenia
pod katem jego sprawnosci technicznej oraz wszelkich
uszkodzen.

9) Do czyszczenia nalezy uzywac miekkiej Sciereczki.

KONSERWACJA

Raz w tygodniu:

1. Odprowadzi¢ wilgo¢ ze zbiornika, otwierajac zawor
spustowy pod zbiornikiem. W przeciwnym razie
zbiornik moze ulec korozji.

2. Usuna¢ kurz i brud z silnika, zbiornika
i wezy pneumatycznych oraz zeber oddajacych ciepto
z urzadzenia.

SMAROWANIE

Kompresory bezolejowe nie wymagaja smarowania.

PRZECHOWYWANIE

1. Przed odstawieniem do przechowania oprézni¢
zbiornik z wilgoci.

2. Odtaczy¢ waz i zawiesi¢ otwarte konce skierowane
w dot, aby umozliwi¢ wyptyniecie z nich wilgoci.

3. Urzadzenie nalezy przechowywa¢ w  suchym

i chtodnym miejscu chronionym przed wilgocia
i bezposrednim promieniowaniem stonecznym.
Jesli nie mozna unikna¢ przechowywania urzadzenia
w temperaturze réwniej lub nizszej niz 0°C, nalezy zadbac
o to, aby wczedniej oprdzni¢ urzadzenie z wilgoci oraz
wysuszy¢ wszystkie jego elementy.

18

Rev. 27.01.2022

Rev. 27.01.2022

19



CL

NAVOD K OBSLUZE

CL

TECHNICKE UDAJE
Popis parametru

Nazev vyrobku

Model

Jmenovité napéti
napéjeni [V~1/
Frekvence [Hz]
Jmenovity vykon [W]
Pocet pistd

Objem nadrze [I]
Doba plnéni

Rychlost otacek
[otacky/min]

Vytlacny vykon [I/min]
Maximalni tlak [bar]

Hladina akustického
tlaku LpA [dB(A)]

Hladina akustického
vykonu L, [dB(A)]

Maximalni pracovni
teplota [°C]

Minimalni pracovni
teplota [°C]

Rozméry [mm]
Hmotnost [kg]
Nazev vyrobku
Model

Jmenovité napéti
napajeni [V~]/
Frekvence [Hz]
Jmenovity vykon [W]
Pocet pistd

Objem nadrze [I]
Doba plnéni

Rychlost otacek
[otacky/min]

Vytlacny vykon [I/min]
Maximalni tlak [bar]

Hladina akustického
tlaku LpA [dB(A)]

Hladina akustického
vykonu L, [dB(A)]

Maximalni pracovni
teplota [°C]

Hodnota parametru

Bezolejovy kompresor

MSW- MSW-
0AC550-8L 0AC750-8L
230/50
550 750
2
8
Tmin 20sec Tmin 5sec
1450
104 126
8
76,2
78
+40
-10

500x190x470  495x190x510
16,4 18,5

Bezolejovy kompresor

MSW- MSW-
0AC550-24L  0AC750-24L
230/50
550 750
2
24

2min 30 sec 2min 35sec

1450

104 126

76,2

78

+40

Minimalni pracovni -10
teplota [°C]

Rozméry [mm] 575x305x535  580x305x558

Hmotnost [kg] 20,8 22,5

1. VSEOBECNY POPIS

Navod slouzi jako napovéda pro bezpecné a spolehlivé
pouzivani vyrobku. Vyrobek je navrZen a vyroben prfesné
podle technickych Gdajl za pouziti nejnovéjsich technologii
a komponent( a za dodrzeni nejvyssich jakostnich norem.

PRED ZAHAJENIM PRACE SI DUKLADNE PRECTETE
TENTO NAVOD A UJISTETE SE, ZE JSTE POCHOPILI
VSECHNY POKYNY.

Pro zajisténi dlouhého a spolehlivého fungovani zafizeni
pravidelné provadéjte revize a Gdrzbu v souladu s pokyny
uvedenymi v tomto navodu. Technické Udaje a specifikace
uvedené v navodu jsou aktualni. Vyrobce si vyhrazuje
pravo provadét zmény za Ucelem zvySeni kvality. Vzhledem
k technickému pokroku a moznosti omezeni hluku bylo
zafizeni navrzeno a vyrobeno tak, aby nebezpedi vyplyvajici
z emise hluku bylo omezeno na nejnizsi Groven.

VYSVETLEN{ SYMBOLU
C € Vyrobek spliuje pozadavky prislusnych
bezpecnostnich norem.
@ Pred pouzitim vyrobku se seznamte s navodem.
Recyklovatelny vyrobek.

UPOZORNENI! nebo VAROVANI! nebo
PAMATUJTE! popisujici danou situaci (vSeobecna
vystrazna znacka).

muze vést ke ztraté sluchu.
@ Pouzivejte ochranné bryle.

VAROVANI! Nebezpeti tirazu elektrickym

@ Pouzivejte ochranu sluchu. Vystaveni se hluku
A proudem!
>

VAROVANI! Horky povrch miZe zpUsobit
popaleni!

POZOR! Zafizeni se mize samo zapnout bez
varovani.

Nezapinejte pfivod stlaceného vzduchu pred
pripojenim pneumatického nastroje.

@ P

POZOR! Obrazky v tomto navodu jsou ilustracni.
V nékterych detailech se od skute¢ného vzhledu
stroje mohou liit.
Originalnim navodem je némecka verze navodu. Ostatni
jazykové verze jsou prekladem z némeckého jazyka.

2. BEZPECNOST POUZIVANI
POZNAMKA! Prettéte si tento navod véetné viech
bezpecnostnich pokynl. NedodrZovani navodu
a pokynd muze vést k Grazu elektrickym proudem,
pozéru anebo tézkému drazu ¢i smrti.
Pojem ,zafizeni" nebo ,vyrobek” v bezpecnostnich
pokynech a néavodu se vztahuje na <Bezolejovy
kompresor>.

Zafizeni nepouzivejte v prostiedi s velmi vysokou vlhkosti /
v pfimé blizkosti nadrzi s vodou! Zafizeni nenoite do vody.
Hrozi nebezpedi Urazu elektrickym proudem! Nezakryvejte
vstupni a vystupni otvory vzduchu!

2.1. ELEKTRICKA BEZPECNOST

a) Dana zasuvka musi byt se zastrckou zafizeni
kompatibilni.  Zastr¢cku ~ Zédnym  zplsobem
neupravujte. Originalni zastrcky a prislusné zasuvky
snizuji nebezpedi trazu elektrickym proudem.

b)  Nedotykejte se uzemnénych predmétd jako jsou
trubky, topidla, kamna a chladnicky. Pokud je
zafizeni uzemnéno, existuje zvysené nebezpedi Urazu
elektrickym proudem v nasledku pulsobeni desté,
mokrého povrchu a prace se zafizenim ve vihkém
prostredi. Proniknuti vody do zafizeni zvySuje nebezpeci
jeho poskozeni a Urazu elektrickym proudem.

o) Zarizeni se nedotykejte mokryma nebo vlhkyma
rukama.

d) Napajeci kabel nepouzivejte na jiné ucely, nez na které
je uréen. Nikdy jej nepouzivejte k pfenaseni zafizeni
nebo k vytahovani zastrcky ze sitové zasuvky. Drzte jej
mimo dosah tepla, oleje, ostrych hran nebo rotujicich
dilli. Poskozené nebo zamotané elektrické napéjeci
kabely zvy3uji nebezpeci Grazu elektrickym proudem.

e) Pfi praci se zafizenim venku pouzivejte prodluzovaci
kabely pro venkovni pouziti. Pouziti vhodného
prodluzovaciho kabelu snizuje nebezpeci Urazu
elektrickym proudem.

f) Pokud neni mozné vyhnout se praci se zafizenim
ve vlhkém prostredi, pouZzivejte pfi tom proudovy
chrani¢ (RCD). Pouzivani RCD snizuje nebezpeci Urazu
elektrickym proudem.

9) Je zakadzdno pouzivat zarizeni, pokud je napajeci
kabel poskozeny nebo mé zjevné zndmky opotrebeni.
Poskozeny napdjeci kabel musi byt vyménén
kvalifikovanym  elektrikdfem nebo v servisnim
stfedisku vyrobce.

h)  Aby nedoslo k zasazeni elektrickym proudem, nesmite
kabel, zéstrcku ani samotné zafizeni ponorovat do
vody nebo jiné tekutiny. Je zakazano pouzivat zafizeni
na mokrém povrchu.

2.2. BEZPECNOST NA PRACOVISTI

a) Na pracovisti udrzujte poradek a méjte dobré
osvétleni. Neporadek nebo Spatné osvétleni mohou
vést k Urazdm. Budte predvidavi a sledujte, co se
béhem prace kolem vas déje. Pfi préci se zafizenim
vzdy zachovavejte zdravy rozum.

b)  Se zafizenim nepracujte ve vybusném prostredi,
napriklad v pritomnosti hoflavych kapalin, plynt nebo
prachu. Zafizeni vytvari jiskreni, skrze které muze dojit
ke vzniceni prachu nebo vypard.

o) Pokud zjistite, Ze zafizeni nepracuje spravné, nebo
je poskozeno, ihned jej vypnéte a poruchu nahlaste
autorizované osobé.

d) Pokud mate pochybnosti o tom, zda zafizeni funguje
spravné, kontaktujte servis vyrobce.

e) Opravy zafizeni mize provadét pouze servis vyrobce.
Opravy neprovadéjte sami!

f) V pfipadé vzniku pozédru k haSeni zafizeni pod
napétim pouzivejte pouze praskové nebo snéhové
hasici pfistroje (CO,).

9) Na pracovisti se nesmi zdrzovat déti a nepovolané
osoby. (Nepozornost mize zpUsobit ztratu kontroly
nad zafizenim.)

h)  Zarizeni pouzivejte v dobre vétranych prostorach.

i) Tlakovou hadici pfipojujte a odpojujte pouze pokud je
vzduchovy ventil uzavren.

) Tlakovou hadici nesmérujte na sebe, jiné osoby nebo
zvirata.

k) Privod stlateného vzduchu nezavirejte mackanim
nebo zalomenim tlakovych hadic.

l) Je treba pravidelné kontrolovat stav etiket s
bezpecnostnimi informacemi. V pfipadé, Ze jsou
necitelné, je tfeba etikety vyménit.)

m)  Navod k obsluze uschovejte za Gcelem jeho
pozdéjsiho pouziti. V pfipadé predani zafizeni tretim
osobam musi byt spolu se zafizenim predan rovnéz
navod k obsluze.

n) Obalovy materidl a drobné montazni prvky
uchovavejte na misté nedostupném pro déti.

o) Zarizeni méjte v dostatecné vzdalenosti od déti
a zvifat.

p) Pokud spoleéné s timto nastrojem pouzivate néjaké
dalsi néradi, pak musite dodrzovat také jeho navod k
pouziti.

q)  Zajistéte dostatecné vétrani na pracovisti. Plyny
zpracovavané zafizenim mohou vytlacovat dychatelny
vzduch.

r) Na pracovisti zafizeni existuje riziko vdechnuti
skodlivych plynti nebo par.

PAMATUJTE! Pii praci se zafizenim chrante déti
a jiné nepovolané osoby.

2.3. OSOBNi BEZPECNOST

a) Zafizeni nepouZzivejte, jste-li unaveni nebo pod vlivem
drog, alkoholu nebo 1ékd, které vyznamné snizuji
schopnost zarizeni ovladat.

b) Zafizeni neni uréeno k tomu, aby jej pouzivaly osoby
(véetné déti) s omezenymi psychickymi, smyslovymi
nebo dusevnimi schopnostmi nebo osoby bez
pfislusnych zkusenosti anebo znalosti, ledazZe jsou pod
dohledem osoby zodpovédné za jejich bezpecnost
nebo od ni obdrzely pokyny, jak zafizeni obsluhovat.

o) PFi praci se zafizenim bud'te pozorni, fidte se zdravym
rozumem. Chvilka nepozornosti pfi praci mize vést k
vaznému Urazu.

d) Pouzivejte osobni ochranné pom(cky vyzadované pro
praci se zafizenim, specifikované v bodé 1 vysvétlenim
symbol{i. Pouzivani vhodnych, atestovanych osobnich
ochrannych prostredk( snizuje nebezpedi trazu.

e) Zabrante nahodnému spusténi. Ujistéte se, ze je
spinac ve vypnuté poloze pred pfipojenim zafizeni k
napéjecimu zdroji.

f) Neprecenujte své schopnosti. Udrzujte stabilni postoj
a rovnovahu po celou dobu préace. To vam umozni
lépe ovladat zafizeni v neocekavanych situacich.

9) Stlaceny vzduch mlze zpUsobit tézky Graz.

h)  Zafizeni neni hracka. DohliZejte na déti, aby si nehraly
se zafizenim.

2.4. BEZPECNE POUZIVANI ZARIZEN{

a) Zafizeni nepretézujte. Pro dany ukol pouzivejte vzdy
spravny typ naradi. Spravné zvolené naradi lépe
a bezpecnéji provede praci, pro kterou bylo navrzeno.

b)  Zafizeni nepouzivejte, pokud spina¢ pro zapnuti
a vypnuti zafizeni nefunguje spravné. Zafizeni, které
nelze ovladat spinacem, je nebezpecné a musi byt
opraveno.

o) Pred kazdym sefizenim, cisténim a Gdrzbou odpojte
zafizeni od napéajeni. Toto bezpecnostni opatreni
snizuje nebezpeci ndhodného zapnuti.

20

Rev. 27.01.2022

Rev. 27.01.2022

21



CL

d)

V)

w)

X)

y)

aa)

Nepouzivana zafizeni uchovavejte mimo dosah déti
a osob, které nejsou seznameny se zafizenim nebo
navodem k obsluze. Zafizeni jsou nebezpecna v rukou
nezkusenych uzivatel(.

Zarizeni udrzujte v dobrém technickém stavu.
Kontrolujte pfed kazdou praci jeho celkovy stav
i jednotlivé dily a ujistéte se, Ze je vSe v dobrém stavu,
a uzivateli tak pfi praci se zafizenim nehrozi zadné
nebezpedi. V pfipadé, Ze zjistite poSkozeni, nechte
zafizeni opravit.

Udrzujte zafizeni mimo dosah déti.

Opravu a udrzbu zafizeni by mély provadét pouze
kvalifikované osoby za vyhradniho poufziti originalnich
nahradnich dili. Zajisti to bezpecné pouzivani zafizeni.
Pro zachovani navrzené mechanické integrity zafizeni
neodstranujte prfedem namontované kryty nebo
neuvolfujte Srouby.

Pri premistovani zafizeni z mista skladovani na misto
pouzivani berte v Gvahu pracovni zésady bezpecnosti
a ochrany zdravi v rdmci prenaseni bremena platné v
zemi, ve které se zafizeni pouziva.

Zabrante situaci, kdy se zapnuté zafizeni zastavi
vlivem velkého zatizeni. Mlze to zplsobit prehrati
hnacich soucasti a v nasledku poskozeni zafizeni.
Zapnuté zafizeni nenechavejte bez dozoru.
Pravidelné Cistéte zarizeni, aby nedoslo k trvalému
usazovani necistot.

Pouzivejte vyztuzené hadice, abyste komprimovali
stlaceny vzduch v mistech se zvySenym rizikem
mechanického poskozeni.

Zafizeni neprenasejte nebo nezavésujte za tlakovou
hadici.

Zafizeni nen hracka. Cisténi a Gdrzbu nesmi provadét
déti bez dohledu dospélé osoby.

Nezasahujte do zafizeni s cilem zménit jeho parametry
nebo konstrukci.

Udrzujte zafizeni mimo zdroje ohné a tepla.
Dodrzujte  mistni predpisy BOZP a predpisy
elektrickych zafizeni.

Nestoupejte na zafizeni ani jej nepouZzivejte jako
podpéru.

Pred kazdym pouZitim zkontrolujte systém stlaceného
vzduchu a elektrické komponenty, jestli nejsou
poskozené nebo netésni. Vadné soucasti musi byt
pred praci se zafizenim opraveny nebo vyménény.
Pravidelné kontrolujte, zda jsou viechny spojovaci
prvky fadné dotazeny.

Nékteré casti zafizeni mohou byt po vypnuti po
urcitou dobu horké.

Méjte prsty v bezpecné vzdalenosti od zafizeni, rychle
se pohybujici a horké ¢asti mohou zplsobit zranéni
nebo popaéleni.

Pokud zafizeni zacne znepokojivé vibrovat, zastavte
motor a okamzité zkontrolujte pficinu, vibrace
obvykle signalizuji chybu.

Pro snizeni rizika pozaru chrarite motor / skfift motoru
pred olejem, rozpoustédlem nebo nadmérnym
mazanim.

Nikdy neodstrarujte ani se nepokousejte sefidit
bezpecnostni ventil. Chrarite bezpecnostni ventil pred
natérem nebo usazeninami.

Nikdy se nepokousejte opravovat nebo upravovat
nadrz! Svarovani, vrtani nebo jakékoliv jiné Upravy
oslabi nadrz, coz zplsobi poskozeni v disledku
prasknuti nebo vybuchu. Opotifebované nebo
poskozené nadrze je nutné vymeénit.

bb)  Po ukonceni prace vzdy vypustte tekutinu z nadrze.
Nadrze rezavéji diky hromadéni vlhkosti, coz vede
k jejich oslabeni. Nadrz by méla byt pravidelné
vyprazdiovana a pravidelné kontrolovana na korozi.

cc) Pohyb stlaceného vzduchu mulze vifit Skodlivy
prach a necistoty. Pfi odstrafovani vihkosti nebo pri
expanzi kompresorového systému odstranujte vzduch
pomalu.

dd) Nestrikejte horlavé materidly v blizkosti otevieného
ohné, jisker nebo zhavych predmétd.

ee) Pii stfikani barvy, insekticidd nebo jinych horlavych
latek nekurte.

ff)  PFi stfikéni pouZivejte masku a ujistéte se, ze
pracovisté je dobre vétrané, aby nedoslo k ohrozeni
zdravi a pozaru.

gg) Na zafizeni nestfikejte barvu ani jiné stiikané materialy.
Umistéte zafizeni co nejdale od oblasti stfikani.

hh)  Pfi stfikani nebo cisténi rozpoustédly nebo toxickymi
chemikaliemi postupujte podle pokyn(i poskytnutych
vyrobcem chemikalii.

ii) Abyste se vyhnuli riziku tézkého popaleni, nikdy se
nedotykejte tlakového potrubi. Potrubi se béhem
pouzivani zafizeni velmi zahfiva.

i Hadice pouzité k pfipojeni k zafizeni by mély byt
vyztuzeny.

kk)  Pouzivejte pouze hadice a konektory, které vydrzi
maximalni tlak generovany zarizenim.

& POZNAMKA! | kdy? zafizeni bylo navrzeno tak, aby

bylo bezpecné, tedy ma vhodné bezpecnostni prvky,
tak i pres pouziti dodate¢né ochrany uzivatelem pfi
praci se zafizenim nadale existuje malé riziko Urazu
nebo poranéni. Doporucuje se zachovat opatrnost
a zdravy rozum pfi jeho pouzivani.

3. ZASADY POUZIVANI

Bezolejovy kompresor je uréen k zasobovani ostatnich
pneumatickych zafizeni a nastroji stlacenym vzduchem
bez olejovych znecisténi. Stlaceny vzduch z tohoto
zafizeni obsahuje vlhkost, v pfipadé potreby suchého
vzduchu nainstalujte vodni filtr nebo susicku vzduchu. Bez
potiebného prislusenstvi nemuze byt toto zarizeni pouzito
k privadéni vzduchu v kvalité vhodné pro dychani zZivych
bytosti.

Odpovédnost za veskeré 3kody vzniklé v dusledku
pouziti zafizeni v rozporu s uréenim nese uZzivatel.

3.1. POPIS ZARIZENI
MSW-0AC550-8L
MSW-0AC750-8L

MSW-0AC550-24L
MSW-0AC750-24L

Privod vzduchu

Tlakové potrubi

Rukojet’

Spina¢ ON/OFF

Indikator tlaku v nadrzi
Pojistny ventil

Zpétny ventil

Vypoustéci ventil vihkosti
Nadrz

10.  Regulator

11, Vystup vzduchu

12.  Ukazatel vystupniho tlaku

OONOUTA WN =

3.2. PRIPRAVA K PRACI

3.2.1. UMISTEN( ZARIZENI

Okolni teplota nesmi prekrocit 38°C. Zafizeni by nemélo
byt pouzivano pfi teplotach rovnych nebo nizsich nez 0°C,
protoze hromadéni vlhkosti v jeho nadrzi mGze zamrznout
a led mlze zablokovat a poskodit ventily. Zafizeni postavte
takovym zpusobem, aby byla zajisténa dobra cirkulace
vzduchu. Vzdalenost zafizeni od stény by neméla byt mensi
nez 10 cm. Zafizeni se musi nachézet daleko od jakéhokoli
horkého povrchu. Zafizeni vzdy pouZivejte na rovhomérném,
stabilnim, ¢istém a ohnivzdorném povrchu, mimo dosah déti
a osob s omezenymi psychickymi, smyslovymi a dusevnimi
funkcemi. Zafizeni umistéte takovym zplsobem, abyste
v kazdém okamziku méli ni¢im nezataraseny pfistup k
elektrické zasuvce. Ujistéte se, aby hodnoty proudu, kterym
je zafizeni napéajeno, byly shodné s Udaji uvedenymi na
technickém stitku zafizeni! Elektricka zasuvka, ke které bude
zafizeni pfipojeno, musi byt uzemnéna a pIné funkcni.

S timto zafizenim nepouzivejte adaptéry do elektrické
zasuvky! Elektricka instalace, ke které bude zafizeni
pfipojeno, musi byt vybavena pomalou pojistkou nebo
jisticem.

POZNAMKA: S timto vyrobkem nikdy nepouzivejte
prodluzovaci kabel. Misto prodluzovaciho kabelu pouZzijte
pridavnou vzduchovou hadici, abyste zabranili ztraté vykonu
a trvalému poskozeni motoru.

POZNAMKA: Neumistujte pfivod vzduchu do kompresoru
do blizkosti pary, stfikani barvy, piskovanych oblasti nebo
jinych zdroji kontaminace. Tyto necistoty poskodi motor
nebo ucpou filtr.

Preprava na pracovisti

Pfi prepravé zafizeni na misto vykonu prace pouZzivejte
drzadlo.

POZNAMKA: Nikdy nepouzivejte drzadlo k Gplnému
zvednuti zafizeni ze zemé u modelii s koly.

3.3. PRACE SE ZARIZENIM

Tlakovy spinac - ON / OFF - V poloze ON se kompresor
automaticky vypne, jakmile tlak v nadrzi dosahne
maximalniho nastaveného tlaku. V poloze OFF nebude
kompresor fungovat. Tento spina¢ by mél byt v poloze
OFF pfi pfipojovani nebo odpojovani napajeciho kabelu
z elektrické zasuvky nebo pfi vyméné pneumatickych
nastroj/zafizeni pfipojenych ke kompresoru.

POSTUP PRI SPUSTENI (plati pro modely MSW-0AC550-24L,
MSW-0AC750-24L)

POZOR! Nepfipojujte pneumatické naradi k vystupu vzduchu
ze zafizeni, dokud neni spusténi spravné dokonceno.

1. Otocenim knofliku regulatoru doprava otevrete proud
vzduchu.

2. Prepnéte prepina¢ do polohy OFF a pfipojte napéajeci
kabel.

oFF fA 777

3. Prepnéte prepina¢ do polohy ON a spustte zafizeni
na dobu 30 minut, abyste se ujistili, Ze jsou soucasti
spravné zasunuté.

4. Otocte knoflik regulatoru proti sméru hodinovych
rucicek. Zafizeni se naplni na maximalni tlak a poté se
vypne.

5. Otocenim ovladace ve sméru hodinovych ruci¢ek

odstranite vzduch. Zafizeni se restartuje pfi
nastaveném tlaku.

6. Otocenim knofliku regulatoru proti sméru hodinovych
rucicek uzavrete privod vzduchu a pfepnéte spinac do
polohy OFF.

7. Pripojte pneumaticky nastroj k vyvodu. Otocte
ovladacem ve sméru hodinovych rucicek. Prepnéte
spina¢ zarizeni do polohy ON, pro tlak vzduchu
do nédrze. Zafizeni se automaticky vypne, jakmile
dosahne maximalniho nastaveného tlaku.
POZNAMKA: P¥i piipojovani nebo odpojovani
napéjeciho kabelu z elektrické zasuvky se ujistéte, ze
je prepinac v poloze OFF.

POSTUP PRI SPUSTENI (plati pro modely MSW-0AC550-8L,
MSW-0AC750-8L)
POZOR! Nepfipojujte pneumatické naradi k vystupu vzduchu
ze zarizeni, dokud neni spusténi spravné dokonceno.
1. Prepnéte prepinac do polohy OFF a pfipojte napajeci
kabel.
ON

ore L2

2. Prepnéte prepina¢ do polohy ON a spustte zafizeni
na dobu 30 minut, abyste se ujistili, Ze jsou soucasti
spravné zasunuté.

3. Prepnéte spina¢ do polohy OFF a pripojte
pneumaticky nastroj k vystupu.

22

Rev. 27.01.2022

Rev. 27.01.2022

23



CL

MANUEL D'UTILISATION

FR

4. Prepnéte spinac zafizeni do polohy ON, pro tlak
vzduchu do néadrze.
POZNAMKA: Pfi piipojovani nebo odpojovani
napéjeciho kabelu z elektrické zasuvky se ujistéte, ze
je prepinac v poloze OFF.

VLHKOST VE STLACENEM VZDUCHU

Vlhkost ve stlaceném vzduchu kondenzuje. Pokud je hladina
vihkosti vysoka nebo pokud zafizeni pracuje dlouho, bude
se tato vlhkost hromadit v nadrZi. Pfi pourziti strikaci pistole
nebo piskovaci pistole bude voda pfenéasena z nadrze hadici
a pistol ve formé kapicek smichanych s rozprasovacim
materidlem. To zpUsobi skvrny pfi malovani, zejména pri
stfikani barev na bazi vody. V pfipadé piskovani to zplsobi
hromadéni pisku a ucpani pistole. Filtr ve vzduchovém
potrubi, ktery je umistén co nejblize pistole, pomuze tuto
vlhkost odstranit.

BEZPECNOSTNI VENTIL

Pojistny  ventil automaticky vypousti vzduch, pokud
tlak v nadrzi prekro¢i nastavené maximum. VAROVANI!
Neodstrariujte ani se nepokousejte sefidit bezpecnostni
ventil!

OVLADACI KNOFLIK (pouze modely MSW-0AC550-24L,

MSW-0AC750-24L)

Ovladaci knoflik reguluje tlak vzduchu pfivadéného do

vystupniho pneumatického nastroje.

. Chcete-li zvysit tlak vystupniho vzduchu, otocte
knoflik ve sméru hodinovych ruci¢ek. Po dosazeni
pozadovaného tlaku zajistéte maticemi.

. Chcete-li snizit tlak vystupniho vzduchu, otocte proti
sméru hodinovych rucicek.
. Chcete-li Uplné prerusit pfivod vzduchu, otocte

knoflik GpIné doleva, potom stisknéte tlacitko.

Zord

-
UKAZATEL TLAKU V NADRZI

Indikator ukazuje tlak v nadrzi, coz ukazuje, zda zafizeni
generuje tlak spravné.

TEPELNA POJISTKA PRETIZENI

POZOR! Kompresor je vybaven automatickou tepelnou
ochranou proti pretizeni, kterd zastavi motor v pfipadé
prehfati. Pokud ochrana proti tepelnému pretizeni casto
vypind motor, hledejte nasledujici priciny:

1. Nizké napéti

2. Vzduchovy filtr je ucpany

3. Nedostatek odpovidajici ventilace

POZOR! Pokud ochrana proti tepelnému pretizeni funguije,
musi motor pred spusténim vychladnout. Pokud je zafizeni
zapnuté a pripojeno k elektrické zasuvce, motor se
automaticky restartuje bez varovani.

3.4. CISTENI A UDRZBA

POZOR! Pfed (isténim, opravou, prepravou nebo
provadénim jakékoliv Gdrzby odpojte zafizeni od napajeni,
poté uvolnéte veskery tlak ze systému a nechte zarizeni
vychladnout.

a) K cisténi povrchu zafizeni pouzivejte vyhradné
prostredky neobsahujici Ziravé latky.

b) Po kazdém cisténi je nutno vsechny prvky dobre
osusit, nez bude zafizeni opét poufzito.

o) Je zakazano zafizeni polévat vodou nebo je do vody
ponofovat.

d) Davejte pozor, aby se ventilacnimi otvory nachézejicimi
se na krytu zafizeni nedostala dovnitf voda.

e) Ventilacni otvory Cistéte pomoci stétecku a stlaceného
vzduchu.

f) Pravidelné provadéjte revize zafizeni a kontrolujte,
zda je technicky zpUsobilé a neni poskozeno.

9) K ¢isténi pouzivejte mékky hadrik.

UDRZBA

Jednou tydné:

1. Vypustte vlhkost z nadrze otevienim vypoustéciho
ventilu pod nadrzi. Jinak miize nadrz korodovat.

2. Odstrante prach a necistoty z motoru, nadrze
a vzduchovych hadic i z Zeber pro prenos tepla ze
zafizeni.

MAZANI

Bezolejové kompresory nevyzaduji mazani.

SKLADOVANI

1. Pred uskladnénim vyprazdnéte nadobu na vihkost.

2. Odpojte hadici a zavéste oteviené konce doll, aby
mohla vytékat vihkost.

3. Zarizeni skladujte na suchém a chladném misté,

chranéném proti vihkosti a pfimému slune¢nimu svitu.
Pokud nemUzete zabranit skladovani zafizeni pfi teploté
rovné nebo nizsi nez 0°C, ujistéte se, Ze je zafizeni bez
vlhkosti a vysuseno.

DETAILS TECHNIQUES

Description des
parameétres

Nom du produit
Modele

Tension nominale [V~]/
Fréquence [Hz]

Puissance nominale [W]
Nombre de pistons

Capacité du réservoir [I]
Temps de remplissage

Vitesse de rotation
[tours/min]

Débit d'air [I/min]
Pression maximale [bar]

Niveau de pression
sonore LpA [dB(A)]

Niveau de puissance
acoustique L, [dB(A)]

Température maximale
de fonctionnement [°C]

Température de foncti-
onnement minimale [°C]

Dimensions [mm]
Poids [kg]

Nom du produit
Modeéle

Tension nominale [V~]/
Fréquence [Hz]

Puissance nominale [W]
Nombre de pistons

Capacité du réservoir [I]
Temps de remplissage

Vitesse de rotation
[tours/min]

Débit d'air [I/min]
Pression maximale [bar]

Niveau de pression
sonore LpA [dB(A)]

Niveau de puissance
acoustique L, [dB(A)]

Température maximale
de fonctionnement [°C]

Température de foncti-
onnement minimale [°C]

Valeur des parametres

Compresseur sans huile

MSW- MSW-
0AC550-8L 0AC750-8L
230/50
550 750
2
8
Tmin 20sec Tmin 5sec
1.450
104 126
8
76,2
78
+40
-10

500x190x470  495x190x510
164 18,5

Compresseur sans huile

MSW- MSW-
0AC550-24L  0AC750-24L
230/50

550 750
2
24
2min 30 sec 2min 35sec

1.450

104 126

76,2

78

+40

-10

Dimensions [mm] 575x305x535  580x305x558

Poids [kg] 20,8 22,5

1. DESCRIPTION GENERALE

L'objectif du présent manuel est de favoriser une utilisation
sécuritaire et fiable de I'appareil. Le produit a été congu
et fabriqué en respectant étroitement les directives
techniques applicables et en utilisant les technologies et
composants les plus modernes. Il est conforme aux normes
de qualité les plus élevées.

LISEZ ATTENTIVEMENT LE PRESENT MANUEL ET
ASSUREZ-VOUS DE BIEN LE COMPRENDRE AVANT
LA PREMIERE UTILISATION.

Afin de garantir le fonctionnement fiable et durable de
I'appareil, il est nécessaire d'utiliser et d'entretenir ce
dernier conformément aux consignes figurant dans le
présent manuel. Les caractéristiques et les spécifications
contenues dans ce document sont a jour. Le fabricant se
réserve le droit de procéder a des modifications a des fins
d’amélioration du produit. L'appareil a été mis au point et
fabriqué en tenant compte des progres techniques et de la
réduction de bruit afin de réduire au maximum les risques
liés aux émissions sonores.

SYMBOLES

c € Le produit est conforme aux normes de sécurité
en vigueur.

Respectez les consignes du manuel.
Collecte séparée.

ATTENTION !, AVERTISSEMENT ! et REMARQUE
attirent I'attention sur des circonstances
spécifiques (symboles d'avertissement généraux).

Portez une protection auditive.
Portez une protection oculaire.

ATTENTION ! Mise en garde liée a la tension
électrique !

ATTENTION ! Surfaces chaudes. Risque de
bralures !

ATTENTION! L'appareil peut s'allumer sans
avertissement.

Ne pas ouvrir I'alimentation en air comprimé
avant de brancher |'outil pneumatique.

@bk H>PO® B=®

REMARQUE! Les illustrations contenues dans le
présent manuel sont fournies a titre explicatif. Votre
appareil peut ne pas étre identique.
La version originale de ce manuel a été rédigée en
allemand. Toutes les autres versions sont des traductions
de I'allemand.

2. CONSIGNES DE SECURITE
ATTENTION! Veuillez lire attentivement toutes les
consignes de sécurité et toutes les instructions. Le
non-respect des instructions et des consignes de
sécurité peut entrainer des chocs électriques, des
incendies, des blessures graves ou la mort.

24

Rev. 27.01.2022

Rev. 27.01.2022

25



FR

FR

Les notions d'« appareil », de « machine » et de « produit
» figurant dans les descriptions et les consignes du manuel
se rapportent a/au < Compresseur sans huile >. N'utilisez
pas |'appareil dans des piéces ou le taux d’humidité est tres
élevé, ni a proximité immédiate de récipients d'eau ! Ne
mouillez pas I'appareil. Risque de chocs électriques ! Ne
couvrez pas les entrée et les sorties d'air !

2.1. SECURITE ELECTRIQUE

a)

b)

Q)
d)

e)

9)

h)

La fiche de I'appareil doit étre compatible avec la
prise électrique. Ne modifiez d'aucune fagon la fiche
électrique. L'utilisation de la fiche originale et d'une
prise électrique adaptée diminue les risques de chocs
électriques.

Evitez de toucher aux composants mis a la terre
comme les tuyaux, les radiateurs, les fours et
les réfrigérateurs. Le risque de chocs électriques
augmente lorsque votre corps est mis a la terre par
le biais de surfaces trempées et d'un environnement
humide. La pénétration d'eau dans l'appareil accroit le
risque de dommages et de chocs électriques.

Ne touchez pas I'appareil lorsque vos mains sont
humides ou mouillées.

N'utilisez pas le cable d'une maniére différant de son
usage prévu. Ne vous en servez jamais pour porter
I'appareil. Ne tirez pas sur le cable pour débrancher
I'appareil. Tenez le cable a I'écart de la chaleur, de
I'huile, des arétes vives et des pieces mobiles. Les
cables endommagés ou soudés augmentent le risque
de chocs électriques.

Lorsque vous travaillez a I'extérieur, utilisez une
rallonge électrique d'extérieur. L'utilisation d'une
rallonge d'extérieur diminue les risques de chocs
électriques.

Si vous n'avez d'autre choix que de vous servir de
I'appareil dans un environnement humide, utilisez
un dispositif différentiel a courant résiduel (DDR). Un
DDR réduit le risque de chocs électriques.

Il est interdit d'utiliser I'appareil si le cable
d‘alimentation est endommagé ou sl présente
des signes visibles d'usure. Le cable d'alimentation
endommagé doit étre remplacé par un électricien
qualifié ou le centre de service du fabricant.

Pour éviter tout risque d'électrocution, n'immergez
pas le céble, la prise ou I'appareil dans I'eau ou tout
autre liquide. N'utilisez pas I'appareil sur des surfaces
humides.

2.2. SECURITE AU POSTE DE TRAVAIL

a)

b)

d)

e)

Veillez a ce que votre poste de travail soit toujours
propre et bien éclairé. Le désordre ou un éclairage
insuffisant peuvent entrainer des accidents. Soyez
prévoyant, observez les opérations et faites preuve de
bon sens lorsque vous utilisez I'appareil.

N'utilisez pas I'appareil dans les zones a risque
d'explosion, par exemple a proximité de liquides,
de gaz ou de poussiéres inflammables. Certains
appareils peuvent produire des étincelles susceptibles
d'enflammer la poussiere et les vapeurs.

En cas de dommages ou de mauvais fonctionnement,
I'appareil doit étre mis hors tension immédiatement
et la situation doit étre rapportée a une personne
compétente.

En cas d'incertitude quant au fonctionnement correct
de I'appareil, contactez le service client du fabricant.
Seul le service du fabricant peut effectuer des
réparations. Ne tentez aucune réparation par vous-
méme !

f)

9)

m)

n)
0)

p)

)

En cas de feu ou d'incendie, utilisez uniquement des
extincteurs a poudre ou au dioxyde de carbone (CO,)
pour étouffer les flammes sur I'appareil.

Aucun enfant ni personne non autorisée ne doit se
trouver sur les lieux de travail. (Le non-respect de
cette consigne peut entrainer la perte de controle sur
I'appareil).

Utilisez I'équipement dans un endroit bien aéré.

La soupape doit étre fermée lors du branchement et
du débranchement de la conduite d'air comprimé.

Ne dirigez pas la conduite d'air comprimé vers vous,
vers d'autres personnes ou vers des animaux
N'interrompez pas I'alimentation en air en comprimant
ou en pliant les flexibles.

Vérifiez réguliérement I'état des autocollants portant
des informations de sécurité. S'ils deviennent illisibles,
remplacez-les.

Conservez le manuel d'utilisation afin de pouvoir
le consulter ultérieurement. En cas de cession de
I'appareil a un tiers, I'appareil doit impérativement
étre accompagné du manuel d'utilisation.

Tenez les éléments d'emballage et les pieces de
fixation de petit format hors de portée des enfants.
Tenez I'appareil hors de portée des enfants et des
animaux.

Lors de I'utilisation combinée de cet appareil avec
d‘autres outils, respectez également les consignes se
rapportant a ces outils.

Assurez une ventilation adéquate sur le lieu de travail
de l'appareil. Les gaz produits par I'appareil peuvent
déplacer l'air respirable.

Il'y a un risque d'inhalation de gaz ou de vapeurs
nocifs sur le lieu de travail de I'appareil.

REMARQUE! Veillez & ce que les enfants et les
personnes qui n'utilisent pas |'appareil soient en
sécurité durant le travail.

2.3. SECURITE DES PERSONNES

a)

b)

o]

€)

N'utilisez pas I'appareil lorsque vous étes fatigué, malade,
sous l'effet de drogues ou de médicaments et que cela
pourrait altérer votre capacité a utiliser 'appareil.

Cette machine n'est pas congue pour étre utilisée
par les personnes dont les facultés physiques,
sensorielles ou mentales sont limitées (enfants y
compris), ni par des personnes sans expérience
ou connaissances adéquates, a moins qu'elles se
trouvent sous la supervision et la protection d'une
personne responsable ou qu'une telle personne leur
ait transmis des consignes appropriées en lien avec
I'utilisation de la machine.

Soyez attentif et faites preuve de bon sens lors que
vous utilisez I'appareil. Un moment d'inattention
pendant le travail peut entrainer des blessures graves.
Utilisez I'équipement de protection individuel
approprié  pour lutilisation de  l'appareil,
conformément aux indications faites dans le tableau
des symboles, au point 1. L'utilisation de I'équipement
de protection individuel adéquat certifié réduit le
risque de blessures.

Afin de prévenir la mise en marche accidentelle de
I'appareil, assurez-vous que celui-ci est éteint et que
I'interrupteur se trouve sur arrét avant de procéder au
branchement.

Ne surestimez pas vos capacités. Adoptez toujours
une position de travail stable vous permettant de
garder ['équilibre. Vous aurez ainsi un meilleur
contrdle en cas de situations inattendues.

9)
h)

L'air comprimé peut provoquer des blessures graves
Cet appareil n'est pas un jouet. Les enfants doivent
demeurer sous la supervision d'un adulte afin qu'ils
ne jouent pas avec |'appareil.

2.4. UTILISATION SECURITAIRE DE L'APPAREIL

a)

b)

o]

d)

9)

h)

i)
k)
)

m)

n)

0)

p)

C)
o}

s)

1)

Ne faites pas surchauffer I'appareil. Utilisez les outils
appropriés pour l'usage que vous en faites. Le choix
d'appareils appropriés et I'utilisation soigneuse de
ceux-ci produisent de meilleurs résultats.

N'utilisez pas l'appareil si I'interrupteur MARCHE/
ARRET ne fonctionne pas correctement. Les appareils
qui ne peuvent pas étre controlés a l'aide d'un
interrupteur sont dangereux et doivent étre réparés.
Avant de procéder au nettoyage et a l'entretien
de l'appareil, débranchez-le. Une telle mesure
préventive réduit le risque de mise en marche
accidentelle de l'appareil.

Les outils qui ne sont pas en cours d'utilisation
doivent étre mis hors de portée des enfants et des
personnes qui ne connaissent ni l'appareil, ni le
manuel d'utilisation s'y rapportant. Entre les mains de
personnes inexpérimentées, ce genre d'appareils peut
représenter un danger.

Maintenez I'appareil en parfait état de marche. Avant
chaque utilisation, vérifiez I'absence de dommages en
général et au niveau des piéces mobiles (assurez-vous
qu'aucune piéce ni composant n'est cassé et vérifiez
que rien ne compromet le fonctionnement sécuritaire
de l'appareil). En cas de dommages, I'appareil doit
impérativement étre envoyé en réparation avant
d'étre utilisé de nouveau.

Tenez I'appareil hors de portée des enfants.

La réparation et I'entretien des appareils doivent étre
effectués uniquement par un personnel qualifié, a
I'aide de piéces de rechange d'origine. Cela garantit
la sécurité d'utilisation.

Pour garantir I'intégrité opérationnelle de I'appareil,
les couvercles et les vis posés a |'usine ne doivent pas
étre retirés.

Lors du transport, de I'installation et de I'utilisation de
I'appareil, respectez les dispositions d'hygiéne et de
sécurité en vigueur dans le pays d'utilisation.

Evitez de soumettre l'appareil & une charge excessive
entrainant son arrét. Cela peut causer une surchauffe des
composants d'entrainement et endommager I'appareil.
Ne laissez pas I'appareil fonctionner sans surveillance.
Nettoyez régulierement I'appareil pour en prévenir
I'encrassement.

Utilisez des flexibles renforcés pour comprimer
I'air sous pression dans les zones a risque élevé de
dommages mécaniques.

N'utilisez pas la conduite d'air comprimé pour
suspendre |'appareil.

Cet appareil n'est pas un jouet. Le nettoyage et
I'entretien ne doivent pas étre effectués par des
enfants, a moins qu'ils se trouvent sous la supervision
d'un adulte responsable.

Il est défendu de modifier I'appareil pour en changer
les paramétres ou la construction.

Gardez le produit a I'écart des sources de feu et de chaleur.
Suivre les réglementations locales en matiere de SST
et d'équipements électriques.

Ne montez pas sur l'appareil et ne l'utilisez pas
comme support.

Avant chaque utilisation, vérifiez que le systéme
a air comprimé et les composants électriques ne

u)

V)

X)

y)

z)

aa)

bb)

cc)

dd)

ee)

99)

hh)

ii)

Ji)l
kk)

présentent aucun signe de dommage ou de fuite.
Réparez ou remplacez les composants défectueux
avant d'utiliser I'appareil.

Vérifiez a intervalles réguliers que tous les éléments de
connexion sont correctement serrés.

Certaines parties de I'appareil peuvent étre chaudes
pendant un certain temps apres l'avoir éteint.

Gardez les doigts a I'écart de I'appareil en marche, les
pieces en mouvement rapides et chaudes peuvent
provoquer des blessures et/ou des brilures.
Sil'appareilcommenceavibrer de maniére perturbante,
arrétez le moteur et vérifier immédiatement la cause,
les vibrations sont généralement un signal de panne.
Pour réduire les risques d'incendie, protégez le moteur
/ le carter de moteur contre I'huile, les solvants ou une
lubrification excessive.

Ne jamais enlever ou essayer de régler la vanne de
sécurité. Protégez la vanne de sécurité contre la
peinture ou tout dépét.

Ne jamais essayer de réparer ou de modifier le
réservoirl Le soudage, le percage ou toute autre
modification affaiblit le réservoir et peut causer des
dommages dus a une fissure ou a une explosion. Il
est obligatoire de remplacer les réservoirs usés ou
endommagés.

Vidangez le liquide du réservoir apres chaque travail.
Les réservoirs rouillent en raison de |'accumulation
d'humidité, ce qui les affaiblit. Le réservoir doit étre
vidé régulierement et vérifié périodiquement s'il n'y
a pas de corrosion.

Le mouvement de I'air sous pression peut provoquer
la montée de poussiére et de saleté, qui peuvent étre
nocives. Eliminez lentement I'air lors de I'évacuation
de I'humidité ou de la décompression du circuit du
compresseur.

Ne pulvérisez pas de matériaux inflammables a
proximité d'une flamme nue, d'étincelles ou d'objets
incandescents.

Ne pas fumer lors de la pulvérisation de peinture,
d'insecticides ou d'autres substances inflammables.
Lors de la pulvérisation, utilisez un masque et assurez-
vous que le lieu de travail est bien ventilé afin de prévenir
les risques d'incendie et de danger pour la santé.

Ne dirigez pas la peinture ou tout autre produit
pulvérisé sur l'appareil. Placez I'appareil le plus loin
possible de la zone de pulvérisation.

Lors de la pulvérisation ou du nettoyage avec des
solvants ou des produits chimiques toxiques, suivez
les instructions fournies par le fabricant du produit
chimique.

Pour éviter le risque de brilures graves, ne touchez
Jjamais le tuyau sous pression. Le tuyau sous pression
devient tres chaud pendant l'utilisation.

Les tuyaux utilisés pour le raccordement a I'appareil
doivent étre renforcés.

Utilisez uniquement des flexibles et des connecteurs
capables de résister a la pression maximale générée
par l'appareil.

ATTENTION! Bien que l'appareil ait été concu en
accordant une attention spéciale a la sécurité et qu'il
comporte des dispositifs de protection, ainsi que des
caractéristiques de sécurité supplémentaires, il n'est
pas possible d'exclure entierement tout risque de
blessure lors de son utilisation. Nous recommandons
de faire preuve de prudence et de bon sens lorsque
vous utilisez I'appareil.

Rev. 27.01.2022

26

Rev. 27.01.2022

27



FR

3. CONDITIONS D'UTILISATION

Le compresseur sans huile est congu pour alimenter
d'autres équipements et outils pneumatiques avec de I'air
comprimé, exempt d'impureté d'huile. L'air comprimé de
cet appareil contient de I'humidité et si de I'air sec est
nécessaire, un filtre a eau ou un sécheur d'air doit étre
installé. Cet appareil ne peut pas étre utilisé pour fournir de
I'air d'une qualité adaptée a la respiration des étres vivants,
sans appareils supplémentaires appropriés.

L'utilisateur porte I'entiéere responsabilité pour
I'ensemble des dommages attribuables a un usage
inapproprié.

3.1. DESCRIPTION DE L'APPAREIL
MSW-0AC550-8L
MSW-0AC750-8L

MSW-0AC550-24L
MSW-0AC750-24L

Entrée d'air

Tuyau sous pression

Poignée

Interrupteur On/Off

Indicateur de pression du réservoir
Vanne de sécurité

Vanne anti-retour

Vanne d'évacuation d'humidité
Réservoir

10.  Régulateur

11. Sortie d'air

12.  Indicateur de pression de sortie

LONOUTAWN =

3.2. PREPARATION A L'UTILISATION

CHOIX DE L'EMPLACEMENT DE L'APPAREIL :

La température ambiante ne doit pas dépasser 38°C. Ne pas
utiliser I'appareil a une température inférieure ou égale a 0°C,
car I'humidité accumulée dans le réservoir de I'appareil peut
geler et la glace peut bloquer et endommager les vannes.
Positionnez I'appareil de sorte qu'une bonne circulation
d'air soit assurée. Vérifiez qu'un espace d'au moins 10 cm
est libre de chaque coété de l'appareil. Tenez I'appareil a
I'écart des surfaces chaudes. Utilisé toujours I'appareil sur
une surface plane, stable, propre, ininflammable et seche,
hors de portée des enfants et des personnes présentant des
capacités physiques, sensorielles ou mentales diminuées.
Placez l'appareil de sorte que la fiche soit accessible
en permanence et non couverte. Assurez-vous que
I'alimentation électrique correspond aux indications figurant
sur la plaque signalétique du produit. La prise électrique a
laquelle I'appareil sera branché doit étre reliée a la terre et
entiérement fonctionnelle. N'utilisez pas d'adaptateur de
prise électrique avec cet appareil! L'installation électrique
a laquelle I'appareil sera connecté doit étre équipée d'un
fusible retardé ou d'un disjoncteur.

ATTENTION: N'utilisez jamais de rallonge avec ce produit.
Utilisez un tuyau d'air supplémentaire au lieu d'une rallonge
pour éviter une perte de puissance et des dommages
irréversibles au moteur.

ATTENTION: Ne placez pas I'entrée d'air du compresseur
pres de vapeur, de peinture pulvérisée, de zones sablées ou
de toute autre source d'impuretés. Ces impuretés peuvent
endommager le moteur ou obstruer le filtre.

Transport sur le lieu de travail

Lors du transport de I'appareil sur le lieu de travail, utilisez la
poignée pour transporter I'appareil.

ATTENTION: Ne jamais utiliser la poignée pour soulever
complétement la machine du sol sur les modéles a roues.

3.3. UTILISATION DE L'APPAREIL

Interrupteur de pression - ON / OFF - En position ON, le
compresseur s'éteint automatiquement lorsque la pression
dans le réservoir atteint la pression maximum réglée. En
position OFF, le compresseur ne fonctionnera pas. Cet
interrupteur doit étre en position OFF lors du branchement
ou du débranchement du cordon d'alimentation de la prise
électrique ou lors du changement d'outils / d'appareils
pneumatiques branchés au compresseur.

PROCEDURE DE MISE EN MARCHE (s'applique aux modéles

MSW-0AC550-24L, MSW-0AC750-24L)

ATTENTION! Ne fixez pas d'outil pneumatique a la sortie

d‘air de l'appareil tant que la mise en marche n'est pas

correctement terminée.

1. Tournez la molette du régulateur complétement a
droite pour ouvrir le flux dair.

2. Mettez l'interrupteur en position OFF et branchez le
cordon d'alimentation.

ON

oFF f T2

3. Mettez linterrupteur en position ON et laissez
I'appareil sous tension pendant 30 minutes pour
assurer un rodage correct des pieces.

4. Tournez la molette du régulateur complétement dans
le sens inverse des aiguilles d'une montre. L'appareil
se remplit jusqu'a atteindre la pression maximale puis
s'éteint.

5. Tournez la molette du régulateur dans le sens des
aiguilles d'une montre pour évacuer l'air. L'appareil
redémarre a la pression définie.

6. Tournez la molette du régulateur dans le sens inverse
des aiguilles d'une montre pour couper |'alimentation
en air et réglez l'interrupteur sur OFF.

7. Fixez I'outil pneumatique a l'orifice de sortie. Tournez
la molette du régulateur dans le sens des aiguilles
d'une montre. Réglez l'interrupteur de l'appareil sur
ON afin de pomper I'air dans le réservoir. L'appareil
s'éteint automatiquement lorsqu'il atteint la pression
maximum définie.

ATTENTION: Assurez-vous que l'interrupteur est en
position OFF lorsque vous branchez ou débranchez le
cordon d'alimentation de la prise électrique.

PROCEDURE DE MISE EN MARCHE (s'applique aux modéles
MSW-0AC550-8L, MSW-0AC750-8L)

ATTENTION! Ne fixez pas d'outil pneumatique a la sortie
d'air de l'appareil tant que la mise en marche n'est pas
correctement terminée.

1. Mettez l'interrupteur en position OFF et branchez le
cordon d'alimentation.
ON
orr L2
2. Mettez linterrupteur en position ON et laissez

I'appareil sous tension pendant 30 minutes pour
assurer un rodage correct des pieces.

3. Mettez l'interrupteur en position OFF et branchez
I'outil pneumatique a I'orifice de sortie.

4. Réglez l'interrupteur de l'appareil sur ON afin de
pomper l'air dans le réservoir.
ATTENTION: Assurez-vous que l'interrupteur est en
position OFF lorsque vous branchez ou débranchez le
cordon d'alimentation de la prise électrique.

HUMIDITE DANS L'AIR COMPRIME

L'humidité dans I'air comprimé se condense. Lorsque le
niveau d'humidité est élevé ou que l'appareil fonctionne
pendant une longue période, cette humidité s'accumule
dans le réservoir. Lors de l'utilisation d'un pistolet de
pulvérisation de peinture ou d'un pistolet de sablage,
I'eau est transférée du réservoir a travers le tuyau jusqu'au
pistolet sous la forme de gouttelettes mélangées au produit
a pulvériser. Cela provoque des taches d'eau lorsque vous
peignez, en particulier lors de la pulvérisation de peintures
autres que celle a base d'eau. Dans le cas du sablage,
cela provoque I'accumulation du sable et I'obstruction du
pistolet. Un filtre placé aussi prés que possible du pistolet
dans le conduit d'air, aide a éliminer cette humidité.

VANNE DE SECURITE

La soupape de sécurité libére automatiquement de I'air si la
pression dans le réservoir dépasse le maximum défini.

MISE EN GARDE! Ne pas enlever ou essayer de régler la
vanne de sécurité!

MOLETTE DU REGULATEUR (modéles MSW-0AC550-24L,

MSW-0AC750-24L uniquement)

La molette du régulateur contrdle la pression d'air fournie a

I'outil pneumatique de sortie.

. Pour augmenter la pression d'air a la sortie, tournez
vers la droite. Apres avoir atteint la pression désirée,
verrouillez avec des écrous.

. Pour diminuer la pression d'air a la sortie, tournez vers
la gauche.

. Pour couper complétement le flux d'air, tournez
complétement vers la gauche, puis appuyez sur la
molette.

Zrrd

-
INDICATEUR DE PRESSION DU RESERVOIR
L'indicateur indique la pression dans le réservoir, indiquant si
|'appareil génére correctement la pression.

FUSIBLE DE SURCHARGE THERMIQUE

ATTENTION! Le compresseur est équipé d'une protection
automatique contre les surcharges thermiques qui arréte le
moteur en cas de surchauffe.

Si la protection contre les surcharges thermiques arréte
souvent le moteur, recherchez les raisons suivantes:

1. Basse tension
2. Filtre a air bouché
3. Ventilation inadéquate

ATTENTION! Sila protection contre les surcharges thermiques
fonctionne, le moteur doit refroidir avant de pouvoir étre
démarré. Le moteur redémarre automatiquement sans
avertissement si I'appareil reste allumé et branché sur une
prise électrique.

3.4. NETTOYAGE ET ENTRETIEN

ATTENTION! Débranchez I'appareil de I'alimentation

électrique, relachez toute la pression du circuit et laissez-le

refroidir avant de le nettoyer, le réparer, le transporter ou
pour tout entretien.

a) Pour nettoyer les différentes surfaces, n'utilisez que
des produits sans agents corrosifs.

b) Laissez bien sécher tous les composants aprés chaque
nettoyage avant de réutiliser I'appareil.

9] Il est interdit d'asperger I'appareil d'eau ou de
I'immerger dans I'eau.

d) Evitez que de l'eau ne pénétre a lintérieur de
I'appareil par I'intermédiaire des orifices de ventilation
du boitier.

e) Nettoyez les orifices de ventilation a l'aide d'un
pinceau et d'air comprimé.

f) Contrélez réguliérement I'appareil pour vous assurer
qu'il fonctionne correctement et ne présente aucun
dommage.

9) Utilisez un chiffon doux lors du nettoyage.

28

Rev. 27.01.2022

Rev. 27.01.2022

29



FR

ISTRUZIONI PER L'USO

I

ENTRETIEN

Une fois par semaine:

1. Evacuez I'humidité du réservoir en ouvrant la vanne
d'évacuation située sous le réservoir. Sinon, le
réservoir risque de se corroder.

2. Eliminez la poussiére et la saleté du moteur, du
réservoir et des flexibles pneumatiques, ainsi que des
lames de transfert de chaleur de I'appareil.

LUBRIFICATION
Les compresseurs sans huile ne nécessitent pas de
lubrification.

STOCKAGE
1. Videz le réservoir de I'numidité avant le stockage.
2. Débranchez le tuyau et suspendez les extrémités

ouvertes pour permettre a I'humidité de s'écouler.

3. Conservez I'appareil dans un endroit propre, frais et
sec, a l'abri de I'humidité et des rayons directs du
soleil.

Si vous ne pouvez pas éviter de stocker I'appareil a une

température égale ou inférieure a 0 °C, assurez-vous au

préalable qu'il est vidé de son humidité et que tous les
composants sont séchés.

DATI TECNICI

Parametri - Descrizione
Nome del prodotto

Modello

Tensione nominale
[V~]/Frequenza [Hz]

Potenza nominale [W]
Numero dei pistoni
Capacita del serbatoio [I]
Tempo di riempimento
Numero di giri
[giri/min]

Efficienza [I/min]
Pressione massima [bar]

Livello di pressione
sonora LpA [dB(A)]

Livello di potenza
sonora L, [dB(A)]

Temperatura massima
di funzionamento [°C]

Temperatura minima
di funzionamento [°C]

Dimensioni [mm]
Peso [kg]
Nome del prodotto

Modello

Tensione nominale
[V~]/Frequenza [Hz]

Potenza nominale [W]
Numero dei pistoni
Capacita del serbatoio [I]
Tempo di riempimento
Numero di giri
[giri/min]

Efficienza [I/min]
Pressione massima [bar]

Livello di pressione
sonora LpA [dB(A)]

Livello di potenza
sonora L, [dB(A)]

Temperatura massima
di funzionamento [°C]

Temperatura minima
di funzionamento [°C]

Parametri - Valore

Compressore senza olio

MSW- MSW-
0AC550-8L 0AC750-8L
230/50
550 750
2
8
1min 20sec Tmin 5sec
1.450
104 126
8
76,2
78
+40
-10

500x190x470  495x190x510
16,4 18,5

Compressore senza olio

MSW- MSW-
0AC550-24L  0AC750-24L
230/50
550 750
2
24

2min 30 sec 2min 35sec

1.450

104 126

76,2

78

+40

-10

Dimensioni [mm] 575x305x535 580x305x558
Peso [kg] 20,8 22,5

1. DESCRIZIONE GENERALE

Queste istruzioni sono intese come ausilio per un uso sicuro
e affidabile. Il prodotto é stato rigorosamente progettato
e realizzato secondo le direttive tecniche e l'utilizzo delle
tecnologie e componenti pit moderne e seguendo gli
standard di qualita piu elevati.

PRIMA DELLA MESSA IN FUNZIONE E NECESSARIO
AVER LETTO E COMPRESO LE ISTRUZIONI D’'USO.

Per un funzionamento duraturo e affidabile del dispositivo
assicurarsi di maneggiarlo e curarne la manutenzione
secondo le disposizioni presentate in questo manuale.
| dati e le specifiche tecniche indicati in questo manuale
sono attuali. Il fornitore si riserva il diritto di apportare
delle migliorie nel contesto del miglioramento dei
propri prodotti. L'apparecchiatura € stata progettata e
realizzata tenendo in considerazione il progresso tecnico
e la riduzione di rumore, in maniera tale da mantenere al
minimo i possibili rischi derivanti dalle emissioni di rumore.
SPIEGAZIONE DEI SIMBOLI

C € Il prodotto soddisfa le attuali norme di sicurezza.
Leggere attentamente le istruzioni.
Prodotto riciclabile.

ATTENZIONE o AVVERTENZA! o NOTA!
per richiamare |'attenzione su determinate
circostanze (indicazioni generali di avvertenza).

Indossare una protezione per I'udito.

Indossare una protezione per gli occhi.
ATTENZIONE! Pericolo di tensione elettrica!
ATTENZIONE! Superficie calda. Pericolo di ustione!

ATTENZIONE: Il dispositivo puo accendersi
senza preawviso.

Non accendere I'alimentazione di aria compressa
prima di aver collegato I'utensile pneumatico.

@ P HRPO® P =®

AVVERTENZA! Le immagini contenute in questo
manuale sono puramente indicative e potrebbero
differire dal prodotto.
Il manuale originale e stato scritto in tedesco. Le versioni in
altre lingue sono traduzioni dalla lingua tedesca.

2. SICUREZZA NELL'IMPIEGO
ATTENZIONE! Leggere le istruzioni d'uso e di
sicurezza. Non prestare attenzione alle avvertenze
e alle istruzioni pud condurre a shock elettrici,
incendi, gravi lesioni o addirittura al decesso.
Il termine "apparecchio” o "prodotto" nelle avvertenze e
descrizioni contenute nel manuale si riferisce alla/al <
Compressore senza olio >. Non utilizzare I'apparecchio
in ambienti con umidita molto elevata / nelle immediate
vicinanze di contenitori d'acqua! Non bagnare il dispositivo.
Rischio di scossa elettrical Non coprire le entrate e le uscite
dell'aria!

30

Rev. 27.01.2022

Rev. 27.01.2022

31



I

I

2.1. SICUREZZA ELETTRICA

a)

b)

o}
d)

e)

9)

h)

La spina del dispositivo deve essere compatibile con
la presa. Non cambiare la spina per alcun motivo. Le
spine e le prese originali riducono il rischio di scosse
elettriche.

Evitare che il dispositivo tocchi componenti collegati
a terra come tubi, radiatori, forni e frigoriferi. Il rischio
di scosse elettriche aumenta se il corpo viene messo
a terra su superfici umide o in un ambiente umido.
L'acqua che entra nel dispositivo aumenta il rischio di
danni e scosse elettriche.

Non toccare I'apparecchio con mani umide o bagnate.
Non utilizzare il cavo in modo improprio. Non
utilizzarlo  mai  per trasportare I'apparecchio
o rimuovere la spina. Tenere il cavo lontano da fonti
di calore, oli, bordi appuntiti e da parti in movimento.
| cavi danneggiati o saldati aumentano il rischio di
scosse elettriche.

Per I'utilizzo all'aperto scegliere solo dei cavi di
prolungamento specifici per I'uso in aree esterne.
L'uso di un cavo di prolunga per esterni riduce il
rischio di scosse elettriche.

Se non ¢ possibile evitare che il dispositivo venga
utilizzato in un ambiente umido, utilizzare un
interruttore differenziale. Un interruttore differenziale
riduce il rischio di scosse elettriche.

Si sconsiglia I'uso dell' apparecchio qualora il cavo
di alimentazione sia danneggiato o presenti segni
di usura. Il cavo di alimentazione danneggiato deve
essere sostituito da un elettricista qualificato o dal
servizio di assistenza del fabbricante.

Per evitare scosse elettriche, non immergere il cavo,
la spina o il dispositivo in acqua o altri liquidi. Non
utilizzare il dispositivo su superfici bagnate.

2.2. SICUREZZA SUL LAVORO

a)

b)

d)

e)

k)

Mantenere il posto di lavoro pulito e ben illuminato. Il
disordine o una scarsa illuminazione possono portare
a incidenti. Essere sempre prudenti, osservare che
cosa si sta facendo e utilizzare il buon senso quando
si adopera il dispositivo.

Non usare il dispositivo all'interno di luoghi altamente
combustibili, per esempio in presenza di liquidi, gas
o polveri infiammabili. Il dispositivo puo produrre
scintille in presenza di polvere o vapore infiammabili.
In presenza di un danno o un difetto, il dispositivo
deve subito essere spento e bisogna avvisare una
persona autorizzata.

Se non si e sicuri del corretto funzionamento del
dispositivo, rivolgersi al servizio assistenza del
fornitore.

Le riparazioni devono essere eseguite esclusivamente
dal servizio assistenza del produttore. Non eseguire le
riparazioni da soli!

In caso di incendio, utilizzare solo estintori a polvere
o ad anidride carbonica (CO,).

| bambini e le persone non autorizzate non devono
essere presenti sul posto di lavoro. (La disattenzione
puo causare la perdita del controllo sul dispositivo).
Utilizzare il dispositivo in una zona ben ventilata.

Il collegamento e scollegamento del condotto della
pressione deve avvenire con le ventole di areazione
chiuse.

Non rivolgere il tubo di pressione contro sé stessi,
altre persone o animali.

Non interrompere I'alimentazione dell'aria piegando
o schiacciando i tubi di pressione.

m)

n)
0)

p)

)

Controllare regolarmente lo stato delle etichette
informative di sicurezza. Se le etichette non sono ben
leggibili, devono essere sostituite.

Conservare le istruzioni d'uso per uso futuro. Nel caso
in cui il dispositivo venisse affidato a terzi, consegnare
anche queste istruzioni.

Tenere gli elementi di imballaggio e le piccole parti di
assemblaggio fuori dalla portata dei bambini.

Tenere il dispositivo fuori dalla portata dei bambini e
degli animali.

Durante I'impiego del dispositivo in contemporanea
con altri dispositivi, € consigliabile rispettare le altre
istruzioni d'uso.

E' necessario garantire un'adeguata ventilazione
nell'area di utilizzo dell'apparecchio. | gas trattati
dall'apparecchio possono creare soffocamento.
Sussiste il rischio di inalazione di gas o vapori nocivi
sul luogo di lavoro.

AVVERTENZA! Quando si lavora con questo
dispositivo, i bambini e le persone non coinvolte
devono essere protetti.

2.3. SICUREZZA PERSONALE

a)

o]

e)

9)
h)

Non é consentito I'uso del dispositivo in uno stato
di affaticamento, malattia, sotto l'influenza di alcol,
droghe o farmaci, se questi limitano la capacita di
utilizzare il dispositivo.

Questa macchina non € adatta per essere utilizzata
da persone, bambini compresi, con ridotte capacita
fisiche, sensoriali o mentali, cosi come da privi di
adeguata esperienza e/o conoscenze. Si fa eccezione
per coloro i quali siano sorvegliati da un responsabile
qualificato che si prenda carico della loro sicurezza e
abbia ricevuto istruzioni dettagliate al riguardo.
Prestare attenzione e usare il buon senso quando si
utilizza il dispositivo. Un momento di disattenzione
durante il lavoro puo causare gravi lesioni.

Utilizzare dispositivi di protezione individuale adeguati
quando si utilizza il dispositivo, conformemente alle
specifiche indicate nella spiegazione dei simboli al
punto 1. L'uso di dispositivi di protezione individuale
adeguati e certificati riduce il rischio di lesioni.

Per evitare avviamenti accidentali, prima di collegare
il dispositivo a una fonte di alimentazione assicurarsi
che questo sia spento.

Non sopravvalutare le proprie capacita. Mantenere
I'equilibrio durante il lavoro, in questo modo &
possibile controllare meglio il dispositivo in caso di
situazioni impreviste.

L'aria compressa puo causare gravi lesioni.

Questo dispositivo non e un giocattolo. | bambini
devono essere sorvegliati affinché non giochino con
il prodotto.

2.4.USO SICURO DEL DISPOSITIVO

a)

b)

o]

Non far surriscaldare il dispositivo. Utilizzare strumenti
appropriati. Dispositivi scelti correttamente e un
attento utilizzo degli stessi portano a risultati migliori.
Non utilizzare il dispositivo se l'interruttore ON/
OFF non funziona correttamente (non accendere
o spegnere il dispositivo). | dispositivi con
interruttore difettoso sono pericolosi quindi devono
essere riparati.

Scollegare I'unita dall'alimentazione prima di iniziare
l'impostazione, la pulizia e la manutenzione. Tale
misura preventiva riduce il rischio di attivazione
accidentale del dispositivo.

d)

9)

h)

)

k)

)

n)
0)

p)

)
)

s)

u)

v)

w)

X)

Gli strumenti inutilizzati devono essere tenuti fuori
dalla portata dei bambini e delle persone che non
hanno familiarita con il dispositivo e le istruzioni
d'uso. Nelle mani di persone inesperte, questo
dispositivo puo rappresentare un pericolo.
Mantenere il dispositivo in perfette condizioni. Prima
di ogni utilizzo, verificare che non vi siano danni
generali o danni alle parti mobili (frattura di parti
e componenti o altre condizioni che potrebbero
compromettere il funzionamento sicuro del prodotto).
In caso di danni, l'unita deve essere riparata prima
dell'uso.

Tenere il dispositivo fuori dalla portata dei bambini.
La riparazione e la manutenzione dell'attrezzatura
devono essere eseguite esclusivamente da personale
specializzato qualificato e con pezzi di ricambio
originali. Cio garantisce la sicurezza durante I'uso.

Per garantire lintegrita di  funzionamento
dell'apparecchio, i coperchi o le viti installati in
fabbrica non devono essere rimossi.

Quando si trasporta e si sposta |'apparecchiatura
dal luogo di deposito al luogo di utilizzo, i requisiti
di sicurezza e di igiene per la movimentazione
manuale devono essere rispettati per il paese in cui
I'apparecchiatura viene utilizzata.

Evitare situazioni in cui l'unita si arresta a causa di un
carico eccessivo durante il funzionamento. Cio puo
causare il surriscaldamento dei componenti e quindi
danni al dispositivo.

Non lasciare il dispositivo incustodito mentre € in uso.
Pulire regolarmente I'apparecchio in modo da evitare
I'accumulo di sporcizia.

Utilizzare tubi flessibili rinforzati per comprimere
I'aria compressa nelle zone ad alto rischio di danni
meccanici.

Non appendere il dispositivo per il cavo di pressione.
Questo apparecchio non & un giocattolo! La pulizia
e la manutenzione non devono essere eseguite da
bambini a meno che non siano sotto la supervisione
di un adulto.

E vietato intervenire sulla costruzione del dispositivo
per modificare i suoi parametri o la sua costruzione.
Tenere dispositivi lontano da fonti di fuoco e calore.
Attenersi alle norme locali in materia di salute,
sicurezza ed elettricita.

Non sostare sull'apparecchio e non utilizzarlo come
supporto.

Prima di ogni utilizzo verificare che I'impianto
di aria compressa e i componenti elettrici non
presentino segni di danni o perdite. Riparare
o sostituire i componenti difettosi prima di utilizzare
I'apparecchio.

Controllare ad intervalli regolari che tutti gli elementi
di collegamento siano serrati correttamente.

Dopo lo spegnimento dell'apparecchio alcuni
componenti possono rimanere caldi per un certo
periodo di tempo.

Tenere le dita lontane dall'apparecchio mentre esso
e in funzione, i componenti caldi e in movimento
possono causare lesioni e/o ustioni.

Se la macchina inizia a vibrare in modo anomalo,
occorre fermare il motore e verificare immediatamente
la causa. La vibrazione e solitamente un segnale di
malfunzionamento.

Per ridurre il rischio di incendio, occorre proteggere
motore e il suo alloggiamento da olio, solvente
o lubrificazione eccessiva.

z)

aa)

bb)

cC)

dd)

ee)

99)

hh)

ii)

kk)

AN

Non rimuovere o tentare mai di regolare la valvola
di sicurezza. Occorre proteggerla dalla vernice o da
eventuali incrostazioni.

Non tentare mai di riparare o modificare il serbatoio!
Saldatura, foratura o qualsiasi altra modifica potrebbe
indebolire il serbatoio, causando la possibilita di
danni a causa di rotture o esplosioni. E' obbligatorio
sostituire i serbatoi usurati o danneggiati.

Rimuovere il liquido dal serbatoio dopo ogni utilizzo.
| serbatoi si arrugginiscono a causa dell'accumulo
di umidita, che porta ad un loro indebolimento.
Svuotare regolarmente il serbatoio e controllare
periodicamente la presenza di corrosione.

il movimento dell'aria pressurizzata puo dar luogo
a polvere e sporcizia, che possono essere dannosi.
Rimuovere lentamente l'aria durante I'evacuazione
dellumidita o [I'espansione del sistema di
compressione.

Non spruzzare materiali infiammabili in prossimita di
fiamme libere, detriti o oggetti incandescenti.

Non fumare durante la spruzzatura di vernici,
insetticidi o altre sostanze infiammabili.

Durante le operazioni di spruzzatura utilizzare una
maschera e garantire un'adeguata ventilazione del
luogo di lavoro per prevenire i rischi per la salute e gli
incendi.

Non puntare la vernice o altri materiali spruzzati
sull'apparecchiatura. Posizionare I'apparecchio il pit
lontano possibile dall'area di spruzzatura.

Durante le operazioni di spruzzatura o pulizia con
solventi o sostanze chimiche tossiche, seguire le
istruzioni fornite dal produttore chimico.

Per evitare il rischio di gravi ustioni, non toccare mai il
tubo di pressione. Il tubo di pressione si riscalda molto
durante I'uso.
| tubi flessibili utilizzati per il collegamento
all'apparecchio devono essere rinforzati.

Utilizzare solo tubi e raccordi in grado di sopportare la
pressione massima generata dall'apparecchio.

ATTENZIONE! Anche se [lapparecchiatura ¢
stata progettata per essere sicura, sono presenti
degli ulteriori meccanismi di sicurezza. Malgrado
I'applicazione di queste misure supplementari di
sicurezza sussiste comunque il rischio di ferirsi. Si
raccomanda inoltre di usare cautela e buon senso.

3. CONDIZIONI D'USO

Il compressore senza olio & progettato per alimentare altri
dispositivi e utensili pneumatici mediante aria compressa,
priva di contaminazione da olio. L'aria compressa
proveniente dall'apparecchio contiene umidita e, in caso se
€ necessaria aria secca, occorre installare un filtro dell'acqua
o un essiccatore dell'aria. Questo apparecchio non pud
fornire una qualita dell'aria adatta alla respirazione di esseri
viventi senza un'adeguata attrezzatura supplementare.
L'operatore é responsabile di tutti i danni derivanti da
un uso improprio.

___________________________________________________________________________________________________________________________________________|
Rev. 27.01.2022

32

Rev. 27.01.2022

33



I

I

3.1. DESCRIZIONE DEL DISPOSITIVO
MSW-0AC550-8L
MSW-0AC750-8L

MSW-0AC550-24L
MSW-0AC750-24L

Ingresso aria

Tubo di pressione

Impugnatura

Interruttore ON/OFF

Indicatore di pressione del serbatoio
Valvola di sicurezza

Valvola di ritegno

Valvola di scarico umidita
Serbatoio

10.  Regolatore

11, Uscita aria

12.  Indicatore di pressione in uscita

3.2. PREPARAZIONE AL FUNZIONAMENTO
POSIZIONAMENTO DEL DISPOSITIVO:

La temperatura ambiente non deve superare i 38°C.
Non utilizzare I'apparecchio ad una temperatura pari
o inferiore a 0°C, poiché I'umidita presente nel serbatoio
dell'apparecchio potrebbe congelare e il ghiaccio potrebbe
bloccare e danneggiare le valvole.

Posizionare I'apparecchio in modo da garantire una buona
circolazione dell'aria. Garantire una distanza di almeno 45
cm tra il dispositivo e altri apparecchi o strutture circostanti.
Tenere il dispositivo lontano da fonti di calore. Il dispositivo
va sempre utilizzato su una superficie piana, stabile, pulita,
ignifuga e asciutta, lontano dalla portata dei bambini e di
persone con capacita psichiche, sensoriali e mentali ridotte.

1.
2.
3.
4.
5.
6.
7.
8.
9.

Posizionare il dispositivo in modo che la spina sia
facilmente accessibile e non risulti ostruita. Assicurarsi che
I'alimentazione corrisponda a quella indicata sul quadro
tecnico del prodotto. La presa elettrica alla quale sara
collegata la macchina deve essere adeguatamente messa
a terra e deve funzionare correttamente. Non utilizzare
un adattatore di alimentazione con questo apparecchio!
L'impianto elettrico a cui & collegato l'apparecchio deve
essere dotato di un fusibile di ritardo o di un interruttore
automatico.

NOTA: non utilizzare mai una prolunga con questo prodotto.
Anziché la prolunga, utilizzare un tubo dell'aria aggiuntivo
in modo da evitare perdite di potenza e danni permanenti
al motore.

NOTA: non collocare l'ingresso dell'aria del compressore
in prossimita di vapore, vernice spray, aree sabbiate o altre
fonti di contaminazione. Queste sostanze contaminanti
danneggiano il motore o ostruiscono il filtro.

Trasporto sul posto di lavoro

Per il trasporta dell'apparecchio sul posto di lavoro, utilizzare
la maniglia per trasportare I'apparecchio.

ATTENZIONE: non utilizzare mai la maniglia per sollevare
completamente |'apparecchio dal suolo sui modelli dotati
di ruote.

3.3. LAVORARE CON IL DISPOSITIVO

Pressostato - ON / OFF - In posizione ON, il compressore
si spegne automaticamente quando la pressione del
serbatoio raggiunge la pressione massima impostata. In
posizione OFF, il compressore non funzionera. Questo
interruttore dovrebbe essere in posizione OFF al momento
di collegamento o scollegamento del cavo di alimentazione
dalla presa elettrica o quando si sostituiscono strumenti/
attrezzature pneumatiche collegate al compressore.

PROCEDURA DI AVVIAMENTO (applicabile ai modelli MSW-
0AC550-24L, MSW-0AC750-24L)
ATTENZIONE: non fissare gli utensili pneumatici all'uscita
dell'aria dell'apparecchio fino a quando I'avviamento non e
stato completato correttamente.

1. Ruotare completamente la manopola del regolatore
in senso orario per aprire il flusso d'aria.
2. Portare I'interruttore in posizione OFF e collegare il
cavo di alimentazione.
ON
oFF A LT?
3. Portare l'interruttore in posizione ON e accendere

l'unita per 30 minuti in modo da garantire la
sistemazione corretta delle parti.

4. Ruotare completamente la manopola del regolatore in
senso antiorario. L'unita si riempira fino a raggiungere
la pressione massima e poi si spegnera.

5. Ruotare la manopola del regolatore in senso orario
per scaricare l'aria. L'apparecchio si riavviera alla
pressione impostata.

6. Ruotare la manopola del regolatore in senso
antiorario per interrompere |'alimentazione dell‘aria e
portare l'interruttore in posizione OFF.

7. Fissare I'utensile pneumatico all'apertura di uscita.

Ruotare la manopola del regolatore in senso orario.
Portare I'interruttore in posizione ON per far entrare
I'aria all'interno del serbatoio. L'apparecchio si spegne
automaticamente al raggiungimento della pressione
massima impostata.
NOTA: Assicurarsi che l'interruttore sia in posizione
OFF al momento del collegamento o dello
scollegamento del cavo di alimentazione dalla presa
elettrica.

PROCEDURA DI AVVIAMENTO (applicabile ai modelli MSW-
0AC550-8L, MSW-0AC750-8L)

ATTENZIONE: non fissare gli utensili pneumatici all'uscita
dell'aria dell'apparecchio fino a quando I'avviamento non &
stato completato correttamente.

1. Portare l'interruttore in posizione OFF e collegare il
cavo di alimentazione.
ON
OFF Z g
2. Portare l'interruttore in posizione ON e accendere

l'unita per 30 minuti in modo da garantire la
sistemazione corretta delle parti.

3. Portare l'interruttore in posizione OFF e collegare
I'utensile pneumatico all'apertura di uscita.
4. Portare l'interruttore in posizione ON dell'unita per far

entrare |'aria all'interno dell'apparecchio.

NOTA: Assicurarsi che l'interruttore sia in posizione
OFF al momento del collegamento o dello
scollegamento del cavo di alimentazione dalla presa
elettrica.

UMIDITA NELL' ARIA COMPRESSA

L'umidita nell'aria compressa si condensa. Quando il livello di
umidita e elevato o quando |'apparecchio rimane in funzione
per un lungo periodo di tempo, I'umidita si accumula nel
serbatoio. Utilizzando una pistola a spruzzo o una pistola
a getto di sabbia, I'acqua sara trasportata dal serbatoio
attraverso il tubo flessibile e la pistola a spruzzo sotto forma
di gocce miscelate con il materiale di spruzzatura.

Questo causera macchie d'acqua durante la verniciatura,
specialmente quando si spruzzano vernici diverse che a base
d'acqua. In caso di sabbiatura, cio comporta I'accumulo di
sabbia e ostruzione della pistola. Un filtro di linea dell'aria
posizionato il pit vicino possibile alla pistola aiutera ad
eliminare 'umidita.

VALVOLA DI SICUREZZA

La valvola di sicurezza rilascia automaticamente l'aria se la
pressione nel serbatoio supera il valore massimo impostato.
ATTENZIONE! Non rimuovere o tentare di regolare la valvola
di sicurezza!

MANOPOLA DEL REGOLATORE (solo per i modelli MSW-
0AC550-24L, MSW-0AC750-24L)

La manopola del regolatore controlla la pressione dell'aria
fornita all'utensile pneumatico in uscita.

. Per aumentare la pressione dell'aria in uscita, ruotare
in senso orario. Una volta raggiunta la pressione
desiderata, bloccare con i dadi.

. Per abbassare la pressione dell'aria in uscita, girare
a sinistra.

. Per interrompere completamente il flusso d'aria,
ruotare completamente a sinistra, quindi premere la
manopola.

Il

-

INDICATORE DI PRESSIONE DEL SERBATOIO
L'indicatore mostra la pressione nel serbatoio, indicando se il
dispositivo sta generando pressione correttamente.

FUSIBILE TERMICO DI SOVRACCARICO

NOTA: Il compressore & dotato di una protezione termica
automatica che arresta il motore in caso di surriscaldamento.
Se la protezione termica da sovraccarico provoca spesso lo
spegnimento del motore, cercare i seguenti motivi:

1. Bassa tensione.

2. Filtro dell'aria ostruito.

3. Ventilazione inadeguata.

ATTENZIONE: Se viene attivata la protezione termica da
sovraccarico, il motore deve raffreddarsi prima di poter
essere riavviato. Il motore si riavvia automaticamente senza
preawviso se l'unita viene lasciata accesa e inserita in una
presa elettrica.

3.4. PULIZIA E MANUTENZIONE

ATTENZIONE: scollegare I'apparecchio dall'alimentazione

elettrica, quindi rilasciare tutta la pressione dal sistema e

lasciare raffreddare |'apparecchio prima di effettuare le

operazioni di pulizia, riparazione, trasporto o manutenzione.

a) Per pulire la superficie utilizzare solo detergenti senza
ingredienti corrosivi.

b) Dopo la pulizia, prima di riutilizzare I'apparecchio,
asciugare tutte le parti.

9] E vietato spruzzare il dispositivo con un getto d'acqua
o immergere il dispositivo in acqua.

d) Evitare che I'acqua entri nell'alloggiamento attraverso
le aperture di ventilazione.

e) Le aperture di ventilazione devono essere pulite con
una spazzola e aria compressa.

f) Effettuare controlli regolari del dispositivo per
mantenerlo efficiente e privo di danni.

9) Per la pulizia utilizzare un panno morbido.

CONSERVAZIONE

Una volta alla settimana:

1. Eliminare I'umidita dal serbatoio aprendo la valvola di
scarico sotto il serbatoio. In caso contrario, il serbatoio
potrebbe corrodersi.

2. rimuovere la polvere e lo sporco dal motore, dal
serbatoio, dai tubi pneumatici e dalle nervature di
trasferimento del calore dell'unita.

LUBRIFICAZIONE
| compressori senza olio non richiedono lubrificazione.

34

Rev. 27.01.2022

Rev. 27.01.2022

35



I

MANUAL DE INSTRUCCIONES

ES

STOCCAGGIO
1. Elimiare I'umidita dal serbatoio prima di riporlo.
2. Scollegare il tubo flessibile e appendere le estremita

aperte verso il basso per consentire all'umidita di
fuoriuscire da esse.
3. Tenere l|'apparecchio in un luogo asciutto, fresco,
protetto dall'umidita e dalla luce diretta del sole.
Nel caso sia necessario conservare |'apparecchio a 0°C
0 a temperature inferiori a 0°C, assicurarsi che esso sia stato
preventivamente svuotato dall' umidita e che tutte le parti
dell'apparecchio siano asciutte.

DATOS TECNICOS
Parametro - Descripcion
Nombre del producto

Modelo

Voltaje [V ~1/
Frecuencia [Hz]

Potencia nominal [W]
NUmero de pistones
Capacidad del deposito [I]
Tiempo de llenado

Velocidad de rotacion
[RPM]

Eficiencia [I/min]
Presion maxima [bar]

Nivel de presion
sonora LpA [dB(A)]

Nivel de potencia
sonora L, [dB(A)]

Temperatura maxima
de funcionamiento [°C]

Temperatura minima
de funcionamiento [°C]

Dimensiones [mm]
Peso [kg]
Nombre del producto

Modelo

Voltaje [V ~]/
Frecuencia [Hz]

Potencia nominal [W]
NUmero de pistones
Capacidad del deposito [I]
Tiempo de llenado

Velocidad de rotacion
[RPM]

Eficiencia [I/min]
Presion maxima [bar]

Nivel de presion
sonora LpA [dB(A)]

Nivel de potencia
sonora L, [dB(A)]

Temperatura maxima
de funcionamiento [°C]

Temperatura minima
de funcionamiento [°C]

Parametro - Valor

Compresor sin aceite

MSW- MSW-
0AC550-8L 0AC750-8L
230/50
550 750
2
8
Tmin 20sec Tmin 5sec
1450
104 126
8
76,2
78
+40
-10

500x190x470  495x190x510
16,4 18,5

Compresor sin aceite

MSW- MSW-
0AC550-24L  0AC750-24L
230/50
550 750
2
24

2min 30 sec 2min 35sec

1450

104 126

76,2

78

+40

-10

Dimensiones [mm] 575x305x535  580x305x558
Peso [kg] 20,8 22,5

1. DESCRIPCION GENERAL

Este manual ha sido elaborado para favorecer un empleo
seguro y fiable. El producto ha sido estrictamente disefiado
y fabricado conforme a las especificaciones técnicas y para
ello se han utilizado las Gltimas tecnologias y componentes,
manteniendo los mas altos estandares de calidad.

ANTES DE LA PUESTA EN FUNCIONAMIENTO,
LEA LAS INSTRUCCIONES MINUCIOSAMENTE Y
ASEGURESE DE COMPRENDERLAS.

Para garantizar un funcionamiento duradero y fiable del
aparato, el manejo y mantenimiento deben llevarse a cabo
de acuerdo con las instrucciones de este manual. Los
datos técnicos y las especificaciones de este manual estan
actualizados. El fabricante se reserva el derecho de realizar
modificaciones para mejorar la calidad. Teniendo en cuenta
los avances técnicos en materia de reduccion del ruido,
el equipo ha sido disefiado y fabricado para mantener el
riesgo de emisiones sonoras al nivel mas bajo posible.

EXPLICACION DE LOS SIMBOLOS

c € El producto cumple con las normas de
seguridad vigentes.

Respetar las instrucciones de uso.
Producto reciclable.

{ATENCION!, jADVERTENCIA! 0 jNOTA! para
llamar la atencion sobre ciertas circunstancias
(sefial general de advertencia).

Utilizar proteccion para los oidos.
Utilizar proteccién para los ojos.

JATENCION! jAdvertencia de tension eléctrical

I>PO@® B=®

jAtencion! jSuperficie caliente! jPeligro de
quemaduras!

{/ATENCION! El aparato puede encenderse sin avisar.

No active el flujo de aire comprimido antes de
conectar la herramienta neumética.

@B |

A jADVERTENCIA! En este manual se
incluyen fotos ilustrativas que podrian no coincidir
exactamente con la apariencia real del dispositivo.
El texto en aleman corresponde a la version original. Los textos
en otras lenguas son traducciones del original en aleman.

2. SEGURIDAD

A JATENCION!! Lea todas las instrucciones e
indicaciones de seguridad. La inobservancia de
las advertencias e instrucciones al respecto puede
provocar descargas eléctricas, incendios, lesiones
graves e incluso la muerte.

Conceptos como "aparato” o "producto” en las advertencias

y descripciones de este manual se refieren a < Compresor

sin aceite >. jNo utilizar el aparato en locales con humedad

muy elevada / en las inmediaciones de depdsitos de agua!

iNo permita que el aparato se moje! iPeligro de

electrocucion! jNo cubra las entradas ni las salidas de aire!

36

Rev. 27.01.2022

Rev. 27.01.2022

37



ES

ES

2.1. SEGURIDAD ELECTRICA

a)

b)

d)

e)

9)

h)

La clavija del aparato debe ser compatible con el
enchufe. No cambie la clavija bajo ningtn concepto.
Las clavijas originales y los enchufes apropiados
disminuyen el riesgo de descarga eléctrica.

Evite tocar componentes conectados a tierra como
tuberias, radiadores, hornos y refrigeradores. Existe un
mayor riesgo de descarga eléctrica si su cuerpo esta
conectado a tierra mediante superficies mojadas o en
ambientes himedos. Si entrara agua en el aparato
aumentaria el riesgo de dafios y descargas eléctricas.
No toque el dispositivo con las manos mojadas
o hiimedas.

No utilice el cable de manera inadecuada. Nunca tire
de él para desplazar el aparato o para desconectarlo
del enchufe. Por favor, mantenga el cable alejado
de bordes afilados, aceite, calor o aparatos en
movimiento. Los cables daflados o soldados
aumentan el riesgo de descargas eléctricas.

Cuando trabaje al aire libre, utilice un cable alargador
apto para exteriores. El uso de un cable alargador para
exteriores reduce el riesgo de descargas eléctricas.

En caso de no poder evitar que el aparato se emplee
en un entorno humedo, utilice un interruptor de
corriente residual (RCD). Con este RCD reduce el
peligro de descargas eléctricas.

No utilice el dispositivo si el cable de alimentacion
se encuentra dafiado o presenta signos evidentes de
desgaste. Los cables dafiados deben ser reemplazados
por un electricista o por el servicio del fabricante.
Para evitar electrocutarse, no se debe sumergir el
cable, los enchufes ni el propio aparato en agua
o en cualquier otro fluido. No utilizar el aparato en
superficies mojadas.

2.2. SEGURIDAD EN EL PUESTO DE TRABAJO

a)

b)

d)

e)

Mantenga el lugar de trabajo limpio y bien iluminado.
El desorden o la mala iluminacion pueden provocar
accidentes. Tenga cuidado, preste atencion al trabajo
que esta realizando y use el sentido comin cuando
utilice el dispositivo.

No utilice el aparato en atmosferas potencialmente
explosivas, p. ej., en la cercania de liquidos, gases
o polvo inflamables. Bajo determinadas circunstancias
los aparatos generan chispas que pueden inflamar
polvo o vapores circundantes.

En caso de averia o mal funcionamiento, apague el
aparato y contacte con el servicio técnico autorizado.
Si no estd seguro de que la unidad funcione
correctamente, pdngase en contacto con el servicio
técnico del fabricante.

Las reparaciones solo pueden ser realizadas por
el servicio técnico del fabricante. jNo realice
reparaciones por su cuenta!

En caso de incendio, utilice Unicamente extintores
de polvo o diéxido de carbono (CO,) para apagar el
aparato.

Se prohibe la presencia de nifios y personas no
autorizadas en el lugar de trabajo (la falta de atencion
puede llevar a la pérdida de control del equipo).
Utilice el equipo en un espacio bien ventilado.

El conducto de presion debe conectarse y
desconectarse solamente cuando la vélvula de aire
esté cerrada.

No apunte la salida de presién hacia usted ni hacia
otras personas o animales.

k)

m)

n)

0)

p)

)

A\

No interrumpa el suministro de aire comprimido
apretando o doblando las tuberias de presion.
Compruebe regularmente el estado de las etiquetas
de informacion de seguridad. Si las pegatinas fueran
ilegibles, habran de ser reemplazadas.

Conserve el manual de instrucciones para futuras
consultas. Este manual debe ser entregado a toda
persona que vaya a hacer uso del dispositivo.

Los elementos de embalaje y pequefias piezas de
montaje deben mantenerse alejados del alcance de
los nifios.

Mantenga el equipo alejado de nifios y animales.

Al utilizar este equipo junto con otros, también deben
observarse otras instrucciones de uso.

Garantice la ventilacion adecuada del lugar en el que
se trabaje con el aparato. Los gases producidos por el
aparato pueden suplantar el aire respirable.

En el lugar de trabajo existe el riesgo de inspirar gases
o vapores perjudiciales.

iADVERTENCIA! ! Los nifios y las personas no
autorizadas deben estar asegurados cuando
trabajen con esta unidad.

2.3. SEGURIDAD PERSONAL

a)

)

)

9)
h)

No estd permitido utilizar el aparato en estado de
fatiga, enfermedad, bajo la influencia del alcohol,
drogas o medicamentos, ya que estos limitan la
capacidad de manejo del aparato.

Esta maquina no debe ser utilizada por personas
(entre ellas nifios) con capacidades fisicas, sensoriales
o mentales reducidas, o con falta de la experiencia
y/o los conocimientos necesarios, a menos que
sean supervisadas por una persona responsable de
su seguridad o que hayan recibido de esta persona
responsable las indicaciones pertinentes en relacion
al manejo de la maquina.

Actle con precaucion y use el sentido comun cuando
maneje este producto. La mas breve falta de atencién
durante el trabajo puede causar lesiones graves.
Utilice el equipo de proteccion personal necesario
para el empleo de este dispositivo, de acuerdo con las
especificaciones del punto 1 de las explicaciones de los
simbolos. El uso de un equipo de proteccion personal
apropiado y certificado reduce el riesgo de lesiones.
Para evitar una puesta en marcha accidental,
asegurese de que el interruptor esté apagado antes
de conectar la clavija a una fuente de alimentacion.
No sobrestime sus habilidades. Mantenga el equilibrio
durante el trabajo. Esto le da un mejor control sobre el
dispositivo en caso de situaciones inesperadas.

El aire comprimido puede causar graves lesiones.
Este aparato no es un juguete. Debe controlar que los
nifios no jueguen con él.

2.4. MANEJO SEGURO DEL APARATO

a)

No permita que el aparato se sobrecaliente. Utilice
las herramientas apropiadas para cada trabajo.
Debe seleccionarse el aparato adecuado para cada
aplicacion y utilizarse conforme al fin para el que
ha sido diseflado, para conseguir asi los mejores
resultados.

No utilice la unidad si el interruptor ON/OFF no
funcionara correctamente (no enciende o apaga).
Los aparatos que no pueden ser controlados por
interruptores son peligrosos. Estos pueden y deben
ser reparados.

o]

d)

9)

h)

i)

k)

m)

n)

o)

p)

Q)

u)

v)

Antes de proceder a la limpieza, ajuste
o mantenimiento, desconecte el dispositivo del
suministro eléctrico. Esta medida preventiva reduce
el riesgo de que el dispositivo se ponga en marcha
accidentalmente.

Mantenga las herramientas fuera del alcance de los
nifios y de las personas que no estén familiarizadas
con el equipo en si o no hayan recibido las
instrucciones pertinentes al respecto. En manos de
personas inexpertas este equipo puede representar
un peligro.

Mantenga el aparato en perfecto estado de
funcionamiento. Antes de cada trabajo, compruébelo
en busca de dafos generales o de piezas moviles
(fractura de piezas y componentes u otras
condiciones que puedan perjudicar el funcionamiento
seguro de la maquina). En caso de dafios, el aparato
debe ser reparado antes de volver a ponerse en
funcionamiento.

Mantenga la unidad fuera del alcance de los nifios.
La reparacion y el mantenimiento de los equipos
solo pueden ser realizados por personal cualificado
y siempre empleando piezas de repuesto originales.
Esto garantiza la seguridad durante el uso.

A fin de asegurar la integridad operativa del
dispositivo, no se deben retirar las cubiertas o los
tornillos instalados de fabrica.

Al transportar o trasladar el equipo desde su lugar
de almacenamiento hasta su lugar de utilizacion, se
observaran los requisitos de seguridad e higiene para
la manipulacién manual en el pais en que se utilice el
equipo.

Evite situaciones en las que el aparato haya
de trabajar en exceso. Esto podria ocasionar el
sobrecalentamiento de sus componentes y, con ello,
dafos en el equipo.

No deje este equipo sin supervision mientras esté en
funcionamiento.

Limpie regularmente el dispositivo para evitar que la
suciedad se incruste permanentemente.

Utilice mangueras reforzadas para el aire comprimido
en zonas en las que el riesgo de dafios mecanicos sea
alto.

No mover el aparato tirando del conducto de presiéon
ni colgarlo de este.

Este aparato no es un juguete. La limpieza y el
mantenimiento no deben ser llevados a cabo por
niflos que no estén bajo la supervision de adultos.

Se prohibe realizar cambios en la construcciéon del
dispositivo para modificar sus parametros o disefio.
Mantenga el dispositivo alejado de fuentes de fuego
o calor.

Siga las normativas locales de seguridad y salud
laboral y las normativas sobre el uso de aparatos
eléctricos.

No se ponga de pie sobre el aparato y no lo use como
apoyo.

Antes de cada uso, compruebe que el sistema de aire
comprimido y los elementos eléctricos no tengan
signos de deterioro o fugas. Repare o recambie los
elementos defectuosos antes de empezar a trabajar
con el aparato.

Compruebe con frecuencia que todas las juntas estén
bien apretadas.

Hay partes del dispositivo que pueden permanecer
calientes un tiempo después de apagarlo.

y)

2)

aa)

bb)

cc)

dd)

ee)

99)

hh)

ii)

)
kk)

Aleje los dedos del aparato en funcionamiento, ya que
sus partes calientes y en movimiento rapido pueden
provocar lesiones y/o quemaduras.

Si el aparato empieza a vibrar de manera preocupante,
detenga el motor y compruebe la causa de inmediato.
Normalmente, la vibracion es sefial de averia..

Para reducir el riesgo de incendios, proteja el motor /
la carcasa del motor para que no contacte con aceites
y disolventes, y no lo lubrique en exceso.

Nunca retire o intente regular la valvula de seguridad.
Impida que la vélvula de seguridad contacte con
pinturas o sedimentos.

iNunca intente reparar o modificar el depdsito!
Soldar, taladrar o cualquier otra modificacion debilita
el depodsito, lo que genera la posibilidad de que
se fracture o explote. Es obligatorio recambiar los
depositos gastados o deteriorados.

Saque el liquido del depésito después de cada uso.
Los depdsitos se oxidan debido a la acumulacién de
humedad, lo que causa su deterioro. Vacie el depésito
con frecuencia y compruebe cada cierto tiempo que
no haya focos de corrosion.

El movimiento de aire bajo presién puede ocasionar
que el polvo y la contaminacion se levanten y resulten
perjudiciales. El aire se debe eliminar lentamente al
de retirar la humedad o descomprimir el sistema del
compresor.

No pulverice materiales inflamables cerca de una llama
abierta o de objetos chispeantes o incandescentes.
No genere llamas al pulverizar pinturas, insecticidas
u otras sustancias inflamables.

Al pulverizar, pdngase una mascara y garantice que
la ventilacién del lugar de trabajo sea adecuada para
prevenir incendios y riesgos para la salud.

No dirija al dispositivo pinturas ni otros materiales
rociados. Coloque el aparato lo mas lejos posible del
area de rociado.

Al rociar o limpiar con disolventes o productos
quimicos toxicos, siga las instrucciones proporcionadas
por el fabricante de estos.

Para evitar el riesgo de quemaduras severas, nunca
toque el tubo de compresién. El tubo de compresion
se calienta enormemente durante el uso.

Las mangueras utilizadas para conectarse al aparato
deben estar armadas.

Use Unicamente mangueras y conectores capaces de
aguantar la presion maxima generada por el aparato.

iATENCION! Aunque en la fabricacion de
este aparato se ha prestado gran importancia
a la seguridad, dispone de ciertos mecanismos de
proteccion extras. A pesar del uso de elementos de
seguridad adicionales, existe el riesgo de lesiones
durante el funcionamiento, por lo que se recomienda
proceder con precaucion y sentido comun.

3. INSTRUCCIONES DE USO

El compresor sin aceite esta indicado para alimentar aire
comprimido libre de aceite a otros aparatos y herramientas
neumaticos. El aire comprimido de este aparato contiene
humedad. Si necesita aire seco, instale un filtro de agua
o un secador de aire. Esta aparato no se puede usar para
suministrar aire respirable para los seres vivos sin los
dispositivos adicionales adecuados.

El usuario es responsable de los dafios derivados de un
uso inadecuado del aparato.

Rev. 27.01.2022

38

Rev. 27.01.2022

39



ES

3.1. DESCRIPCION DEL APARATO
MSW-0AC550-8L
MSW-0AC750-8L

MSW-0AC550-24L
MSW-0AC750-24L

Entrada de aire

Tubo de compresién

Mango

Conmutador ON/OFF
Indicador de presion en el depdsito
Vélvula de seguridad

Valvula de retencion

Valvula reductora de humedad
9. Depdsito

10.  Regulador

11.  Salida de aire

12.  Indicador de presion de salida

3.2. PREPARACION PARA LA PUESTA EN MARCHA
LUGAR DE TRABAJO:

La temperatura ambiente no puede superar los 38°C. El
aparato no debe usarse a una temperatura igual o menor
que 0°C, puesto que la humedad que se acumula en el
deposito se puede congelar. El hielo resultante puede
bloquear y dafiar las vélvulas. Instale el equipo teniendo en
cuenta que debe garantizarse una buena ventilacion. Para
ello hay que respetar una distancia perimetral minima de al
menos 10 cm. Mantenga el aparato alejado de superficies
calientes. El aparato se debe usar siempre en una superficie
plana, estable, limpia, ignifuga y seca, fuera del alcance de
los niflos y de personas con funciones psiquicas, mentales
y sensoriales limitadas. Ubique el aparato de modo que el
enchufe esté siempre accesible y donde nada pueda cubrirlo.
Asegurese de que las caracteristicas del suministro eléctrico
se corresponden con las indicaciones que aparecen en la

NV AWN =

placa de caracteristicas del articulo. La toma de corriente a la
que se conectara el dispositivo debe estar puesta a tierra y
encontrarse en pleno funcionamiento. jNo use adaptadores
de enchufes eléctricos con este aparato! La instalacion
eléctrica a la que se conecte el aparato debe estar equipada
con un fusible de retardo o un disyuntor.

ATENCION: Nunca use un alargador con este producto.
Utilice una manguera adicional en vez de un alargador para
evitar que se pierda potencia y que el motor sufra dafios
permanentes.

ATENCION: No coloque la entrada de aire del compresor
cerca de vapores, vaporizaciones de pinturas, dreas arenosas
u otras fuentes de contaminacion. Estos contaminantes
dafiaran el motor o atascaran el filtro.

Transporte al lugar de trabajo

Durante el transporte del aparato al lugar de trabajo, use el
mango indicado para ello.

ATENCION: Nunca use el mango para levantar el aparato del
suelo por completo si el modelo esta equipado con ruedas.

3.3. MANEJO DEL APARATO

Conmutador de presién ON/OFF - en posicion ON, el
compresor se apaga automaticamente cuando la presion del
deposito alcance la presion méaxima definida. En posicion
OFF, el compresor no funcionara. Este conmutador debe
mantenerse en posicion OFF al conectar o desconectar el
cable de alimentacion del enchufe eléctrico o al recambiar
las herramientas o dispositivos neumaticos conectados al
compresor.

PROCEDIMIENTO DE ARRANQUE (modelos MSW-0AC550-
241, MSW-0AC750-24L)

JATENCION! No ajuste herramientas neumaticas a la salida
de aire del aparato hasta que no haya finalizado el arranque.

1. Gire la perilla del regulador hacia la derecha hasta que
haga tope para abrir el flujo de aire.
2. Coloque el conmutador en posicion OFF y conecte el

cable de alimentacion.

oFF fd 72

3. Coloque el conmutador en posicion ON y arranque el
aparato durante 30 minutos para garantizar que las
piezas calienten adecuadamente.

4. Gire la perilla del regulador en el sentido contrario
a las agujas del reloj hasta que haga tope. El aparato
se llenard hasta alcanzar la presion maxima, y después
se apagara.

5. Gire la perilla del regulador en el sentido de las
agujas del reloj para sacar el aire. El aparato volvera
a encenderse a la presion definida.

6. Gire la perilla del regulador en el sentido contrario
de las agujas del reloj para cortar el flujo de aire y
coloque el conmutador en posicion OFF.

7. Ajuste la herramienta neumatica al orificio de salida.
Gire la perilla del regulador en el sentido de las
agujas del reloj. Coloque el conmutador del aparato
en posicion ON para que comprima aire hacia el
deposito. El aparato se apagara automaticamente
cuando alcance la méxima presion definida.

ATENCION: Aseglirese de que el conmutador esté en
posicion OFF durante la conexion o desconexion del
cable de alimentacion al enchufe.

PROCEDIMIENTO DE ARRANQUE (modelos MSW-0AC550-
8L, MSW-0AC750-8L)
J{ATENCION! No ajuste herramientas neuméticas a la salida
de aire del aparato hasta que no haya finalizado el arranque.
1. Coloque el conmutador en posicion OFF y conecte el
cable de alimentacion.
ON

orr L2

2. Coloque el conmutador en posicion ON y arranque el
aparato durante 30 minutos para garantizar que las
piezas calienten adecuadamente.

3. Coloque el conmutador en posicion OFF y conecte la
herramienta neumatica al orificio de entrada.

4. Coloque el conmutador del aparato en posicion ON
para que comprima aire hacia el depdsito.
ATENCION: Aseglirese de que el conmutador esté en
posicion OFF durante la conexion o desconexion del
cable de alimentacion al enchufe.

HUMEDAD EN EL AIRE COMPRIMIDO

La humedad en el aire comprimido se condensa. Cuando
el nivel de humedad sea alto o cuando el aparato haya
funcionado durante mucho tiempo, esta humedad se
acumulara en el deposito. Al usar la pistola de pulverizacion
de pintura o de enarenado, el agua se sacara del depdsito
a través de la manguera y la pistola en forma de gotas
mezcladas con el material pulverizado. Esto producira
manchas de agua al pintar, sobre todo cuando se usan
pinturas que no sean al agua. A la hora de enarenar, provoca
la sedimentacion de la arena y el bloqueo de la pistola. El
filtro del conducto de aire, que esta ubicado lo mas cerca
posible de la pistola, ayuda a eliminar esa humedad.

VALVULA DE SEGURIDAD

La valvula de seguridad libera aire automaticamente si la
presion del depdsito supera el maximo determinado.
jAVISO! iNo retire ni intente regular la valvula de seguridad!

PERILLA DEL REGULADOR (solo modelos MSW-0AC550-

24L, MSW-0AC750-24L)

La perilla del regulador controla la presion del aire

suministrado a la herramienta neumética de salida.

. Para incrementar la presion de aire de salid, girela
a la derecha. Después de alcanzar la presion deseada,
bloquéela con las tuercas.

. Para reducir la presion de aire de salid, girela a la
izquierda.

. Para cortar por completo el flujo de aire, girela a la
izquierda hasta que haga tope y después presione la
perilla.

2574

INDICADOR DE PRESION EN EL DEPOSITO

El indicador muestra la presion en el deposito y sefala si el
aparato produce la presion adecuada.

FUSIBLE TERMICO DE SOBRECARGA

JATENCION! El compresor esta equipado con un fusible
térmico automatico de sobrecarga que apaga el motor en
caso de sobrecalentamiento. Si el fusible de sobrecarga
térmica apaga el motor con frecuencia, la causa puede ser
una de las siguientes:

1. Tension baja
2. Filtro de aire atascado
3. Ventilacion inadecuada

JATENCION! Si el fusible térmico de sobrecarga se acciona, el
motor debe enfriarse hasta que sea posible volver a arrancarlo.
El motor arrancara automaticamente sin avisar si el aparato
permanece encendido y conectado a la red eléctrica.

3.4. LIMPIEZA'Y MANTENIMIENTO

{ATENCION! Desconecte el aparato de la red, libere toda

la presion del sistema y deje que el aparato se enfrie antes

de limpiarlo, transportarlo o realizar cualquier trabajo de

mantenimiento.

a) Para limpiar la superficie, utilice solo productos que
no contengan sustancias corrosivas.

b) Después de cada limpieza, deje secar bien todas las
piezas antes de volver a utilizar el aparato.

9] Prohibido rociar agua sobre el dispositivo o sumergirlo
en agua.

d) Evite que el agua se introduzca por los orificios de
ventilacién de la carcasa.

e) Las aberturas de ventilacién deben limpiarse con un
pincel y aire comprimido.

f) En lo que respecta a la eficiencia técnica y posibles
danos, el dispositivo debe ser revisado regularmente.

9) Por favor, utilice un pafo suave para la limpieza.

MANTENIMIENTO

Una vez a la semana:

1. Saque la humedad del deposito abriendo la valvula
reductora bajo el depodsito. De lo contrario, el
depdsito puede corroerse.

2. Elimine el polvo y la suciedad del motor, el depbsito,
las mangueras neuméticas y las aletas de transferencia
de calor del aparato.

LUBRICADO

Los compresores sin aceite no requieren lubricado.

ALMACENAMIENTO

1. Antes de almacenar el aparato, vacie el depdsito de
humedad.

2. Desconecte la manguera y cuelgue el extremo libre
hacia abajo para dejar que la humedad salga de ella.

3. Guarde el aparato en un lugar seco, fresco y protegido
de la humedad y la radiacion solar directa.

Si no puede evitar almacenar el aparato a una temperatura

igual o menor que 0°C, antes de hacerlo vacielo de humedad

y seque todos sus elementos.

40

Rev. 27.01.2022

Rev. 27.01.2022

41



MSUY

MOTOR TEGHNICS

MSUY

MOTOR TECHNICS

MONTAGEZEICHNUNGEN | ASSEMBLY DRAWINGS | RYSUNKI ZLOZENIOWE | VYKRES SESTAVEN(
SCHEMAS DE MONTAGE | DISEGNI PER L'ASSEMBLAGGIO | VISTAS EN DESPIECE

MSW-0AC550-8L
MSW-0AC750-8L

o v A wWwN

]

27
28
29
30
31
32
33
34
35
36
37

DE | BESCHREIBUNG
Schraube M5 x 25
Unterlegscheibe @5

Zylinderkopf
Luftfilter
Dichtung

Lufteinlassklemme

Ventilelement

Ventilplattenbauteil

Klemme
Ring ¢ 68,7 x ¢1,9
Zylinder ®64
Kolbenanschluss
Kolbenring
Pleuelstange
Kurbelgeh&duse
Lager 6203Z
Kurbel
Ventilator
Flexibler Ring @14
Abdeckung
Schraube ST3.3 x 8
Lager 6006Z
Statorbauteil
Rotor
Schraube M5 x 155
Schraube M6 x 16

Schraube M4 x 6
Schraube M4 x 8
Ring ¢ 13,8 x 1,9
Verbindungsrohr
Gebogenes Rohr
Kissen
M5 Mutter
Schraube M4 x 8
Kondensator
Kondensatorgehéduse

Kompressorrohr

EN | DESCRIPTION
Screw M5 x 25
Flat washer @5
Cylinder head

Air filter
Gasket

Air supply clamp

Valve component

Valve plate
subassembly

Clamp
Ring ¢ 68,7 x 92,5
Cylinder 64
Piston clip
Piston ring
Connecting rod
Crank case
Bearing 6203Z
Crank
Fan
Flexible ring @14
Cover
Screw ST3.3 x 8
Bearing 6006Z
Stator subassembly
Rotor
Screw M5 x 155
M6 x 16 screw

M4 x 6 screw
Screw M4 x 8
Ring ¢ 13,8 x 1,9
Connecting pipe
Elbow pipe
Cushion
M5 nut
Screw M4 x 8
Capacitor
Capacitor housing

Delivery pipe

PL| OPIS
Sruba M5 x 25
Podktadka ptaska @5
Gtowica cylindra
Filtr powietrza
Uszczelka

Zacisk doptywu powietrza

Element zaworu

Podzespot ptyty zaworu

Zacisk
Pierscien @ 68,7 x 92,5
Cylinder ®64
Zacisk ttoka
Pierécien ttoka
Korbowod
Skrzynia korbowa
tozysko 6203Z
Korba
Wentylator
Elastyczny pierécien @14
Pokrywa
Sruba ST3.3 x 8
tozysko 6006Z
Podzespot stojana
Wirnik
Sruba M5 x 155
Sruba M6 x 16

Sruba M4 x 6
Sruba M4 x 8
Pierscien ¢ 13,8 x 1,9
Rura taczaca
Rura zakrzywiona
Poduszka
Nakretka M5
Sruba M4 x 8
Kondensator
Obudowa kondensatora

Rura ttoczna

CZ | POPIS
Sroub M5 x 25
Plochéa podlozka @5
Hlava vélce
Vzduchovy filtr
Tésnéni

Svorka pro privod
vzduchu

Ventilovy prvek

Sada desky ventilu

Svorka
Krouzek ¢ 68,7 x 92,5
Valec 64
Trmen pistu
Pistni krouzek
Ojnice
Klikova skfin
Lozisko 6203Z
Klika
Vétrak
Pruzny krouzek @14
Viko
Sroub ST3.3 x 8
LoZisko 6006Z
Sestava stojanu
Pohéanéc
Sroub M5 x 155
Sroub M6 x 16

Sroub M4 x 6
Sroub M4 x 8
Krouzek ¢ 13,8 x ©1,9
Pfipojovaci potrubi
Zakfivené potrubi
Tlumici podlozka
Matice M5
Sroub M4 x 8
Kondenzétor
Kondenzatorové pouzdro

Tlakové potrubi

42

Rev. 27.01.2022

Rev. 27.01.2022

43



MSUY

MOTOR TEGHNICS

MSUY

MOTOR TECHNICS

38
39
40
41
42
43

45
46
47
48
49
50
51
52

o N oo A W

10
11
12
13
14
15
16
17
18
19
20
21
22

DE | BESCHREIBUNG
Riickschlagventil
Behalter
Versorgungsrohr
Sicherheitsventil
Druckschalter
Anschluss
Auslassanschluss
Rp1 Mutter
Manometer 50
Griff
M5 Mutter
FuB
Schraube M5 x 14
1/4 Zoll Ablassventil
Netzkabel

FR | DESCRIPTION
Boulon M5 x 25
Rondelle plate @5
Culasse
Filtre a air
Joint
Pince d'entrée d'air
Elément de vanne

Sous ensemble de la plaque de la
vanne

Pince
Bague ¢ 68,7 x 2,5
Cylindre ®64
Serre-piston
Anneau de piston
Bielle
Carter moteur
Roulement 6203Z
Vilebrequin
Ventilateur
Anneau flexible @14
Couvercle
Boulon ST3.3 x 8
Roulement 6006Z

Check valve

Supply pipe
Safety valve

Pressure switch

Outlet connector
Rp1/4 nut

Pressure gauge 50

Screw M5 x 14
4" drain valve

Power cord

Sottoinsieme di piasta della

EN | DESCRIPTION PL | OPIS

Zawor zwrotny
Zbiornik
Rura doprowadzajaca
Zawor bezpieczenstwa

Przetacznik cisnienia

Connector Ztacze

Ztacze wylotowe
Nakretka Rp1/ 4
Manometr 50
Uchwyt
Nakretka M5
Nozka
Sruba M5 x 14
Zawor spustowy 1/4 cala

Przewod zasilajacy

IT | DESCRIZIONE
Vite M5 x 25
Rondella piatta ¢5
Testa del cilindro
Filtro dell'aria

Guarnizione

Morsetto di ingresso dell'aria

Elemento della valvola

valvola
Morsetto
Anello ¢ 68,7 x ¢2,5
Cilindro ®64
Morsetto del pistone
Anello del pistone
Biella
Basamento
Cuscinetto 6203Z
Manovella
Ventilatore
Anello elastico @14
Coperchio
Vite ST3.3 x 8
Cuscinetto 6006Z

CZ | POPIS
Zpétny ventil
Néadrz
Privodni potrubi
Pojistny ventil
Tlakovy spinac
Konektor
Vystupni konektor
Matice Rp1/ 4
Tlakomér 50
Drzék
Matice M5
Nozicka
Sroub M5 x 14
Vypoustéci ventil % palce

Napajeci kabel

ES | DESCRIPCION
Tornillo M5 x 25
Arandela plana @5
Cabezal del cilindro
Filtro de aire

Junta

Terminal de flujo de aire
Elemento de la valvula

Componente de la placa de la

vélvula

Terminal

Anilla @ 68,7 x 92,5

Cilindro ®64
Terminal del pistén
Anilla del piston
Biela
Caja del cigtiefal
Cojinete 6203Z
Cigliefia
Ventilador
Anilla elastica @14
Tapa
Tornillo ST3.3 x 8
Cojinete 6006Z

23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43

45
46
47
48
49
50
51
52

FR | DESCRIPTION
Sous-ensemble de stator
Rotor
Boulon M5 x 155
Boulon M6 x 16
Boulon M4 x 6
Boulon M4 x 8
Bague ¢ 13,8 x ¢1,9
Tuyau de raccordement
Tuyau courbé
Coussin
Ecrou M5
Boulon M4 x 8
Condensateur
Boitier du condensateur
Tuyau sous pression
Vanne anti-retour
Réservoir
Tuyau d'entrée
Vanne de sécurité
Interrupteur de pression
Connecteur
Connecteur de sortie
Ecrou Rp1/ 4
Manométre 50
Poignée
Ecrou M5
Pied
Boulon M5 x 14
Vanne d'évacuation 1/4 pouce

Cordon d'alimentation

IT | DESCRIZIONE
Sottoinsieme statore
Rotore
Vite M5 x 155
Vite M6 x 16
Vite M4 x 6
Vite M4 x 8
Anello ¢ 13,8 x ¢1,9
Tubo di collegamento
Tubo curvo
Cuscino
Dado M5
Vite M4 x 8
Condensatore
Alloggiamento del condensatore
Tubo di pressione
Valvola di ritegno
Serbatoio
Tubo di alimentazione
Valvola di sicurezza
Pressostato
Connettore
Connettore di uscita
Dado Rp1/4
Manometro 50
Impugnatura
Dado M5
Piedino
Vite M5 x 14
Valvola di scarico da 1/4"

Cavo di alimentazione

ES | DESCRIPCION
Componente del estator
Rotor
Tornillo M5 x 155
Tornillo M6 x 16
Tornillo M4 x 6
Tornillo M4 x 8
Anilla ¢ 13,8 x ©1,9
Tubo de conexion
Tubo curvado
Almohadilla
Tuerca M5
Tornillo M4 x 8
Condensador
Carcasa del condensador
Tubo de compresion
Vélvula de retencién
Depésito
Tubo de entrada
Vélvula de seguridad
Conmutador de presion
Conector
Conector de salida
Tuerca Rp1/4
Mandémetro 50
Mango
Tuerca M5
Pata
Tornillo M5 x 14
Valvula reductora 1/4 pulgada

Cable de alimentacion

_______________________________________________________________________________________________________________________________________________|
Rev. 27.01.2022

44

Rev. 27.01.2022

45



MSUY

MOTOR TEGHNICS

MSUY

MOTOR TECHNICS

MONTAGEZEICHNUNGEN | ASSEMBLY DRAWINGS | RYSUNKI ZLOZENIOWE | VYKRES SESTAVENI
SCHEMAS DE MONTAGE | DISEGNI PER L'ASSEMBLAGGIO | VISTAS EN DESPIECE

MSW-0AC550-24L
MSW-0AC750-24L

o v A wWwN

~

27
28
29
30

31
32
33
34
35
36
37

DE | BESCHREIBUNG
Schraube M5 x 25
Unterlegscheibe @5

Zylinderkopf
Luftfilter
Dichtung

Lufteinlassklemme

Ventilelement

Ventilplattenbauteil

Klemme
Ring ¢ 68,7 x ¢1,9
Zylinder ®64
Kolbenanschluss
Kolbenring
Pleuelstange
Kurbelgehéduse
Lager 6203Z
Kurbel
Ventilator
Flexibler Ring @14
Abdeckung
Schraube ST3.3 x 8
Lager 6006Z
Statorbauteil
Rotor
Schraube M5 x 155
Schraube M6 x 16

Schraube M4 x 6
Schraube M4 x 8
Ring ¢ 13,8 x ¢1,9
Verbindungsrohr
Gebogenes Rohr
Kissen
M5 Mutter
Schraube M4 x 8
Kondensator
Kondensatorgehéduse

Kompressorrohr

EN | DESCRIPTION
Screw M5 x 25
Flat washer @5
Cylinder head

Air filter
Gasket

Air supply clamp

Valve component

Valve plate subas-
sembly

Clamp
Ring ¢ 68,7 x 92,5
Cylinder 64
Piston clip
Piston ring
Connecting rod
Crank case
Bearing 6203Z
Crank
Fan
Flexible ring @14
Cover
Screw ST3.3 x 8
Bearing 6006Z
Stator subassembly
Rotor
Screw M5 x 155
M6 x 16 screw

M4 x 6 screw
Screw M4 x 8
Ring ¢ 13,8 x 1,9
Connecting pipe
Elbow pipe
Cushion
M5 nut
Screw M4 x 8
Capacitor
Capacitor housing

Delivery pipe

PL|OPIS
Sruba M5 x 25
Podktadka ptaska @5
Gtowica cylindra
Filtr powietrza
Uszczelka

Zacisk doptywu powietrza

Element zaworu

Podzespot ptyty zaworu

Zacisk
Pierscien @ 68,7 x 92,5
Cylinder ®64
Zacisk ttoka
Pierscien ttoka
Korbowod
Skrzynia korbowa
tozysko 6203Z
Korba
Wentylator
Elastyczny pierécien @14
Pokrywa
Sruba ST3.3 x 8
tozysko 6006Z
Podzespot stojana
Wirnik
Sruba M5 x 155
Sruba M6 x 16

Sruba M4 x 6
Sruba M4 x 8
Pierscien ¢ 13,8 x ¢1,9
Rura taczaca
Rura zakrzywiona
Poduszka
Nakretka M5
Sruba M4 x 8
Kondensator
Obudowa kondensatora

Rura ttoczna

CZ | POPIS
Sroub M5 x 25
Ploché podlozka ¢5
Hlava valce
Vzduchovy filtr
Tésnéni

Svorka pro privod
vzduchu

Ventilovy prvek

Sada desky ventilu

Svorka
Krouzek ¢ 68,7 x 92,5
Valec 64
Trmen pistu
Pistni krouzek
Ojnice
Klikova skfin
LoZisko 6203Z
Klika
Vétrak
Pruzny krouzek @14
Viko
Sroub ST3.3 x 8
Lozisko 6006Z
Sestava stojanu
Pohanéc
Sroub M5 x 155
Sroub M6 x 16

Sroub M4 x 6
Sroub M4 x 8
Krouzek ¢ 13,8 x ©1,9
Pripojovaci potrubi
Zakfivené potrubi
Tlumici podlozka
Matice M5
Sroub M4 x 8
Kondenzator
Kondenzatorové pouzdro

Vypoustéci potrubi

46

Rev. 27.01.2022 Rev. 27.01.2022

47



MSUY

MOTOR TEGHNICS

MSUY

MOTOR TECHNICS

38
39
40
41
42
43

45
46
47
48
49
50
51
52
53
54

0 N o b~ W N

10
11
12
13
14
15
16
17
18
19
20

DE | BESCHREIBUNG
Versorgungsrohr
Riickschlagventil

Radachse
Rad
FuB
Ablassventil
Behalter
Netzkabel
Sicherheitsventil
Griff
Druckschalter
Anschluss
Regelventil
Auslassanschluss
Rp1 Mutter
Manometer 50

Manometer 40

EN | DESCRIPTION
Supply pipe
Check valve

Axle
Wheel
Foot
Drain valve
Tank
Power cord
Safety valve
Handle
Pressure switch
Connector
Regulator valve
Outlet connector
Rp1/4 nut
Pressure gauge 50

Pressure gauge 40

PL | OPIS
Rura doprowadzajaca
Zawor zwrotny
O$ kota
Koto
Noézka
Zawor spustowy
Zbiornik

Przewod zasilajacy

Zawor bezpieczenstwa

Uchwyt
Przetacznik cisnienia
Ztacze
Zawor regulatora
Ztacze wylotowe
Nakretka Rp1/ 4
Manometr 50

Manometr 40

FR | DESCRIPTION
Boulon M5 x 25
Rondelle plate @5
Culasse
Filtre a air
Joint
Pince d'entrée d'air
Elément de vanne

Sous ensemble de la plaque de la
vanne

Pince
Bague ¢ 68,7 x 2,5
Cylindre ®64
Serre-piston
Anneau de piston
Bielle
Carter moteur
Roulement 62037
Vilebrequin
Ventilateur
Anneau flexible @14

Couvercle

IT | DESCRIZIONE

Vite M5 x 25
Rondella piatta ¢5
Testa del cilindro

Filtro dell'aria

Guarnizione

Morsetto di ingresso dell'aria
Elemento della valvola

Sottoinsieme di piasta della
valvola

Morsetto
Anello ¢ 68,7 x 2,5
Cilindro ®64
Morsetto del pistone
Anello del pistone
Biella
Basamento
Cuscinetto 6203Z
Manovella
Ventilatore
Anello elastico @14

Coperchio

CZ | POPIS
Privodni potrubi
Zpétny ventil
Néprava kola
Kolo
Nozicka
Vypoustéci ventil
Nadrz
Napéjeci kabel
Pojistny ventil
Drzék
Tlakovy spinac
Konektor
Regulacni ventil
Vystupni konektor
Matice Rp1/ 4
Tlakomér 50
Tlakomér 40

ES | DESCRIPCION
Tornillo M5 x 25
Arandela plana @5
Cabezal del cilindro
Filtro de aire
Junta
Terminal de flujo de aire
Elemento de la valvula

Componente de la placa de la
valvula

Terminal
Anilla ¢ 68,7 x ¢2,5
Cilindro ®64
Terminal del piston
Anilla del piston
Biela
Caja del ciguefal
Cojinete 62037
Cigliefia
Ventilador
Anilla elastica @14
Tapa

21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43

45
46
47
48
49
50
51
52
53
54

FR | DESCRIPTION
Boulon ST3.3 x 8
Roulement 6006Z

Sous-ensemble de stator
Rotor
Boulon M5 x 155
Boulon M6 x 16
Boulon M4 x 6
Boulon M4 x 8
Bague ¢ 13,8 x ¢1,9
Tuyau de raccordement
Tuyau courbé
Coussin
Ecrou M5
Boulon M4 x 8
Condensateur
Boitier du condensateur
Tuyau sous pression
Tuyau d'entrée
Vanne anti-retour
Axe de roue
Roue
Pied
Vanne d'évacuation
Réservoir
Cordon d'alimentation
Vanne de sécurité
Poignée
Interrupteur de pression
Connecteur
Vanne du régulateur
Connecteur de sortie
Ecrou Rp1/ 4
Manomeétre 50

Manomeétre 40

IT | DESCRIZIONE
Vite ST3.3 x 8
Cuscinetto 6006Z
Sottoinsieme statore
Rotore
Vite M5 x 155
Vite M6 x 16
Vite M4 x 6
Vite M4 x 8
Anello ¢ 13,8 x ¢1,9
Tubo di collegamento
Tubo curvo
Cuscino
Dado M5
Vite M4 x 8
Condensatore
Alloggiamento del condensatore
Tubo di pressione
Tubo di alimentazione
Valvola di ritegno
Asse della ruota
Ruota
Piedino
Valvola di scarico
Serbatoio
Cavo di alimentazione
Valvola di sicurezza
Impugnatura
Pressostato
Connettore
Valvola del regolatore
Connettore di uscita
Dado Rp1/4
Manometro 50

Manometro 40

ES | DESCRIPCION
Tornillo ST3.3 x 8
Cojinete 6006Z
Componente del estator
Rotor
Tornillo M5 x 155
Tornillo M6 x 16
Tornillo M4 x 6
Tornillo M4 x 8
Anilla ¢ 13,8 x ©1,9
Tubo de conexion
Tubo curvado
Almohadilla
Tuerca M5
Tornillo M4 x 8
Condensador
Carcasa del condensador
Tubo de compresion
Tubo de entrada
Vélvula de retencién
Eje de la rueda
Rueda
Pata
Vélvula reductora
Deposito
Cable de alimentacion
Vélvula de seguridad
Mango
Conmutador de presion
Conector
Valvula del regulador
Conector de salida
Tuerca Rp1/4
Mandémetro 50

Manémetro 40

. _____________________________________________________________________________________________________________________________________________|
Rev. 27.01.2022

48

Rev. 27.01.2022

49



MSUY

MOTOR TEGHNICS

MSUY

MOTOR TECHNICS

WARNING STICKERS TRANSLATIONS

(1]

DE

PL

cz

FR

ES

2]
WARNING

To insure safety
please leave pressure
controls to factory
settings.

WARNING

Use longer air hose instead of extension cord.
Extension cord can cause reduction on power

and damage to motor.

Do not change
factory settings.

ON

PULL RED BUTTON

PULL RED BUTTON

OFF

ACHTUNG: Die Druckregler sind werkseitig
eingestellt, um einen moglichst sicheren Betrieb
des Gerates zu gewahrleisten.

ANDERN SIE NICHT DIE WERKSEINSTELLUNGEN.
ON (einschalten) ROTEN KNOPF ZIEHEN

ROTEN KNOPF ZIEHEN OFF (ausschalten)

UWAGA: Elementy sterujgce cisnieniem zostaty
wyregulowane fabrycznie aby zapewnic jak
najbezpieczniejsza prace z urzadzeniem.

NIE ZMIENIAC USTAWIEN FABRYCZNYCH

ON (wiacz) POCIAGNAC CZERWONY PRZYCISK
POCIAGNAC CZERWONY PRZYCISK OFF (wytacz)

POZNAMKA: Prvky pro regulaci tlaku byly
vyrobcem nastaveny, aby byla zajisténa maximalni
bezpecnosti pfi praci.

NEMENTE VYROBNi NASTAVENi

ON (zapnuto) ZATAHNETE ZA CERVENE TLACITKO
ZATAHNETE ZA CERVENE TLACITKO OFF (vypnuto)

ATTENTION: Les éléments de contrdle de pression
ont été réglés en usine pour assurer le travail le
plus sdr possible.

NE CHANGEZ PAS LES REGLAGES D'USINE

ON (allume) TIREZ SUR LE BOUTON ROUGE

TIREZ SUR LE BOUTON ROUGE OFF (éteint)

ATTENZIONE : | pressostati sono stati regolati in
fabbrica per garantire il funzionamento pit sicuro
possibile dell'apparecchio.

NON MODIFICARE LE IMPOSTAZIONI DI FABBRICA.
ON (accendere) TIRARE IL PULSANTE ROSSO
TIRARE IL PULSANTE ROSSO OFF (spegnere)

ATENCION: Los elementos para controlar la presion
vienen ajustados de fabrica para garantizar que
trabajar con el aparato sea lo mas seguro posible.
NO MODIFIQUE LOS AJUSTES DE FABRICA

ON (encender) TIRE DEL BOTON ROJO

TIRE DEL BOTON ROJO OFF (apagar)

(2]

ACHTUNG: Verwenden Sie anstelle
eines Verlangerungskabels

einen langeren Luftschlauch.
Verlangerungskabel kénnen die
Leistung reduzieren und den Motor
beschadigen.

UWAGA: Uzywac dtuzszego
weza pneumatycznego zamiast
przedtuzaczy elektrycznych.
Przedtuzacze elektryczne moga
spowodowac zmniejszenie mocy
i uszkodzi¢ silnik.

POZNAMKA: Misto elektrického
prodluzovaciho kabelu pouzijte
delsi pneumatickou hadici.
Elektrické prodluzovaci kabely
mohou snizit vykon a poskodit
motor.

ATTENTION: Utilisez un tuyau
pneumatique plus long au lieu
d'une rallonge.

Les rallonges électriques
peuvent réduire la puissance et
endommager le moteur.

NOTA: Utilizzare un tubo pneumatico
pit lungo al posto di una prolunga.

| cavi di prolunga possono ridurre la
potenza e danneggiare il motore.

ATENCION: Use una manguera
neumatica mas larga en lugar de
alargadores eléctricos,

ya que estos pueden reducir la
potencia y dafiar el motor.

WARNING
To avoid
corrosion,
please empty the

tank weekly

©

Achtung: Entfernen
Sie jede Woche
Feuchtigkeit aus
dem Behalter,

um Korrosion zu
vermeiden.

Uwaga: Pozbywac
sie wilgoci ze
zbiornika co
tydzien aby
zapobiec jego
korozji.

Poznamka:
Odstrante vlhkost
z nadrze kazdy
tyden, abyste
zabranili korozi.

Attention:
Eliminez toutes
les semaines
I'humidité du
réservoir pour
éviter la corrosion.

Nota: Eliminare
I'umidita dal
serbatoio una volta
alla settimana in
modo da evitare la
corrosione.

Atencion: Elimine
la humedad

del deposito
cada semana
para impedir su
corrosion.

NAMEPLATE TRANSLATIONS

1]
2]
3]
(4]
(5]
(6]
7]
(8]
9]
1)
1]
12]
13]

DE

EN

PL

cz

FR

ES

DE

EN

PL

cz

FR

ES

Product Name: Oil Free Compressor

Model:

Voltage / Frequency:
Power:

Tank Capacity:

Rotational Speed:
Efficiency:

Max Pressure:

Min Working Temperature:
Max Working Temperature:
Weight:

Production Year:

Serial Number:

(1) (2]

Produkt- Modell
name

Product Model
Name

Nazwa Model
produktu

Nazev Model
vyrobku

Nom du Modeéle
produit

Nome del Modello
prodotto

Nombre del  Modelo
producto

Minimale
Betriebstemperatur
Minimum working
temperature
Minimalna

temperatura pracy

Minimalni pracovni
teplota

Température de
fonctionnement
minimale

Temperatura minima di
funzionamento

Temperatura minima de

funcionamiento

expondo.com

ona Gora | Poland, EU

(3] 4]

Spannung/ Leistung Fassungsver-  Drehzahl Effizienz
Frequenz maogen des (ohne

Behalters Last)
Voltage/ Power Tank capacity ~ Rotational  Efficiency
Frequency speed
Napiecie/ Moc Pojemnos¢ Predkoé¢ Wydaj-
Czestotliwoé¢ zbiornika obrotowa  nosé¢
Napéti/ Jmenovity Objem nadrze  Rychlost Vytlacny
Frekvence vykon otacek vykon
Tension/ Puissance  Capacité du Vitesse de  Débit
Fréquence réservoir rotation d'air
Tensione/ Potenza Capacita Numero di  Efficienza
Frequenza del serbatoio  giri
Voltaje/ Potencia Capacidad del ~ Velocidad Eficiencia
Frecuencia depdsito de rotacion
Maximale Gewicht Produktions-  Ordnungsnummer
Betriebstemperatur jahr
Maximum working Weight Production Serial No.
temperature Year
Maksymalna Waga Rok Numer serii
temperatura pracy produkgji
Maximalni pracovni ~ Hmotnost ~ Rok vyroby Sériové cislo
teplota
Température Poids Année de Numéro de serie
maximale de production
fonctionnement
Temperatura Peso Anno di Numero di serie
massima di produzione
funzionamento
Temperatura méxima  Peso Afo de NUmero de serie
de funcionamiento produccion

e (6] (7]

(8]

Hochstdruck

Maximum
pressure

Maksymalne
ci$nienie

Maximalni
tlak

Pression
maximale

Pressione
massima
Presion
maxima

Importeur
Importer
Importer
Dovozce

Importateur
Importatore

Importador

50

Rev. 27.01.2022

Rev. 27.01.2022

51



MSUY

MOTOR TEGHNICS

MSUY

MOTOR TECHNICS

(€DE|EN|PL|FR|IT|ES|CZ eXRQD!’N!.

EG-Konformitatserkldrung | EU Declaration of conformity | Deklaracja zgodnosci WE |
Déclaration UE de conformité | Dichiarazione di conformita UE | Declaracién UE de
conformidad | Prohlaseni o shodé ES, 2019/27-09/245

Verantwortungstrager (Name, Adresse) | Responsible entity (name, address) | Podmiot odpowiedzialny (nazwa, adres) |
Entité responsable (nom, adresse) | Responsabile dell'entita (denominazione, sede) | Responsable de la entidad (nombre,
direccion) | Odpovédny subjekt (jméno, adresa): EXPONDO POLSKA SP.Z 0.0. SP. K., ul. Nowy Kisielin — Innowacyjna 7,
66-002 Zielona Géra, Poland, EU

Mit voller Verantwortung erkldre ich, dass | declare under his sole responsibility that the product | z petng
odpowiedzialnoscia deklaruje, ze | Je déclare et affirme que | sotto la mia esclusiva responsabilita, Dichiaro che | Bajo mi
total responsabilidad, declaro que | Na svoji vyluénou odpovédnost prohlasuji, Ze:

Name | name | nazwa | dénomination | nome | nombre | jméno: Olfreier Kompressor | Oil free compressor | Kompresor
bezolejowy | Compresseur sans huile | Compressore senza olio | Compresor sin aceite | Bezolejovy kompresor

Modell | model | model | modeéle | modello | modelo | model: MSW-0AC550-8L, MSW-0AC550-24L, MSW-0AC750-8L,
MSW-0AC750-24L

Seriennummer | serial numer | numer seryjny | numéro de série | numero di serie | nimero de serie | sériové &islo:
000000000000 — 999999999999

Der gemessene maximale Schallleistungspegel LWA betragt | Maximum measured sound power level for this equipment
LWA s | Zmierzony maksymalny poziom mocy akustycznej LWA wynosi | LWAreprésente la puissance acoustique maximale
mesurée | Non supera il picco massimo di potenza e pressione sonora consentito LWA | El nivel médximo medido de
potencia acustica LWA asciende a | Maximdlni namérena hladina akustického vykonu LWA ¢ini: 76 dB(A),

der garantierte Schallleistungspegel LWA betragt | guaranteed sound power level for this equipment LWA is |
gwarantowany poziom mocy akustycznej LWA wynosi | LWA représente la puissance acoustique garantie | rispetta il livello
di sicurezza di potenza e pressione sonora consentito LWA | el nivel de potencia acustica garantizado LWA asciende a |
garantovana hladina akustického vykonu LWA ¢ini: 78 dB(A),

die Grundanforderungen erfillt | meets the following essential requirements | spetnia zasadnicze wymagania | est
conforme aux exigences réglementaires suivantes| ed é conforme alle seguenti direttive | y cumple con los siguientes
requisitos basicos | splfiuje zékladni poZadavky:

« MD2006/42/EC,

« EMC2014/30/UE,

« NEE 2000/14/EC Anhang VI, annex VI, zatacznik VI, Annexe VI, allegato VI, Anexo VI, pfiloha VI & 2005/88/EC,

+ ROHS2011/65/UE,

« SPVD 2014/29/EU,

auBerdem erfillt dieses Produkt die Anforderungen der folgenden harmonisierten Normen | complies with the
requirements of the following harmonized standards | spetnia wymagania nastepujacych norm zharmonizowanych | ce
produit est conforme aux normes harmonisées suivantes | inoltre il prodotto soddisfa i requisiti previsti dalle seguenti
norme armonizzate | ademas, este producto cumple con los requisitos de las siguientes normas armonizadas | krométoho
spliiuje tento produkt poZadavky nasledujicich harmonizovanych norem:

« EN1012-1:2010,

+ EN 61000-6-1:2007,

+ EN 61000-6-3:2007+A1:2011.

Das Konformitatsbewertungsverfahren wurde unter Mitarbeit von der notifizierten Stelle durchgefuhrt (name, adresse,
identifikationsnummer, berichtsnummer der Untersuchung) | The notified body involved in this conformity assessment
procedure (name, address, identification number, number of attestation) | Procedury oceny zgodnosci zrealizowano przy
udziale jednostki notyfikowanej (nazwa, adres, numer identyfikacyjny, numer raportu z badania) |
La procédure d’évaluation de la conformité a été effectuée avec la collaboration de I'organisme notifié suivant (nom, adresse,
numéro d’identification, numéro de rapport de I'examen) | Il processo di verifica di conformita é stato svolto presso sede
prepostain possessodidebita autorizzazione (denominazione, sede, numero identificativo numero del protocollo di verifica)
| El procedimiento de evaluacién de la conformidad ha sido llevado a cabo en colaboracién con el organismo notificado
(nombre, direccién, nimero deidentificacion,nimero delinforme de investigacién) | Postup posuzovani shody byl proveden
za spoluprace oznameného subjektu (jméno, adresa, identifikaéni &islo, € islo zpravy o prohlidce):

e NEE 2000/14/EC Anhang VI, annex VI, zatacznik VI, Annexe VI, allegato VI, Anexo VI, pfiloha VI & 2005/88/EC,

TOV SUD Industrie Service GmbH
WestendstraBe 199 80686 Miinchen, Germany
0036

70.520.18.771.02 rev.02

« SPVD 2014/29/EU,

TUV SUD Industrie Service GmbH
WestendstraRBe 199 80686 Miinchen, Germany

0036
12202 19 06 9309 001

CEDE|EN|PL|FR|IT|ES|CZ eXI:G)UQu!:!.

Diese Erkldrung bezieht sich nur auf die Maschine im Zustand, in dem sie auf dem Markt eingefuihrt wurde und schliet
keine Komponenten, die vom Endverbraucher hinzugefugt wurden und keine vom Endverbraucher durchgefiihrten
Tatigkeiten/Umbauarbeiten, ein., Die technische Dokumentation befindet sich im Firmensitz von EXPONDO Polska sp. z
0.0. sp. k., und Uber ihre Verfugbarkeit entscheidet die dazu befugte Person Piotr R. Gajos. | This declaration relates
exclusively to the product in the state in which it was placed on the market. Any components added, handling effected or
modifications carried out subsequently are expressly excluded. The technical documentation can be obtained at the
premises of EXPONDO Polska sp. z 0.0. sp. k. and is available from the authorised person Piotr R. Gajos. | Deklaracja ta
odnosi sie wytacznie do maszyny w stanie, w jakim zostata wprowadzona do obrotu i nie obejmuje czesci sktadowych
dodanych przez uzytkownika koricowego lub przeprowadzonych przez niego podiniejszych dziatan. Dokumentacja
techniczna znajduje sie w siedzibie firmy EXPONDO Polska sp. z 0.0. sp. k., a osoba upowazniong do jej dysponowaniem
jest Piotr R. Gajos. | Cette délaration concerne exclusivement le produit dans I'éat dans lequel il a ééintroduit sur le
marchéet ne comprend aucun composant, déontage ou autre modification ajoutéou effectuépar I'utilisateur final. La
documentation technique se trouve au siee de I'entreprise EXPONDO Polska sp. z 0.0. sp. k. et peut ére mise adisposition
sous rélamation ala personne morale compéente Piotr R. Gajos. | La presente dichiarazione fa riferimento esclusivamente
allo stato del macchinario al momento dell'immissione sul mercato e non include componenti e/o modifiche apportati/e
allo stesso da parte del consumatore finale., La relativa documentazione tecnica si trova presso la sede legale dell’azienda
EXPONDO Polska sp. zo.0. sp. k., ed in merito ad un’eventuale divulgazione decide esclusivamente la persona avente piena
titolarita Piotr R. Gajos. | Esta declaracion se refiere unicamente al estado en que la maquina ha sido introducida en el
mercado con exclusién de los elementos afiadidos y las operaciones o modificaciones llevadas a cabo por el usuario final.,
La documentacidn técnica se encuentra en el domicilio social de EXPONDO Polska sp. z 0.0. sp. k., y sobre su disponibilidad
decide la persona autorizada para ello, Piotr R. Gajos. | Toto prohlaseni se vztahuje vyluéné na strojni zafizeni ve stavu, v
jakém bylo uvedeno na trh, a nevztahuje se na soucasti, které byly nasledné pridany kone¢nym uzivatelem, nebo nasledné
provedené zasahy koneéného uzivatele. Technickd dokumentace se nachazi v sidle spole¢nosti EXPONDO Polska sp. z 0.0.
sp. k., a o jeji dostupnosti rozhoduje k tomu povolana osoba Piotr R. Gajos.:

Piotr R. Gajos
. Ingenieur fiir die Richtlinieniiberpriifung der Produkte | Product
7-" Compliance Engineer | Inzynier ds. Oceny zgodnosci produktéw |
',/ Ingénieur responsable des analyses de conformité des produits |
Ingegnere della sicurezza dei prodotti| ingeniero para la evaluacién de la
directiva de productos |inzenyr oddéleni hodnoceni bezpeénosti vyrobkii

Gdynia, 27-09-2019

=

Name, Vorname, Stelle | Name, function, | Imie, Nazwisko, Funkcja | Nom,
Prénom, Position | Cognome, Nome, Titolo del responsabile, | Apellidos,
Nombre, Puesto | Prijmen, Jméno, misto

Ort, Datum | Place, Date | Miejsce, y . e
Data | Lieu, Date | Luogo, Data UnterschnftF( Signature | Podpis | Signature |

P Firma, | Podpi
[Lugar, Fecha | Misto, Datum irma | Firma, | Podpis

nDoC www.riskCE.pl rev.08-02-2018 nDoC www.riskCE.pl rev.08-02-2018

32 Rev. 27.01.2022 Rev. 27.01.2022 >3



MSUY MSUY

MOTOR TEGHNICS MOTOR TECHNICS

NOTES/NOTIZEN NOTES/NOTIZEN

55
54 Rev. 27.01.2022 Rev. 27.01.2022



M8\

MOTOR TECHNICS

Umwelt — und Entsorgungshinweise

Hersteller an Verbraucher
Sehr geehrte Damen und Herren,

gebrauchte Elektro — und Elektronikgerate diirfen gemaB europdischer Vorgaben [1] nicht zum unsortierten Siedlungsabfall
gegeben werden, sondern miissen getrennt erfasst werden. Das Symbol der Abfalltonne auf Riadern weist auf die Notwendigkeit
der getrennten Sammlung hin. Helfen auch Sie mit beim Umweltschutz. Sorgen Sie dafiir, dieses Gerat, wenn Sie es nicht mehr
weiter nutzen wollen, in die hierfiir vorgesehenen Systeme der Getrenntsammlung zu geben.

In Deutschland sind Sie gesetzlich [2] verpflichtet, ein Altgerdt einer vom unsortierten Siedlungsabfall getrennten Erfassung
zuzufiihren. Die 6ffentlich — rechtlichen Entsorgungstrager (Kommunen) haben hierzu Sammelstellen eingerichtet, an denen
Altgerate aus privaten Haushalten ihres Gebietes fiir Sie kostenfrei entgegengenommen werden. Méglicherweise holen die
rechtlichen Entsorgungstrager die Altgerate auch bei den privaten Haushalten ab.

Bitte informieren Sie sich iiber lhren lokalen Abfallkalender oder bei lhrer Stadt — oder Gemeindeverwaltung liber die in lhrem
Gebiet zur Verfiigung stehenden Méglichkeiten der Riickgabe oder Sammlung von Altgeraten.

[1] RICHTLINIE 2002/96/EG DES EUROPAISCHEN PARLAMENTS UND DES RATES
UBER ELEKTRO — UND ELEKTRONIK — ALTGERATE
[2] Gesetz iiber das Inverkehrbringen, die Riicknahme und die umweltvertrigliche Entsorgung

von Elektro — und Elektronikgeriten (Elektro — und Elektronikgeritegesetz — ElektroG).

Utylizacja produktu

Produkty elektryczne i elektroniczne po zakonczeniu okresu eksploatacji wymagaja segregacji i oddania ich do wyznaczonego
punktu odbioru. Nie wolno wyrzuca¢ produktéw elektrycznych razem z odpadami gospodarstwa domowego. Zgodnie
z dyrektywa WEEE 2012/19/UE obowiazujaca w Unii Europejskiej, urzadzenia elektryczne i elektroniczne wymagaja segregacji
i utylizacji w wyznaczonych miejscach. Dbajac o prawidtowa utylizacje, przyczyniasz si¢ do ochrony zasobéw naturalnych
i zmniejszasz negatywny wptyw oddziatywania na srodowisko, cztowieka i otoczenie. Zgodnie z krajowym prawodawstwem,
nieprawidtowe usuwanie odpadow elektrycznych i elektronicznych moze by¢ karane!

For the disposal of the device please consider and act according to the national and local rules and regulations.

CONTACT

expondo Polska sp.z o.0. sp. k.

ul. Nowy Kisielin — Innowacyjna 7
66-002 Zielona Géra | Poland, EU

e-mail: inffo@expondo.com

expondo.com




